EIS INSTRUCTION TEST EP DVKAB A DL A OCT 1976

MD-11-DVKAB-A * corvict 1076 FRAREN

FICHE 1 GF 1  Madeio USia




BOl

¢ 87,7380 24-RUG-TB  i35:29

Rrressy
R LI

TRBLE OF CCNTENTS

ACTIL HOOKS
APT MAILBOX-ETABLE

APT PARAE TER BLOCK
STARTING OF THE PROGRAM
RSH INSTRUCTION TESTS

DIV I TRUCTION TESTS

NTERUPT ABORT vEST
PASS ROUTINE

POMER FAIL ROLUTINE

HALT ROUTINE

RSC:Z TYPE OUT ROUTIME

»



CVKARBA MRCYIL 27732
CVKABR. SRC

4943

24-RUG-7B

15:29 PRGE S3

CO1

(€3]

[ R

6



Mm MCYII 2&(32)

DVKRBR. SRC

4a45
4949

LLLL L
v 4
~

PN Rl N N N $i§
=t Pt Pt Pt Pt Pt P Pt Pt P P ﬂ

el et Nt Nl Nl i Vsl S N et St Pl

£ 4L

000301

160000

24-RUG-76

DOl

15:29 PAGE S53-1

IST MO,MC.CND

L STARS

.&S
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.Eé& '3:09 .SACT11,.SAPTBLS, . SAPTHOR, . HEADER, . SETUF, 7 JSH, 0P
TIT

.TITLE DVKRBA
;#COPYRIGHT (C) RUGUST 1975

;#DIGITAL EQUIPMENT CORP.
iHﬂYNﬂRD MRSS. 01754

!PROGRRH 8Y PERVEZ ZAKI

iTHIS PROGRAM WQS ASSEMSLED USING THE POP-11 MAINDEC SYSMRC
}PRCPRGE (MRINDEC-11-DZGAC-B.,JULY 11,1975,

tTN-l
$SWR=160000 . tHALT ON ERROR, LOOP ON TES™, INWIBIT ERROR "YPILT

SE¢ 0CC3
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001l
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810000
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002020
017274
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; TRAP CATCHER 0 - 776

(RERERRFERREARRERERERABEERARRRARRERERERRRRRRRRRERRARRRRERRERRRRS

CHERERR RS R RN SRR RERRRRRACRERREFERARERERARRARRERRRERRRARRSRESE

.SBTTL

+HOOKS REQUIRED BY ARCT]!
SSVPC=.

DUMMY=
FE_RRNH:

N=

PC=

SP=
SCOPE=
SCOPEl=
SCOPE3=
SKCS=

SW10=
SWll=
SWle=
TYPE=

.=c0
STYPE

ACT11 HOOKS
S :SAVE PC
tEﬂSno .+ 1)SET LOC.46 TO ADDRESS OF SENDRD IN .SEOP

JWORD O ::2)SET LOC.S52 TO ZERO
- =§SVPC ' RESTORE PC

SEQ 0004
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ogedl2
DC0414
0:010 3

BaEs
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000426

000430

CO0440
OC0442

RCTL
000N00

000003
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000003
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1 HOOKS

FOI

R 12212222 222222 2222222222222 22228 22222223 2222228222 2222/

LSBTTL APT MAILBOX-ETABLE

.EVEN
$MRIL :
$MSGTY: . WORD
SgRTRk: .5020
i Eg ’ IH8R8
SDEVCT: .WORD
$UNIT: .WORD
$MSGRD: .WORD
$H§gbGE .WORD
R g
S;Ngﬁc .BY;E

W : .M
aR, CHORE
$CPUOP: .WORD
8
4
1
.

. ¥
< ¥
$ETEND:
JMEXIT

AMSGTY
RFATAL

RTESTN
APhRs
RDEVCT
RUNIT
RMSGRD
RMSGLG

RENV
RENVM
RSWREG
RUSA
RCPUOP

,,RPT MRILBOX
:MESSAGE TYPE CODE
..FRT?L ERROR NUMBER

S CBUHi
: ;DEVICE COUNT
.,I/O UNIT NUMBER
; MESSAGE RDDRESS
s sMESSAGE LENGTH

g

' ENVIRONMENT MODE BITS
S APT suxr;u REGISTER
..USE

!CPL TYPE,OPTIONS
BtTs 15-112CPU TYPE

11/04=01, 11/05-02 11/20-03 11/4C=04, 11/45=05

11/70-06 P0Q=07
REAL TIME CLOCK

BIT I0=
BIT 9=FLORTING POINT PROCESSOR
BIT B=MEMORY MANARGEMENT

JRRERRRERREERERE AR R R AR R R R R AR R R R R R R SRR RRERRRERERRRRRRARREE

.SBTTL

RPT PARAMETER BLOCK

+SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

CEEERREREEREE R R R R RS R REERERERES R R R BN R RS E

; s SAVE CURRENT LOCATION

,,SET POWER FAIL TO POINT TO START OF PROGRAM
;FOR APT START UP

SAPTHD::
SHIBTS:
SMBADR:
$TSTN:

SPASTM:
SUNITM:

L$X=,
=4

200

. =44

SAPTHOR ;
.=.8X

. WORD
.WORD
.WORD
.WORD
.NORB
.WOR
.=$APTHC

; ;POINT TO APT INDIRECT ADDRESS PNTR.

sPOINT TO APT HEADER BLOCK

:RESET LOCATION COUNTER
i*iii*{iiii}iiiii*iifiiiii{iii;**44{*fii**}iii{*iliiii**i*iiii*

:SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDPL1 DIAGNOSTIC
: INTERFACE SPEC.

0 .+ TWO HIGH BITS OF 18 Bl
SMAIL  ::RODRESS OF APT MAILBOX
3 :-RUN TIM OF LONGEST TES
;iRUN TIME IN SECS. OF I
ADDITIONAL RUN TIME (S
ssrsno-shth ‘2 :+:LENGTH MAILBOX-

mom wr

ng RODR.

-15)
RSS ON 1

UNIT (QUICK VERIFY)

———— — —

FA PRSS FOR ERCH RDDITIONARL UNIT

LE(WORDS:
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DVKARBA. SRC APT PARAMETER BLOCK
N39S 000430 COUNT:
499% 000432 . =COUNT+2
4997 000432 PSWORD:
43 00043 .=PSWORD+2
Y 0004 TEMPL :
5000 000436 =TEMP] 42
S001 000436 TEMP2:
5002 00040 .=TEMP242
§3T3  0004MO TEMP3:
534 00042 .=TEMP342
5006 00042 TEMPY:
£23% 044y .:Tsnma
EXZT 000w44 000900 TEMPS: .WORD
£338 0COw4e 000000 TEMPE: .WORD
§209 (030450 000 TYPCNT: .BYTE
€215 000451 000 §TPCNT: .BYTE
€311 000452 000007 50: v
£312 0004S§ 177771 51 -7
S013 000456 0004SY Se 51
§g{; 000%062 177772 sa -6
D 7777( -
501; %ﬁ% 6'40000 5 40000
8017 000466 DOOHEH 5&
§0i8 000470 Q40000 57 40000
§219 000472 177776 S8 -
€020 0O0OM7M 000002 g9
S021 000476 000N74 510 S9
€22 000S00 000002 S11 2
€003 000502 0000eM TTYOUT: B4
5024 000SON 177566 $TPB: 177566
6026 000506 177564 §TPS: 177564
% %cm : 0040 000040 SCR.F: LASCIZ «<i§Ha12y/ s
€16 00E4] 762C 042527 POMER: .RSCIZ «12:<1S5:/POMER/
000S24 000122
€328
5030
8031
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S394
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£17360
0ocu4ic

00C400
000352

G-"5_ 15:29 PAGE S3-5

ING OF HE PRCGRRAM

003CeH
es:

RESTRT:

.=6C0

BEGIN:

00,00 {8

000434 28:
000440

MOV
MOV
CLR
cMP
BNE
JMP

MOV

HO1

8SPWRON, M

ISDEVCT RO
(RO)

QSHQIL,RO

c$
BESIN

$STESTN, RS
a8COUNT’
8] (RS)
catcxn SP

106400' .C
81, JeSENV
28’

8$TPS+2,R0
1176564 -(RT)
0170566 -(R0)
874 -(RY)

sl SsTEMP]
JstEMPe

81 JTEMP3
astEMPY

:PREPARE TO SERVICE POWER DOWN RCUTINE
:PREPARE TO INITIALIZE THE STACK

;MAKE RS PCOINT TO THE LOCATION STESTN
:CLEAR THE COUNTER

;INITIALIZE TEST NUMBER

;%4 STACK AT BEGIN #+#

:PLACE 80 IN PSu

;RRE WE JUNDER APT 7
;IF NOT THEN GO TO 2%
‘OTHERWISE SET FOR OTHER SLu

; TEMPL
s TEMP2
s TEMP3
: TEMPY

mHnuwuwn
OO0+
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ASH INSTRUCTION TESTS

Bi5Hd
032737
B14%e!
Bocss
072067
106737
123737
001403
004767

000001

J00434
5000C!

000436

177504

OCo44e
Ciel36

000430
CO0440

0lells

000 3C

0CoC37

000436
17744
0000e0

Ca0764
0C1006

000434
030001

000436

00C406

300432

300436

15:29

STHRT:

2s:
4.

1 ¥

ES:
RESL:

PRGE 53-6

SEG 00C8

CRERERAERERERRRARRRRRERDRRARERRE
: ASH INSTRUCTION TESTS
CPERERRESRRRERRBRERERRRB PR SR RR

: EERERERRERES
: TESTS 1-36
' FHEERRRERERS
ISTEMP] . %0 :LOAD RO WITH THE CONTENTS OF TEMP!
8], 988PASS :1S IT AN EVEN PRSS °
2 :IF NOT THEN GO TO 28
JETEMP2.R] *0THERWISE EXECUTE THE INSTRUCTION
:IN MODE 0 USING Rl
5*,90
TEMP2. %0 -SHIFT RO BY THE NUMBER SPECIFIEC BY TEMPZ
38PSWORS :SAVE PS
106700'..C
a:IEan,aspsuono;xs THE PS = TEMPY °
DG SHLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
:THE PS 1S NCT'EQUAL 10 O
S8COUNT : INCREMENT THE COUNTER
a:;gnpa,zo :15 THE RESULT IN RO EGUAL TO TEMP3?
PC.SHLT T0 TH HALT ROUTINE

‘RS, &8COUNT

bS
RS}

‘RS, 837
8s

JSTEMP2
TEMP3
(RS), 820
REG]

NEGAT
PC,TST37
STEMPI . %1
81, 588PASS
2$

J8TEMP2,R2
Re,Rl1

EN AN ERROR, G0
THER INCORRECT RO OR INCORRECT SEGQUEMCE

- SE
Bl
: IS THE TEST NUMBER EQUAL TO THE
cOUNTER?

IF NOT GO TO THE HLT ARBOVE

.
.
’
.
L]

:HRS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
;BY 14. AND RIGHT BY 14.?

;SHIFT TEMPI LEFT.
;HAS THE CONTENTS OF REGISTERS BEEN SHTFTED LEFT BY I4.°

;IF SO GO TO NEGRT AND INITIRTE RIGHT SHIFT
; IF SO GO AND CONTINUE THE REST OF THE PROGRAM

:LORD Rl WITH THE CONTENTS OF TEMPI
;IS IT AN EVEN PRSS °

-éF NOT THEN GO TQ 2§
U

E?EEN ?E EXECUTE ASH INSTRUCTION IN MCOE Q
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DVKABR . SRC RSH INSTRUCTION TESTS
5435 001066 000402 BR 4$
2333 1070 072167 177392 ai: ﬁ?” TEMF® xé ;gu:rr Rl BY THE NUMBER SPECIFIED BY TEMP2
zg;: T 530 8P uea ! EAVE PS
M4 001i00 93 0OONMZ 200432 (N5 SATEMPU JPSHORD; IS THE PS = TEMPY 7
445 881182 681483 gea .+15 '
Swsb 001110 00M767 015779 ISR PC,SHLT ;?E N AN ERROR, 83al° TH HALT ROUTINE
: ‘THE PS 1S NOT'E 0 O
c ggxxxu cooog; 3
Sw<~ OCI11e 206237 00ON30 INC S3COUNT : INCREMENT THE COUNTER
S48 JC.i22 0237G1 000440 CHP JSTEMP3, %1 1S THE RESULT IN Rl EQUAL TO TEMP3”
E-;g §§;;§3 0C1403 s BEQ .+10
T OC1130 DO4”e? 0157%4 ISR PC,SHLT .SEEN GN ERROR, GO TO TH HALT ROUTINE
2 ;EITHER INCORRECT R1 OR INCORRECT SEQUENCE
g4k ] 881132 gg?gg; 000430 - RS),38C0UN THE TEST ER 70 THE CGUNTER®
- ; w t ’ .C v : v
g-sg 881142 85§37 BNE &S ;f§ ngﬁ 65 10 ¥:? Hagiggﬁvs
ol £ 1iv4 i JNC ‘RS
E+54 00114 01IC° SCOPE3
Ses§ 001150 Cei527 000037 CHP (RS, 837 :WHAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEF”
EuSg :8Y 14. ANG RIGHT Bv 14.7
€4T= pCliSY 00201l BGE 8s
S-E¢ 0C.:56 005237 000436 TNC I8TEMP2
€«33 00 :he 06367 i-0252 AS. TEMP3 :SHIFT TEMP3 LEFT
E4gd 00i66 021527 000020 z (RS, 820 'HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 4.7
S4€. J01:72 DGLd0M SNE REG2
s:gg 38117“ 8831&7 00622 ™ NEGAT <IF 30 GO TO NEGAT RN INITIATE RIGHT ShIFT
Eug 2200 767 D006+ 8s: sk PC 15737 'IF S GO AND CONTINLE Tr REST OF THE PROGRAM
5333 e 0f5701 04 Rese: §%8PEI JTEMPL 5RD R2 WITH THE CONTENTS OF TEMP
E46b gE;S?S 83233; 88008? 000406 i* 81, J88PAS ;&s IT AN EVEN PASS 7
Eg RieeD 20 000436 535 22' MP2 ,R3 ‘55H233 THEEx%?u?? ng INSTRUCTION IN MODE O
¥ 4 / ’ VY
20 Feissf RBiH VI L% e TR RE
€470 0C1230 002402 BR 4§
S47! 881232 072267 177200 2$: ASH TEMP? zg .SHIFT R2 BY THE NUMBER SPECIFIED BY TEMP2
E478 1236 48 MFFES  JePSWiR :SAVE PS
., Ci2% 106737 JWORD 106700, .0
€479 OC1242 123737 00C+42 000432 CMPB  SSTEMPY, 38PSWORD: IS THE PS = TEMPY ?
S48C 0C125C DC1403 BEG .+10
E+E. 001262 004767 015632 ISR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
S :THE PS IS NOT EQUAL 10 O
2. 001256 00000S 5
c482 21260 005237 000430 INC 38COUNT
€83 ICiZ264 023702 000440 ¢ JaTEMP3, %2 :1S THE RESULT IN R2 EQUAL TO TEMP3"
€-84 001270 001403 BEG .+10
Swgc OC.272 i 6S:
z. OC1e72 004767 C1S6lZ JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
2. ;EITHER INCORRECT R2 OR INCORRECT SEQUENCE
Z. 001276 OCSO06 b
S8t D0.300 02137 00043C CHP ‘RS, 38C0UNT ;IS THE TEST NUMBER EQUAL TO THE COUNTER?
€487 0OCI30% 01372 BNE 6$ :IF NOT GO TO THE HLT RBOVE
£48 OCi30e 00EZ.S INC (RS )
E.2¢ 51370 01757C: SCOPEL
€49 JC.3.2 0e.527 000037 z (RS, 837 :HAS THE CONTENTS OF RESISTERS BEEN SHIFTED
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DUt T3 24-AUG-TH  16:29 PAGE 53-8 SEQ 0010

U

N
SR: ASH INSTRUCTION TESTS
i :LEFT BY 14, ANG RIGHT BY 14.”
20,316 o} BGE gs
21383 ocsaa§ 30042 ANC gs;ggpa N -
38:353 83?337 500&%3 c RS, 820 § HE CON Sn#g OF REGISTERS BEEN SHIFTED LEFT BY 4.7
1339 0C.L0M sgs RES
gg:gas 385' 7 838383 ] NEGAT IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
£ids 57 8s: ISR PC,TST37 1F S0 GO AND CONTINUE THE REST OF THE PRCGRAM
JCi3% CI070) REG3: SCOPEL
31355 C13°03 00043 MOV J8TEMP] %3 :LOAD R3 WITH THE CONTENTS OF TEMPI
OCi3S% 232737 000001 000%0e BIT 81, on8PASS IS IT AN evsn PASS ?
8;: g Sc'ggz BNE 28 :IF NOT THEN -
£i3%< 013 000436 MOV S8TEMP2, RY L OTHERWISE sxs:urz ASH INSTRUCTION IN MODE O
1370 37230 ASH RY,R3 : JSING R3
gg:gra 8@04 BR ! i
13N 0F23%7 17°0% 28: ASH TEMP2 %3 :SH7"T R3 BY THE NUMBER SPECIFIED BY TEMPZ
0C 1400 48: MFPS aapsutno : SAVE PS
CI1400 106737 . WORD sog
gum &ST"'V 000442 00432 (M8 ww aapcm .15 THE PS = TEMPS 7
1412 BCid3 BEQ
OCI4i4 004767 QL5470 ISR PC SHLT :SEEN AN ERROR, GC TO TH HALT ROLTINE
:74E PS IS NCT'EQUAL 10 O.
001420 000007 ?
001422 005237 0D0OM30 INC JBCOUN
Civ2e 023703 000440 Sup us*EF°3 %3 .15 THE RESULT IN R3 EQUAL TO TEMP3?
DC143e OC14 BEG .+10
OCIeM ES:
OCIN3N 004767 (015450 ISR PC.SHLT :SEEN AN ERROR, GO TO TH HALT POUTINE
'EITHER INCORRECT R3 OR INCORRECT SEGUENCE
001440 000010 10
OCiw42 321537 DOO430 CHP (RS, ,s8COUNT  :15 THE TEST NUMBER EQUAL TO THE COUNTER?
%1% %575 BNE 6$ !1E NCT GO T2 THE MLT RBOVE
1450 1 INC (P
0ci#82 010701 SCOPE]
0C.454 0ci1527 000037 ¢ (RS, 837 MRS THE CONTENTS OF REGIST ERS BEEN SHIFTED
: EFT BY 14, AND RIGHT BY I
001460 0C2013 BGE e
001468 006237 000436 INC JATEMP2
DOI46€ D0B367 176746 AsL TEMP3 :SHIFT TEMP3 LEFT?
90147z Nei527 0aodces CHP \RS) . 820 'HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEF™ BY 14.7
001476 0G1093 BNE RES4
0CIS00 (QOCSE BR NEGA™ :1F SO GO TO NEGRT AND INITIATE RIGHT SHIFT
AC1E32 004757 00C342 es: ISR PC,TST37 :IF S0 GO AND CONTINUE THE REST OF THE PROGRAM
0CiS06 010703 PEGY:  SCOPE3
001210 013704 000434 MOV acrsnp1 74 :LORD R4 WITH THE CONTENTS OF TEMPIL
00i&14 0iDsd) MOV RS, R :SAVE RS
NIE!E 737 DOOOCI COCH0B 17 sl asspass 15 IT AN EVEN PASS ?
nC:E4  00I0DM NE 28’ *1F NOT THEN GO TO 2%
OCiSoe 013705 000436 MY J8TEMP2, RS ' OTHERWISE EXECUTE ASH INSTRUCTION IN MODE O
02.832 272405 ASH RS, RY :USING R4
381534 890”95 BR 4§’ i
18% 072467 17667 2s: ASH TEMP2, %4 :SHIFT R4 -7 THE NUMBER SPECIFIED BY TEMP2
Xisde i MRS 28PSUORD :SAVE PS
8§:§4€ 183733 0Co442 000432 :MPB ﬁc?znpw,aspsuono;xs PS = TEMPY °
ACi€ee 301403 BEG .+10
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RSH INSTRUCTION TESTS

CVRRBR . SRC
ssga 001556
fa; 001562
eee; Biedy
€gss 001574
5556 001576
‘5: 00i576
£ Flee
g2y
g2l Dolels
£56] 881&;5
8562 0C1620
4 00l
53 gy
sssg ooisaa
eets BOlbe
6569 0G1644
5570 001646
5571 001e5e
€572 DO165M
€73 DO1656
EE74 0OC1662
6E75 001670
6576 0C1672
8577 001678
5578 001700
€579 001702
5283 0G1706
1) ooi;os
gz 881758
5Ses 001722
(2
= 17
scfn 317
6Ea] 0017
€92 00174]
€33 0GI74
.2{ 00174
:E; 001746
5594 001750
5z &
Ec3? 001;28
€535 001762
5E99 001764
&N 101770
Eele 0201772

004767
000011

ke

s L

008767
0o0Cle
010108
021637

l37é
l fél
021527

B

00636

1865

000466
7

88

SESesReeon
NusReag
RERIR IS

g
g

8o
—)
£
w

S
o
~

00001v

DHD\I%
N Ununn

24=-RUG=-76

015328

BBt

015306
000433

000037

000438
176602
000620

030176
000434
0C000!
000436
17653C

00044e
015162

000430
00044C

0iSli4e

000430

000037

000436

00C408

000432

BS:

gs:
REGS:

cs:
4s:

3 ¥

15:29 PAGE S3-9

JSR
;

i
BEQ

JSR

le
MOV
cHP

SNE
NC
COPEL

CMP

?GE
NC
RSL
gHP
NE
BR
JSR
SCOPEL
MOV
MOV
BIT
BNE
MOV

RSH
BR

LO1

PC,SHLT

SatEHRS,
.+10

PC,SHLT
R1,RS

(RS)" 38COUNT
6$

(RS)

(RS), 837

8s

J8TEMP2
TEMP3

(RS), 820
REGS

NEGAT
PC,TST37

RS, R1
asteMPl u5
Cé,asSFhSS

2
J8TEMP2,RO
Rg,RS

4
TEMP2, %S
S#PSWORD

SEQ 001l

;SEEN AN ERROR, GO TO TH MALT ROLUTINME
; THE PS IS NCOT EQUAL TO O [

;1S THE RESULT IN RY EQUAL TO TEMP3?

TR 1REoRRec TRl CoR TNEbARE LY TAEE JEnce

; RESTORE RS
;IS THE TEST NUMBER EQUAL TO THE COLNTER?
; IF NOT GO TO THE WLT ABOVE

;HAS THE TONTENTS OF REGISTERS BEEN
;SHIFTED LEFT BY I4. AND RIGHT BY 14.?

;SHIFT TEMP3 LEFT
:HPS THE CONTENTS OF REGISTER BEEN SHIFTED BY 14.°

; IF S0 GO TO NEGRT ANC INITIRTE RIGHT SHIFT
; IF SO GO AND CONTINUE THE REST OF THE PROGRAM

:SAVE RS

,LOAD RS WITH THE CONTENTS OF TEMPI

:IS IT AN EVEN PRSS 7

:IF NOT THEN GO TO 2%

sOTHERWISE EXECUTE ASH INSTRUCTION IN MODE O
:USING RS

:SHIFT RS BY THE NUMBER SPECIFIED BY TEMPZ ;
; SAVE PS

50?709!..C
.:16“ 4,d8PSWORD; IS PS = TEMPY ?

PC,SHLT

J8COUNT
J8TEMP3, 75
.+10

PC,SHLT

(R1), J8COUNT

B! RS
(RS)

(RS), 437

g%
osTEMP2

.
.
s

:SEEN AN ERROR, GO TO TH HMALT ROUTINE

:THE PS IS NOT EQUAL TO O.

;IS THE RESULT IN RS EQUAL TO TEMP3”

EN AN ERROR, GO TO TH HALT ROUTINE
THER INCORRECT RS OR INCORRECT SEQUENCE |

SE
El
IS THE TEST NUMBER EQUAL YO THE COUNTER?
IF NOT GO TO THE HLT RBOVE I
RESTO™ - RS

;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
sLEFT BY I4. RAND RIGHT BY 14.°
: IF SO GO AND CONTINUE THE REST QOF THE PROGRRM
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< Vb A5G EEC\II 2r.732) _24-RUG-7B  15:29 PRARGE 53-10 SEQ 0012

S ohEBH. ASH INSTRUCTISN TESTS
£°3 = 7 176Y AS TEMP3 :SHIFT TEMP3 LEFT
§s5~ 8Sé053 83?337 503033 CcH (55) 820 ;Hﬂg THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY IM4.? |
§625 002706 00i40S BEQ NEGART :IF SO GO 10 MEGAT AND INITIATE RIGHT SHIFT
S606 0C27i0 000402 BR 108
2T 002912 004767 000032 Bs: Jgo PC, TST37
S6J8 002016 000167 176656 105: ImpP START :GO BACK TO START
€cJ9 002022 012737 040000 000434 NEGAT: MOV 840000, 38TEMPL  ; TEMP1=40000
Se:0 002030 012737 17776 000436 MOV 8177762, J8TEMP2 : TEMP2=177762
S6'] 002036 012737 000001 000440 MOV 81, S8TEMP3 : TEMP3=1
€b:2 0CeCY4 000167 176630 JMP START
Se.3 0C2050 021527 000037 TST37: CMP (RS), 837 :1S IT TEST 377
Sc.4 002054 001013 BNE 15744 :IF NOT THEN TRY TEST 40
SE£:15 002056 005037 000434 CLR JaTEMP] ‘0
Seip 0C2062 012737 007020 000436 MOV 816.,98TEMP2  :SHIFTED BY 16
S&17 002070 00SC37 000440 CLR JaTEMP3 :15=0
SE18 0C2074 012737 000004 000w42 MOV 84, JSTEMPY 'AND PS=4
S6!9 002102 (000297 RTS PC
5520 002104 021527 000040 TSTY0: CMP (RS}, #40 .15 IT TEST 4Q?
Se2l 002110 001003 ENE 1574] :1F NOT THEN TRY TEST 41
ce2?2 002112 005037 000436 CLR JSTEMP2 :0 SHIFTED BY 0=0 AND PS=Y4
See3 002116 000207 R7S PC
002120 021527 0000Y! TST4l: CMP (RS) , 841 1S IT TEST 417
8626 002124 001004 BNE TSTyY2 :IF NOT THEN TRY TEST 42
Se26 002126 012727 177760 000436 MOV 8-16. ,d8TEMP2 0 SHIFTED BY -16.=0 AND PS=4
ce27 002134 000207 ) RTS PC
€628 002136 021527 00004E TSTY2: CMP (RS), 842 .15 IT TEST 427
€629 002i42 001013 BNE TST43 :IF NOT THEN TRY TEST 43
€e30 002144 012737 100000 000434 MOV £100000, 38TEMPL : 100000
Ee3! 002152 00S237 000476 INC JSTEMP2 :SHIFTED BY -15
5632 002156 005337 0CO440 DEC JSTEMP3 : 16=-
633 002162 0:2737 0000.0 000442 MOV £10, I8 TEMPY :AND PS=10 ,
5634 00217C 0002C? RTS PC .
S63S 00217¢ 021527 000C+3 TST43: (MP (RS), 843 +1S IT TEST 437 I
5636 002176 001012 N BNE TSTY4 :IF NOT THEN IF NOT THEN TRY TEST 44
€637 002200 012737 125752 000434 MOV #125252, I$TEMP] ;125252 I
ce38 (12206 012737 177777 0CO436 MOV §-1, SRTEMP2 :SHIFTED BY -] .
6629 0C3214 012737 152525 GOO440 MOV $155525, J$TEMP3 + 15=152525 AND PS=10
Ee40 002222 000207 RTS PC
Ce4l 002224 021527 000044 TST44: CMP (RS) , 844 1S IT TEST 4y4?
Se42 002230 001012 BNE TST4S :IF NOT THEN TRY TEST 45
6e43 002232 012737 000001 000435 MOV 81, Q8TEMP2 : 125252 SHIFTED BY 1
Ce44 002240 012737 052524 000440 MOV 852524, I8 TEMP3  ; 15=52524
Se45 (02246 012737 000003 000442 MOV 83, JATEMPY :AND PS=3
3646 00c2s4 000207 RTS PC
€e4? 1J2256 021527 D0OO4S TST4S: CMP (RS) , #45 15 IT TEST 45?
Se48 002262 001912 BNE TST46 :IF NOT THEN TRY TEST 46
SeuQ 0022eM 012737 !'7777& 000436 MOV 8-2, J4TEMPR : 125252 SHIFTED BY -2
BESO 002372 01e737 165252 020440 MOV 8165252, a8 TEMP3 ; IS=185252
S6E; (92300 012737 000011 000442 MOV 811, d8TEMPY :AND PS=11] ,
SeS2 002306 000207 RTS PC
€683 002310 021527 000046 TST46: CMP (RS), #46 1S 1T TEST 467 )
SeE4 002314 00101M BNE TSTY? +IF NOT THEN TRY TEST N7
€e55 002316 012737 177777 000434 MOV -1, J8TEMP] P-1
EESE OCes29% 012737 000020 000436 MOV $16. ,d8TEMP2  :SHIFTED BY 15.
€eS€7 0Cz332 005037 000440 CLR JsTEMP3 :15=0

CeSB 0023386 012737 0000G7 000442 MoV 87, J8TEMPY EQNB pPS=7
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5659

86}

002344
353
38532

60
002366
002374
002376
002402
002404
0CeMle
C0e4el
002422

0C242%
0C2430

002434

002436
002440
00c444
002450

S4-AJG-7E_ 15:29 PRGE 53-11

RSH INSTRUCTION TESTS

000207
15827
1011

012337

012737
0207
1527

001007

012737

012737

0002C?

021527

091403

0047867

000015
005726

012702
0127G3

000047

")
188088 ooosg
000011 000442
00Cas0

137777 COCH34
000C13 002442

0000s1
014454

177771
0004S4
000456

TSTY?7:

TSTSC:

ENTSIL:

RTS
¢MP
BNE
DEC
MOV
MOV
RTS
cMP
BNE
MOV
MOV
RTS
cMP
BEG
JSR

1S

TST
MOV
MOV
MOV

NO1

PC
(RS), 847
15754

aorsnpg
100007 I8 TEMP3
;xx.aoTtnpq

¢
(RS), #50
ENTs!
8137777, IsTEMPL
813, JaTEMPY
PC
(RS), 851
.+10
PC,SHLT

(SPY+

8-7,%Y4
85],%2
852,73

;Ié IT TEST 47°?

' IF NOT THEN TRY TEST 50

"é SHéFT 0 BY 15

: 15=1000

:AND PS=11

+1S IT TEST S0

:IF NOT THEN TRY TEST 51

: 137777 SHIFTED BY 1S. 15=100000
;AND PS=13

+15 IT ENTERING TEST 517

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: TEST NUMBER GOOFED

+RESTORE STACK POINTER

——

St¢ 0013
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CVRRBA MRCYIL 27 T3 -Q! -,'?_ ;fg:aq PRGE 53-12 SEQ 0014
DVRRABA. SRC RSH INSTRUCTION T&S

5679 3 03 R R R R RN AR AR SRR NRERRRERF RIS RERRARABAA RN
1) :TEST:S1 LSI-11 RSH 125252 SHIFTED SY #5 2 52600 PS = 3

{1) R I2i221122 2222223222232 222222282222 2222 2222222222222 EL A
(1)

(1) 0g24s4 010701 TSTSi: SCOPE!

1) 00486 0le™01 126252 MOV 8125252, %1 :LORD Rl WITH 125252

(1) 0024ee Grele? 00000S ASH 85, %1 ;gum Rl BY S

2 002466 MFPS  J8PSLORD :SAVE 5

.20 QC3bE 108737 WORD  106700'..¢C

J1r o BS34T2 122737 000003  0OOM32 P8 83, 38PSKORD 15 THE PS 7

1. 0C2500 00IvI3 BEJ .+10

3. 032802 OCHTH? 014402 JSR PC.SHLT :SEEN GN ERRLR, GO TO_TH HALT ROUTINE
3 :THE PS IS NCTEQUAL TO 3

.3) 002506 000016 16

..° 0GeS10 C232701 0s2500 CoP 852200, %! . 1S THE RESULT 52500°

‘1) DCSS14 001403 BEQ .+10

.2, 002516 18: ]

3) 032516 00NTB? 04366 iSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTIMNE
e} :RI IS NOT EQUAL TO 52500 OR INCCRRECT™ SEQUENCE
.3} 002522 000017 17

(1) DCeSM 021527 0000S: CHP 'RS), 851 .15 STESTN = 851

(1) 002630 0137 ff-‘.‘i 1§ IF NOT tHEN GO 70 HLT ABOVE

(15 09832 06521 NC (RS) ,
(ol
S &'j ;!!!!ll!llillllillll'lll!llllllllllli!!lllililll!lllllﬂllll'llllilnlii
1) :TEST:52 LSI-11 ASH 125252 SHIFTED BY @S2 = 17752 PS = 10
1 ; SRR AR RAEFERER L PR RE SR ES RS R AR R R AR RS RRR AR RS ES
1)

(1} 0025™ 010701 TST52: SCOPEI

(1) 002536 012700 125282 MOV 8125252, %0 :LOAD RO WITH 125252

1) D02S4e 072377 175710 ASH 352 “0 :SHIFT RO BY aS@

‘2)  DO25M4e MFP S8PSWORD :SAVE PS

(2) 00254 106737 uogo 106700! . .¢

(1) 002552 122737 000013 000432 CMPE  8!0,98PSWORD ;IS THE PS 10? ,
(1) 002SH0 OCI403 BEQ . +10

2) D0X%ke O00M7B7 014322 ISR PC,SHLY :SEEN_AN ERROR, GO TO_TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL 70 10

(3, 0C2Sk6 000020 20

(1) 00267C 022-00 177525 CHP 8177525, %0 :15 THE RESWLT 17752S”

(1) 032674 0351403 BEQ .+10

(2) 002576 18:

(3) 002576 00M767 014306 ISR PC,SHLT :SEEN AN ERRGR, GO TO TH HALT ROUTINE
(3} R0 IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 002602 000021 21

(1) 002604 021527 006052 CHP (KS), 852 .15 STESTN = 852

(1) 002%10 00! BNE 18 :IF NOT YHEN GO TO HLT ABOVE

m 002612 00521 INC ‘RS,

(1)

(13
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DVKABR MACYL! 27(732) 24-AUG-76 15:29 PAGE 53-13 SEG CC.S
DVKABR. SRC RSH INSTRUCTION TESTS
5681 CRERERERRR AR AR AR RRE RS RRRAER RN BERHR AR AR RRDERRER SR FRRR RN RNRERRRRRES
(1) :TEST:S3  LSI-11 ASM 126262 SHIFTED BY 985! = 177525 PS = 10
(1) ;lll!!!ill!l!ill!llllllllll’iiilllilllllll!llll!!ll!'llll!lllllllllil
(1)
(1) D261 010701 TSTS3: SCOPEL
u; 002616 (12700 1esa§3 MOV 8125252, %0 ;L%;Tngo “53,“;}.5??‘32
N ) 4 '
) QEsesg 07e0¥ OO Whs  SaeducRo i 2ATE P8
(2) 002626 106737 _WORD  106700!..C
1) 0Coe32 122737 000010 GOON32 CMPB  810,98PSWORD ;IS THE PS 107
(1) 002640 00103 BEQ +13
.3) 002642 004767 014242 ISR PC,SHLT <SEEN AN ERPOR, GO TO TH HALT ROLTINE
‘3} s :THE PS IS NOT EQUAL TO 10
B3 %‘633 8%5 177525 CP 8177525, %0 .15 THE RESULT 1775257
(1) DCo654 001403 BEQ .+10
(2) D0oBSk 18:
(3) 002656 O00N7e? 014226 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTIME
&) RO IS NOT EQUAL TO 177525 OR INCORRECT SEGUEMNCE
(3) 002B62 000023 23
1) 0CSbeM 21507 0000S3 Cp (RS), #53 -15 STESTN = 853
1) 002670 OC1372 BNE 1$ :IF NOT YHEN GO TO MLT RBOVE
%g 002672 005215 INC (RS)
L
4

JRRRRRERRRREARRRRRERRRRRARRRRERERRRRARRRRREERRDRRRR AR AR RRRRHRER SR B
;TEST:S4  L(SI-ll ASH 125252 SHIFTED BY (2) = 177828 PS = IC

P
R

va) ;!llli!lilil!il!!lill!ll{lllilli!!!llllllilllll&l!iilllllllllll*lllll
(1)

(1, 002674 010701 TSTS4: SCOPE!

(1) D0B26?6 01270C 128252 MOV 8125252, %0 :LORD RO WITH 126252

(1) 002702 g72012 RSH (2).%0 :SHIFT RO BY (2)

(2)  0027MM MPS  38PSWORD :SAVE PS

2) 0070M 106737 JWORD  106700'..¢

‘1) 002710 122737 000010 000432 CMP8  810,a8PSKORD ;IS THE PS 107

(1) 00e716 001403 BEQ .+10

(3) 032720 0ON767 014164 JSR PC,SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
.3, :THE PS IS NOT'EQUAL TO 10

(3) 02272 00OCM 24

(1) 002726 C22760 177525 CHP 8177525, %0 .15 THE RESULT 177525°

(1) 002732 00I4C3 BEQ .+10

() D097 18:

(3) 0027 0OM767 OIM4IE0 ISR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :RO 1S NOT EQUAL T0 177525 OR INCORRECT SEQUENCE
(3} 002740 2 25

(1) 002742 021587 0000S- CHP (RS), 854 .15 STESTN = #54

(1) 0Je74e 001372 BNE 1$ :IF NOT YHEN 30 TO HLT RBOVE

fii 002750 005215 INC (RS)

(1

(1
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| CVKRBA MACY1L 27(732) 24-AUG-TH  15:29 PAGE 53-1Y SEQ 0016 |
* DVKABA. SRC ASH INSTRUCTION TESTS

5583 JRER AR RREEARERRRR AR R R AR ARRRRARRERRRARRERERARRERAARRBHRA R4 HRR2ES

(N :TEST:SS LSI-11 ASM 126262 SHIFTED BY (2)+ = 177526 PS = 10

( { ; I!l!liill!lllllll'llllIlillll'lilllllllllil!illllfll!ll!!lllli!!lil!!

(

(1) 0027S2 010701 TSTSS: SCOPEL

u; 002754 8:1' egaog 125282 MOV ?éﬁesa %0 La?grngougn( §§esa

3 Dsres s oﬂo VEBE

2} 00ETBe 106737 . WORD ms?no'

1) 0027e6 122737 000010 000432 ¢eB 810 wsuoao .15 THE PS 107

1) 082774 001y BEQ . +10

(3} 002776 008767 014106 JSR PC,SHLT :SEEN AN ERROR, GO TO TH mu ROUTINE

.3) :THE PS 1S NOT EQUAL TO !
.3) 003002 00002¢ 26

(1) 0C300N 022700 177525 CHP 8177825, %0 1S THE RESULT 1775257

1) DC3010 001403 BEQ .+10

(2) 203012 18:

¢3) 003012 O0ONTB? 014072 JSR PC,SHLT :SEEN AN ; GO TO TH HALT Roum;fg

(3) ‘R3 IS NO EauAL T0 1775°5 OR INCORRECT SEIUENCE

(3) 0N3016 000027 27

;1) 003020 021527 0000ss CHP (PS), 855 IS STESTN = 855

(1) 002024 0C1372 BNE 1§ :IF NOT YHEN GO TO HLT RBOVE ,
?H 003026 005215 INC (R™) ,
|
5&8‘4 (EERE R R AR R A AR RERRPRR R R EE RN RN R RS ER A4 RAFRERRIRER IR RERARERE

‘1) :TEST:S6 LSI-11 ASH 125252 SHIFTED BY -(2) = 177526 PS = 10

{1) ll!lii*iiiliiiliil!!!liilii!liliilillli!llll*llli{i!lll{ii{ill{il!ii

(1)

(1, 003030 010701 TSTS6: SCOPEI

(1) 003032 012700 125252 MOV $125252, %0 :LORD RO WITH 125252

(1) 00303 072042 ASH -(27,%3 :SHIFT RO BY -(2)

(2) 003040 MFPS  J8PSHORD :SAVE PS

(2) 003040 106737 _WORD  10€700'..C

(1) DO3044 122737 COCOI0 000432 CMPE  810,38PSWIRD ;IS THE PS 107

(1) 003052 001403 BEQ L+10

(3) 003054 004767 014030 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3 :THE PS IS NOT EQUAL TO 10

(3) 003060 000G30 30 |
(1, 0C306e 022700 177525 cup 8177525, %0 1S THE RESULT 17752%” '
(Y 003066 00:403 BEQ .+10

(2 007970 18:

(3) 203070 004767 G14014 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) R IS NOT Eauh. TO 177525 OP INCORRECT SEQUENCE

(3) 003074 000031 3l

(1) 003076 021527 000CSE CMP (RS), 855 ;15 STESTN = 156

(1) 003102 00137 BNE 18 :1F NGT YHEN 50 TC HLT ABOVE

5“ 603104 00521 INC (RS

(1)

(1,
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JERRARERERREEARERRERRAERRETRRREERRRAARAERRAERRRERR R RARA AR AR E RS

&

(1) :TEST:57 LSI-11 RSH 126252 SHIFTED BY 2(3) = 177262 PS = 1.
(1) llll!llll!lll!l!l!l!l!!l!QlII'l!llll!lll!lllll!llllll!l!llll!l!!l!ll
(1)

(1) 903106 010701 TSTS?: SCOPE!

1) 003110 012700 126262 MOV uesasa %0 :LOARD RO WITH 126262

I 114 072063 000002 ,‘,‘?E Egm RO BY 2(3)

.2) 1 030

2> DB3is8 108737 W

(13 D03leN 122737 000011 DOOM32 CMPB m aaPsuono ;1S THE PS 11”7

(1 063132 001403 ) BEQ

.3 9031 00787 0137C: JSR PC sm.r :SEEN AN ERROR, GO ro TH HALT ROUTINE
.3 :THE PS IS NOT'EQUAL TO 11

.3 003180 000032 32

1) 003142 022700 177252 CHP 8177252, %0 .15 THE RESULT 177252”

(1) 0C3146 001403 BEQ .+10

() 203150 18:

:3) 003150 004Te? D1373M ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) R0 15 o™ EQUAL 70 177955 R TNCORRECT SEGUENCE
!3) 003154 000033 33

(1) 03156 (021527 0000S? CHP (RS), 457 STESTN = 857

(1) 003lee 0391372 BNE 18 :IF NOT THEN G0 TO HLT RBOVE

.1) 003184 005215 INC (RS)

1)

1)

5686 illi!lllili!illlllli!!ll{l{lll¥'}*iil!*!I{lllilillll!!iill!l!iii!liil
1) STEST:60 LSI-11  ASH 125252 SHIFTED BY &(3) = 177526 PS = 10
\ l ) !li!illl!i!ill!!li!!lillll&!lliilll!!l!ii!!llliii{if!llll!ililiillll
(1)

(1) 003166 010701 TST60: SCOPE!

(1) 003170 0l1270C 125252 MOV 8125252, %0 LOAD RO WITH 125252

(1) 00317% (72073 000OOC ASH (33,70’ surrr RO BY &(3)

(2) 003220 MFPS  J#PSWORD :SAVE PS

(2, 003200 106737 JWORD  106700'..C

(1) 003204 122737 000010 000432 CMPB  #10,98PSWORD  :1S THE PS 107

(1) 003212 001403 BEQ +10

(3} 003214 004767 013670 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL T0 10

(3, 003220 NOOO3M M

(1) 003222 (22700 177525 CHP 8177525, %0 1S THE RESULT 1775257

(1) 003226 D0OI403 BEQ .+10

(2) ooaag 18:

(3) 003230 004767 013654 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 00323 000035 35

(1) 003236 021527 000060 CHP (RS, 860 IS STESTN = 380

(1) 3242 00137 BNE xa . IF NOT YHEN GG TO HLT ABOVE

fﬁ 4§ 00521 INC (RS)

(1)

(1)
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- DVKREBA. SRC RSH INSTRUCTION TESTS
5587 ;llllliiiIlliill!!llillll!!*llli!l!!ill*l!!lllllllllill!l!llllil!llll
1) :TEST:61 LSI-11 RSH 126252 SHIFTED BY a(3)+ = 177525 PS = 10
1) ;!llll!lll!lll§ll!!llIil!ll{Illlllll!l!llllli!!l!lil!!!l!!lll!!!liii!
1
1 107 TSTe1: SCOPEL
1; 88353§ §%§g§é 126252 go: -%asasa %0 ;La?grngoué$ua%gsesa
. % H )+
L e v
) 106737 . 106700!..¢C
1) 003262 122737 000010 000432 CMPB  810,38PSWORD ;i3 Tic DS 107
1) 003270 001403 BEQ .+10 ]
3) 003272 00N76? 013612 JSR PC,SHLT -SEEN AN ERRCR, GO TO_TH HALT ROUTINE
3) "Y€ PS IS NO° EQUAL TO 10
3) 003276 0O0C3H 3t
1) 003300 022700 1778525 cMpP 8177525, %0 IS THE RESULT 1775257
1) 003304 001403 BEG .+10
2' D03306 18:
3) 003306 004767 013576 JSR PC,SHLT :GEEN AN ERROR, GO TO TH HALT ROUTINE
) RO IS NOT EGUAL TO 177525 OR INCGRRECT SEQUENCE
3) 003312 000037 37
1) 003314 021527 00006l cMP (RS), 861 . 1S STESTN = 861
1) 003320 001372 BNE 18 :1F NOT YHEN GO TO HLT ARBOVE
i; 003322 005215 INC (RS)
')
1)

3 ad el et e st lessll el elldselslialeleentidistlassslilostelslls]

F\Hr\"\l-\H"\ﬂ—\ﬁr\f‘\'ﬂ’—\l—\r—\r\r\"\r\r—\ﬁﬁ’—\r‘\ﬁgﬁ"\t‘\'—\’—\t—-’— L e N W N G N L B N I A oY o Y Y o

1) :TEST:62 LSI-1l  ASH 125252 SHIFTED BY 9-(3) = 177526 PS = 10

1) ;li!iiill}iliiilii{l}iiii!llllllllililiiiilllilllliilil!lillllillliii

1)

1) 002324 01070} TSTe2: SCOPEL

1) 003226 012700 125252 MOV £125252, %0 :LOAD RO WITH_125252

1) 003332 072063 ASH o-(3) 748 :SHIFT RO BY a-(3)

2) 0033N MFPS  S8PSWORD : SAVE PS

2} 003334 106737 LMORD  106700!..C

1. 003340 122737 DO0OI0 000432 CMPB  #10,38PSWORD ;1S THE PS 107

1) 003346 001403 BEQ +18

3) 003350 004767 013534 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

3) :THE PS IS NOT'EQUAL TO 10

3) 0033%4 00J0H0 40

1) D033 022700 177525 CHP 8177525, %0 :15 THE RESULT 1775257

1) 00332 001403 BEQ .+10

2) (003364 18:

3) 003364 004767 013520 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE .

g; RO 1S NOT EQUAL T0 177525 OR INCORRECT SEQUENCE
) 003370 000041 41

1) 003372 021527 000062 CHP (RS), 262 .15 STESTN = #62

1) D03376 001372 BNE 18 :IF NOT YHEN GO TO HLT RBOVE

H 0C3400 005215 INC (RS)

1)

1)
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Ny

QCoM41M
0C3+22
0034et

0034

CSBan
003444
203446
003450
0J345u
0o346d
003462

003574
303600

B3
012737

005037
005037

glg?37

7
010703
013502
013700
Ci137C1
000241
032737
001004
01370S
073005
000402
073067

106737
123737
0C1403
004767

000042
005237
023700
gC140
00476

000043
023701
001403
004767

00004
010205
021837
001403
004787

00J0%S

24-AUG-76
ASHC INSTRUCTION TESTS

853455
900001
000440
000442
000001
00C+46

000434
000436

000081
O0CH40

174732

000448
013362

000430
000442
013342
00044
013326

000430
013310

000430
000436

000444

0004086

000432

15:29

REGOL:

2s:
48:

PAGE S3-17

MOV

L2 12l L 12 ediisddddasaledslll

ASHC INSTRUCTION TESTS
e e A T T A Y

(RERERRRRRRER

:TESTS 63-167
(REERERERERER
csg accounr
gMp - TEMP1=0
) a:renpa TEHPE
SstEMP3 : TEMP3= 0
S8TEMPY TEHPH 0
8l gaTEnPS é i
stEMPE 0 1 SHIFTED By 0=0 1, PS=C
RS, R2 :SAVE RS
astEnPl, %0 :PLACE THE CONTENTS OF TEMP1 IN REGISTER O
J8TEMP2. 0! 1 ‘PLACE THE CONTENTS OF TEMP2 IN REGISTER |
8], d88PASS IS IT AN EVEN PASS °
28’ xr NOT THEN GO TO 2%
J8TEMP3 RS :0THERWISE EXECUTE ASHC INSTRUCTION IN MODE O
ng RO *USING RO
TEMP3, % 8 :ASHC REGISTER O BY THE CONTENIS OF TEMP3
faz;gba :SAVE PS
acTEMPs acpsuoao COMPARE PS WITH THE CONTENTS OF TEMPh
PC,SHLT -SEEN AN ERROR, GO TO TH HALT FILTINE
: WRONG PS
J8COUNT
aoTEHPH %0 .15 THE RESULT IN RO SAME RS TEMPY?
PC, QHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG RESULT IN RO
J8TEMPS, %1 .15 THE RESULT IN Rl SAME AS TEMPS”
.+10 TE"P$ST§E§2 SHIFTED BY TEMP3=TEMPY TEMPS
PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
'WRONG RESULT IN RI
:RESTORE RS
(Ré) J8COUNT IS TEST NUMBER=COUNTER?
pc SHLT ;sgen ~1 ERROR, GO TO TH HALT ROUTINE

SEG 00I9

—_— ————
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OVKRBR.

S

B3
Vil
5749
S50
S7S1
S-S2
57583
ST
5755

SRC

003602
003604
003610
gC3kle
003616
003620
003624
003633
003634
0C3636

32
004C34
00400

00521§
021527
002014
00€237
000241

24-RUG-75
RSHC INSTRUCTION TESTS

000160
000440
000444
000442
00ci21

00010
000440

000434
000436

000001
000440

174532

000446
013162
000430
000442
013142

000444

Cl312e

000430
gl3llz2

000160
000440
000444
000442
00012t

000e12
000242

000406

000432

£S:
REGZ3:

cs:
4§:

£S:

15:29 PAGE S53-18

(RS)

é?S),ll&D ;Hggs THE FIRST 159 TEST BEEN EXECUTED?
J8TEMP3 '
J8TEMPS ROTATE TEMPS LEFT BY | PLACE
J8TEMPY INTR00¥E§ CARRY FROM TEHP% IN TEMPS
égéégtlal 1S 1T TEST 121°
R4, RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
/7 TST160
8TEMPL, %2 :PLACE THE CONTENTS OF TEMP! IN REGISTER 2
J8TEMP2.%2!1  :PLACE THE CONTENTS OF TEMP2 IN REGISTER 3
81, J8SPASS :1S IT AN EVEN PASS ?
28 *IF NOT THEN GO TO 2§
J4TEMP3, RY : OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O
n: R2 :USING R2
TEMP3, %2 ASHC REGISTER 2 BY THE CONTETNS OF TEMP3
J9PSHORD :SAVE PS
106700! . .C
aargnps ' S¥PSWORD; COMPARE PS WITH THE CONTENTS OF TEMPE
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG PS
J8COUNT
azygnpq %2 :15 THE RESULT IN R2 SAME AS TEMPY?
PC,SHLT -GEEN AN ERROR, GO TO TH HALT ROUTINE
-WRONG RESULT IN R2
I8TEMPS, %3 -1S THE RESULT IN R3 SAME AS TEMPS”
_+10 AEEPIST$EP2 SHIFTED BY TEMP3=TEMP4 TEMPS
PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG RESULT tn Rl
(Bfé,alCOUNT 1S TEST NUMBER=COUNTER?
PC,SHLT ;sgzn AN ERROR, GO TO TH HALT ROLTIME
(RS)
é?S).OISO ;Hggs THE FIRST 159 TEST BEEN EXECLTED
S8TEMP3 ’
IR TEMPS :ROTATE TEMPS LEFT BY 1 PLACE
Q8TEMPY : INTRODUCE CARRY FROM TEMPS IN TEMPH
(ns&énxax :15 IT TEST lel?
La
R4, RITSH :IF SO THEN GO AND INITIATE RIGHT SHIF™
x?,TSleO

i
SEQ 0020 !
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PVKABA MACYLL 27.732) 24-AUG-T6 15:29 PAGE 53-19 SEQ GC2.
OVkABA. SRS RSHC INSTRUCTION TESTS
5799 QONOMM 010701 REG4S: SCOPE!I
€820 00404 010501 MOV RS, R1 :SAVE RS
€8C1 004050 013704 000434 MOV (1 JERL, :PLACE THE CONTENTS OF TEMP] IN REGISTER 4
ssgg 004054 013705 00043% MOV RTEMPR 4! 1 :PLACE THE CONTENTS CF TEMP2 IN REGISTER S
5833 004060 000241 cLC
€804 004062 032737 000001 000406 ggg oi,a:spnss ;1; ﬁTTQ?HEKEN pﬁss ?
‘ i
ESSE 8838;8 8?§983 000440 MOV §|TEHP3.RD ;Bruzguxss EXESUTE Sguc INSTRUCTION IN MCDE 2
§807 00<40T6 073460 ASHC  R7,RY :USING R4
£838 0O4I0C 0OC4Q2 BR ¥
5809 004102 073467 174332 2s: ASHC  TEMP3, %M :ASHC REGISTER 4 BY THE CONTENTS OF TE™P3
5813 0Q4106 4S: MFPS  98PSWORD :SAVE PS
1) 88:103 106737 .WORD  106700!..C
3% 112 123737 000446 DCO43E CMPS  Q8TEMPG. 38PSWORD; COMPARE PS WITH THE CONTENTS OF TEMFE
SeI8 0QO4IZ0 001403 BEG .+10
S8 ? 004122 004767 012762 JSR PC,SHLT ;asgzcngssppon, GO TO TH HALT ROUTINE
(2) 0OON126 0000S2 52
S820 Q04130 005237 000430 INC JECOUNT
S621 OO04IN 023704 000442 CHP SR EMPY, w4 1S THE RESULT IN R4 SAME AS TEMP4?
S822 QO4I40 001403 BEQ .+10
S823 004142 004767 012742 ISR PC.SHLT :GEEN AN ERROR, GO TG TH HALT ROUTINE
(c) ‘WRONG RESJLT IN Ry
ségi %i% ggc?xgss 000N4 539 TEMPS, %S THE RESULT IN R AS TEMPS?
2 4 ¢ ot A : ;
gggg 004154 001463 BEQ .+10 :iéonpésr%éétsufnsg 3v""§en33=§en3~+ TEMPS
S627 0O04:56 004767 012726 JSR PC,SHLT :GEEN AN ERROR, GO TO TH HALT ROUTINE
e) :MRONG RESULT In RS
(2) 004162 0OOOSYH 54
SEc8 O004!64 021137 000430 CMP (R1),38COUNT  :IS TEST NUMBER=COUNTER?
S629 004170 001403 BEQ .+10
sggg 004172 004767 012712 JSR BC SHLT ;agsn AN ERROR, GO TO TH HALT RCUTIMNE
(2) 004176 0000SS 1
€231 004220 010105 MOV R1,RS :RESTORE RS
€53z 004207 096215 INC (RS,
5833 (004204 (0cl5e7 000160 CMP (RS), 8160 -HAVE THE FIRST 159 TES™ BEEN EXECUTED?
S524 00+21C 002014 BGE 6 - YES
£83€ Q04212 005237 000440 INC S8TEMP3
€83t 004elb (002! cLC
CEI7 004220 006137 00044y ROL J8TEMPS :ROTATE TEMPS LEFT BY | PLACE
Se38 004224 006137 DOCH42 ROL JSTEMPY : INTRODUCE CRRRY FROM TEMPS IN TEMPY
€839 (004230 021527 0%0i2! CHP (RS), #l2l 15 IT TEST 121”
t840 004234 001004 ENE gs
Eey] 004236 004467 000010 JSR RY,RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
Sg4e (0Q4242 004767 000040 £§: ISR %7 151160
£843 004c46 000167 177172 By : IMP REGO!
CE44 004252 (0e24eM RITSH: (MP (R4)+. (RY)+ ;nnxs R4 POINT TO THE NEXT REG TRG
5g4S (004284 012737 040000 000434 MOV $40000,sTEMP]  § TEMP1=4000
Ee4k 00426 005037 000436 CLR SSTEMPR : TEMP2=0
E94? 004266 (12737 177742 000440 MOV 8-30. ,98TEMP3  :TEMP3=-30
€848 004274 005037 000442 CLR IsTEMPY s TEMPY=0
Eeg 004300 005237 000444 INC S8 TEMPS : TEMPS=1
EES 004304 000204 RTS R

4
CBEl 204c.e 02.t27 0COled TST1E0: CMP (RS, 8160 ;IS IT TEST 180




' OVKABR MACY11 27(732)
DVKRBA. SRC

B B

c215¢7
001007
012737
012737
000207
881 27

1010
005337
012737

004610
004616
€0 00462“

ehe 303

QO4E34
o04E40

24-RUG-76
RSHC INSTRUCTION TESTS

T

00000
00Cl16l
177746
000162
000032
000163

052525
177760

0e3e8
000446
000164
125252
00044
1252
000010
000165

177777
177777

000166

100000
177740
000446

00C1e7
0004 34
000436
020023
000444
000446
000170

125252
125252

000171

000440
0Setet

15:29 PAGE 53-20

8
cL
CLR
000448 MOV
RTS
TSTikl: CMP
BNE
000440 B?g
TST162: gHP
000440 H?V
S
TSTIE3: C

000434 MOV
000440 MOV

O0CH44 MOV

TST164: CMP

000434 MOV

000444 MOV
000446 MOV

RT
TST165: Cﬂé

BNE
003434 MOV
000444 MOV

TST1bb: (MP

00434 MOV
000440 MOV

TS7167: CMP
000440 MOV

TSTi70: CMP

000436 MOV
000442 MOV

TSTI71: (M

000442 MOV

Joe2

STEMPL
sTEMPY
.H , 88 TEMPS

(n§) 816!
1532, anrsnpa
(RS) 8162

T TléB

; 2,Jd8TEMP3
(RS) 8163
757184

852525, I8 TEMP1
8-15., 8 TEMP3

CSEEES JETEMPS
a;rsnpé

(RS), 8164
TST185

8125252, d8TEMP!
J8TEMPY'

8125252, J8TEMPS
310 JTEMPE

(RSJ 8165

TSTIQB
1,S8TEMP]

a-l ' S8 TEMPS

(RS) 8166
157187

8100000, J8TEMP]
8-32. JSTEMP3
aoTEHPB

(RS) 8167
TE¥120
RTEMP]
SRTEMP2
816.,98TEMP3
SSTEMPS
asTEnps

(RS) £170
757121

8125252, JSTEMP? |
IIBSESE S8TEMPY

(R?) 8171

asTEHPB
852525, JaTEMPY

TSTESI

éF NOT TH%N TRY TESY 161

nno Ps-q
.15 IT TEST 1el
.0 O SHIFTED BY -32=0 0, PS=4

.15 IT_TEST 162
8 0" SR TED 8% 2258 0 Bs=u

;IS IT TEST 163?
;éF NOT THEN TRY TEST lgd

;52525 0
; SHIFTED BY -16.

: IS EQUAL TO O 52525
«RND PS = 0

;IS IT TEST 164
:IF NOT THEN TRY TEST 165
;125252 0 SHIFTED BY -16.

;IS EQUAL TO -1 12525¢
QND PS=10

.15 1T TEST 1865°

:IF NOT THEN TRY TEST 166

:-]1 0 SHIFTED BY -Ib

115 EQUAL TO -1 -1, AND PS=13

}? IT _TEST 1 ?

NOT THEN TRY TEST 1&7

: 100000 D

iSHIFTED BY -32 IS EQUAL TO -1 -1
ND PS=1

’

; 1S IT _TEST 1677
F NOT THEN TRY TEST 170

TED BY 16.
QUARL TO -1 0

mTe—

T_TEST 170°

0T _THEN TRY TEST 17]

5252 SHIFTED BY 16

GUAL TO 125252 0, RND PS=12

[
A lat 4

IT T; &

NOT THEN TRY TEST 172
1852S¢ SHIFTED BY IS
EQUAL TO 52525 O

SEG 0C22
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DVKABR. SRC RSHC INSTRUCTION TESTS
SI08 Q04646 005237 000446 c%n JaTEMPE :AND PS=0
€909 Q0N6Se 000207 rYS %7 i
5910 O004ed4 021527 000172 TST172: CMP (RS), 8172 .15 IT TEST 1727
€911 004660 001206 BNE 157123 :IF NOT THEN TRY TEST 173
5912 0046be 012737 052525 000436 MOV 852525 sTEMP2 0 52525
€6]3 004670 00S237 000440 INC JaTEMP :SHIFTED BY 16. IS EQUAL TO 52525 0, AND PS=C
5914 DO467¥ 00C207 R;g %7
€9:5 (04676 021527 0OCI73 TST173: C (RS), 8173 .15 IT TEST 1737
§93f 00<47C2 00:]Id BNE TST14 :1F NOT THEN TRY TEST 174
€517 0ON7ON 012737 177777 [0OOM36 MOV 8-1 IRTEMP2 0 -1
5518 004712 Q0S337 00044 DEC asr;npa ;SHIFTED BY 1S.
€3'q (4716 Q12737 077777 000442 MOV 877777, J8TEMPY
€520 0QQ4724 012737 100000 000444 MOV #,00000, 38TEMPS ;1S EQUAL TO 77777 100000, AND PS=0
€3] 004732 00207 RTS e
€852 004734 02.527 000174 TSTI?Y: [MP (RS) . 8174 1S IT TEST 1747
€323 004740 00:013 BNE TSTi?5 :IF NOT THEN TRY TEST 175
5324 004742 0!2737 100000 000434 MOV £1000C0, S8 TEMP]
€35 004750 005337 000436 DEC J8TEMP? . 100000 -2 SHIFTED BY 1S.
€925 Q04754 005037 000444 CLR S8TEMPS : 1S EQUAL TO 77777 O
€927 QOQ47B60 012737 000002 000446 MOV 82, I8 TEMPE :AND PS=2
S928 004766 005207 RTS %7
$929 QQ4770 0ei527 00017S TST175: CMP (RS), 8175 1S IT TEST 175”
€930 004774 0C.015 BNE ENTI76 :IF NOT THEN TRY TEST 176
£93] 004776 012727 177777 000434 MOV 8-1. S8TEMPI
£922 [DOSOON 003037 0D00N36 CLR asTiMP2 -1 0
£933 005010 005237 000440 INC JSTEMP3 :SHIFTED BY 16.
€934 00S014 005037 000442 LR S8 TEMPY .15 Eoun$ T000
€936 005020 0.2737 000007 000446 MOV 87, IR TEMPE :AND PS=
£93t 005026 000207 RTS %7
€937 006030 021527 000176 ENT176: CMP (RS, 8176 :1S THE PROGRM ENTERING TEST 178”
5938 DOSO3M oowa; BEQ _+10
£339 005036 004767 012046 JSR CUSHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :TEST NUMBER GOOFED
55355 00SOM2  0000SE 56
gg:é 005044  00S726 TST (SP)+ -RESTORE STACK POINTER




DVKRBA MACYIL 27(732) 24-AUG-76 15:29 PAGE §3-22 SEG CC24
DVKABR. SRC ASHC INSTRUCTION TESTS |
S33 CERRHRRERARERERRABERRRRERERRRERRRRERRRRRRRRR LR IS REFEFSESSERIRSSSRE22Y
(13 s TEST: 176 1 SHIFTED BY B. = 400 PS = O |
(1) : FRERARRERREREEREREREERAEERAEERERRERER R R A ERR AR RBERE ARSI REIRES44444
(1)
(1) 00504 010701 TST176: SCOPE]
1) 005050 012701 000000 MOV sDUMMY . %] :LORD R1 WITH DUMMY
.1; 005054 212781 000001 nog i, %10 LORD RI'1 WITH |
{
13 883529 698f25 000010 Sguc 8. %1 :SHIFT R1,RI'] BY 8.
2) 005066 MFPS  S8PSWORD :SAVE PS
.2) 00S066 106737 . WORD 1857033..c
.1} 00807e 122737 000000 000432 CMPB 80, 98PSWORD .15 THE PS 02
‘1 07Eino0 051403 BEQ .+10
3. 005102 004767 012002 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
'3 :THE PS IS NOT'EQUAL TO O
.3) 0DOS106 0000S? 57
(1) DOS110 022701 000400 CHP 8400, %1 . 1S THE RESULT 400”
(1) 005114 001403 BEQ _+10
\3) 0O0S11e6 004767 011766 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RGUTINE
(3 ‘R IS NOT EQLAL TO 400
(3) 00S122 000060 60
(1) 8821 381 7 000176 cMP (RS), 8176 .15 STESTN = #1767 |
(1) 1 1463 BEQ +10 < IF NOT tHEN GO TO HLTY ,
{3) 005132 004767 011752 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
(g) 'TEST IS IN WRONG SEQUENCE |
(%) 00S136 00006l bl
E{; 005140 005215 INC (RS)
(1)
59"” ; EFREAEEEREEFEEERRERERREEREEE LR RREERE R ERREELEREEEREERE AR R SRS REEEER
(1) ' TEST: 177 -1 SHIFTED BY 1S5. = 100000 PS = 1l
(1) ; EEEREFEEREEEEEREEERRREEREREEEE CRERR NSRS REEEEEEEEEEEEEEEEEEEE S
(1
(1) 005142 010701 TST177: SCOPEI
(1) 005144 012703 000000 MOV *0UMMY %3 :LOAD R3 WITH DUMMY
(1) 0Q0S1S0 012703 177777 MOV 31,2311 :LOAD R3'! WITH -1 1
1) 0O0SISY 000241 cLC
(1) DOSi{56 073327 000017 ASHC  #15.,%3 :SHIFT R3,R3'1 BY 16.
() 00512 MFPS  J#PSWORD :SAVE PS
(2) 005162 106737 .WORD  106700!..C
({) 00S166 122737 000011 000432 CMPB  #11,98PSWORD ;IS THE PS 11°
(1, 005174 0OI403 BEQ _+10
(3) 005176 004767 011706 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL T0 11
(3) 00S202 (000062 B2
(1) 005204 022703 100000 CHP #100000, %3 . 1S THE RESULT 100000”
(1) 005210 001403 BEQ .+10
(3) 005212 004767 011672 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) 'R3 IS NOT EQUAL TO 100000
(3) 005216 000063 63
;1. D0S220 0el1Se7 000177 CMP (RS), 8177 -1S STESTN = #177"
(1., 00S224 001403 BEQ .+10 IF NOT YHEN GO TO HLT
(3, 00226 004767 011656 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :TEST IS IN WRONG SEQUENCE
Eg; 055232 000064 BY
1)

20Sz34 00Sels INC (RS)
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OVKABA. SRC RSHC INSTRUCTION TESTS
(1)

(1
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DVKABA MACY1l 27(732) 24-AUG-76 1;:29 PAGE 53-24 SEQ 0028
DV<ABA. SRC ASHS INSTRJCTIUN TESTS

59‘45 H SHREREEEEEE R EEEEEEEEEE R RS R0 E 0 %R % N
(1) : TEST:200 62625 SHIFTED BY 0 = €252 PS = 0
(1) ; BEEREREEEEIREEE % E RT3 53335 30303 ¢ 390 9098 3 00 3098 430 50 3 3 S MR EHE R R BB 885 3
(1)
(1) 00523 010701 TST200: SCOPEL
(1) 005240 010501 MOV RS,R1 : SAVE NS
(1) 005242 012705 000000 MOV sDUMMY, %S :LORD RS WITH DUMMY
(1) 0CS24e 012705 052525 MOV 852525, %5! | :LORD RE!1 WITH 52525
(1) 00525e 000241 cLC
(1) 005284 (073527 000000 ASHC  80,%S SHIFT RS,RS!1 BY O
(2) 005260 MFPS  J8PSWORD s SAVE PS
.c) 005260 106737 _MCRD  108700'..C
1) 005264 122737 000000 000432 CMPB 80, a#PSWIRD .15 THE PS 0?
\5) 885 72 88140 BEQ .+12
(3) 74 004767 011810 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS 1S NOT EQUAL TO O
(3) ggoos &S
(1) 008302 022708 052525 CMP 852525, /S .15 THE RESULT 525257
(1) 005306 001403 BEQ .+10
(3) 005310 004767 011574 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :RS IS NOT EQUAL TO 52525
(3) D0S314 000066 66
(1) 005316 010108 MOV R1,RS :RESTORE RS
(1) 005320 021527 000200 CMP (RS), #4200 -15 STESTN = %2007
(1) 005324 001403 BEQ .+10 :IF NOT YHEN GO TO MLT
(2) 005326 004767 011556 JSR PC,SHLT :SEEN AN ERROR, GO TO TH YALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(3) 005332 000067 67
Ei% 005334 005215 INC (RS)
(1

5946 : SFEEREEFEERREEEE T 029533255333 23 36 3 96 3 396 36 3 3 3¢ 36 3 3% 3 3 36 36 3¢ 3 6 96 36 3 3 3 % # ¥
(1) : TEST: 201 20010 SHIFTED BY -13. = 101 PS = @
E { ; : P Y Y 2212222223223 2322222 2223232222223 222222 222223222 L)
(1) 00533 010701 157201: SCOPEL
(1) 005340 012701 000000 MOV sDUMMY, %1 :LOAD R1 WITH DUMMY
(1) 00S344 012701 020010 MOV $20010,%1'1 :LORD R1'1 WITH 20010
(1) 005350 000241 cLC
(1) 008352 073127 177763 ASHC  #-13. .71 :SHIFT R1,R1!1 BY -13.
(2) 005356 MFPS  a#PSWORD :SAVE PS
(2) 005356 106737 _WORD  106700"..C
(1) 008362 122737 000COD 000432 CMPB 80, 98PSWORD - IS THE PS 07
(1) 00S370 0GI403 BEQ .+10
(3, 005372 004767 011512 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQURL TO O
(3) 005376 000070 70
(1) 005400 022701 000101 CMP #101,%1 . 1S THE RESULT 101°
(1) 005404 001403 BEQ .+10
(3) 005406 704767 011476 JSR PC,SHLT ,SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *RI 1S NOT EQUAL TO 101l
(3) 00S412 000071 71
(1) 00S414 021527 000201 CMP (RS) . %201 -15 STESTN = #201°
(1) 005420 001403 BEQ .+10 :1F NOT YHEN GO TO HLT
(3, 00B422 004767 011462 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :TEST IS IN WRONG SEQUENCE




SVAABR MACYIL 27.732)  24-Au3-TB
CVRABR. SRC RSHC INSTRJCTION

3 00S4ee 020972
(1) 30843 008e2!S

15:29 PRGE S53-25
TESTS

72
INC

(RS

BO3

SEQ 0027
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) 15:29 PRGE 53-26
DVKABR. SRC RSHC INCTRUCTION TEST

So4? !lll’!!!lllliill!lillll!lll!!l!lllll!llllllI!!!!iiilll!llll!!illll!!
(1) 11 ST:202 -1 SHIFTED BY 16. = 0 PS = 1}
5 i ; llll!!!llllllllllll!i!!Ilﬂllllii!!l{ll!l!{i!i!!!lil!lliil!!’!!l!ifl
(1) DOS432 010‘01 TST202: SCOPEL
(1 0O0S43N 000000 MOV sOUMMY , %3 :LORD R3 WITH DUMMY
D Y40 177777 MOV e-1,%31 :LORD R3'1 WITH -1
(1) ¥ ; CLC
(1 Ty 000020 ASHC  816.,%3 :SHIFT R3,R3!1 BY 16.
(@) 0O54s2 . MFPS auP ono :SAVE F3
(2) 005482 106737 . WORD
[} OOSMET 122737 0000Il 000432 CMPB a11 aspsuono 1S THE PS 117
1) DOBYEM %woa ?gg Qv-u.
) 466 767 011416 T -SEEN AN ERROR, GO TO TH HﬂLT ROUTINE
(3) :THE PS 1S NOT EQUAL TO |
(3) DOS4Z2 000073 73
(1) DOSY7¢ 022703 0000CO CHP 80, %3 .15 THE RESULT 0°
(1) 005500 001403 BEQ +10
(3) 005502 OON767 Dl1402 JSR PC,SHLT :SEEN AN ERROR co ro TH HALT ROUTINE
(3) :R3 IS NOT EQUAL T
(3) DOSS0S 00007 74
(1) 0O0SS10 B21S2? 000202 CoP (RS), 8202 IS STESTN = 3202’
(1) 0OSSI4 001403 BE? .+10 IF NOT tHEN GO ro
(3 D0SS1e OOMTE? D11366 JSR PC,SHLT ‘SEEN AN E 70 TH HALT ROLTINE
(3) :TEST IS IN unbuc SEQUENCE
(3) 00SS22 (00037S 7%
gi) 005524 10052.5 INC (RS>
(13
1)
59"48 l{illllilll!llil{iilll!!!lilliillliil!!!lll!l}{liill!liiiilli}fiifll
(1 :TEST:203 1 SHIFTED BY -1 = 100000 PS =
{ i % llQilillill!ii!l!illilii!iill*llliill'l'l'li{l!liii'}llll{{}liiﬂiiilili
{
(1) 005526 010701 T5T203: SCOPE!
(1) D0OSS30 010501 MOV :SAVE RS
(1) OCSS32 012705 000200 MOV .oonnv :LORD RS WITH DUMMY
¢1) 005536 012706 000001 MOV 8!, /='1 :LORD RS!'! WITH I
(1) 005542 00Ge4] cLC
(., 0OSS¥M 073827 177777 ASHC  8-1,%5 :SHIFT RS,RS'1 BY -1
(25 005550 MPS  3sPSWORD :SAVE PS
(2) 005550 106737 LWORD  106705°..C
([} DOSE54 122737 O0COCOI 000432 CMPE 81, a8PSWORD .15 THE PS 1?
(1) 005862 001403 BEQ .+10
(3, (00SSeM 004767 011320 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS 1S NOT'EQUAL 1O |
:3) 005570 000076 76
(1) £72 022706 10C300 CMP £100000, %5 1S THE RESULT 100700°
(i, 00576 0OI403 BEQ +10
(2, 005600 004767 011304 JSR PC SHLT +SEEN AN ERROR, GZ TO TH HALT ROUTIME
(3] ;RS 15 NOT EQUAL TO 100000
3) 00S&é~+ 000077 77
(1 Ceub 010108 MOV R1,RS RESTORE RS
(1, [0S610 021527 00C203 CMP (ns) 8203 IS $TESTN = oaoa~
(1) JOSe14 001403 BEQ :1F NOT YHEN GO TO AL
3, 0GS6ie 004767 011266 JSR pc SHLT :SEEN AN ERROR ro TH HALT ROUTINE
(3, :TEST IS IN unbnc SEQUENCE

—— —
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DVKRBA MACY]] 27(732) 24-RUG-7b_ 15:29 PAGE S3-¢8

DVKABRA. SRC RSHC INSTRUCTION TESTS |

Lol CRRRREERERERRERRER R AR AR R R R AR R R AR R AR AR AR HHHHHH SRR A 02 55 |
(1) t TEST: 20N 126252 SHIFTED BY -1b. = 126252 PS = 11
(1) Illllllllli!!lllllil!lllllill'Illﬂl<Iill!!I'l!llllilillll““ll!ll!l!lil
(1)

(1) 582253 810701 TST204: SCOPE!

(1) 12701 000000 MOV sOUMMY , %1 :LORD R1 WITH DUMMY

;§§ rogsgw 12701 125252 nog 8125262,%1'1  :LORD RI'1 WITM 125252

3 88:24 125 177760 Stﬂc s-16b. :SHIFT R1,RI'1 BY -~1b.

= - pe ?ag;ugno ;SAVE PS

N [4

I 882535 1337 7 000011 000432 tnga 8il béuSRo IS THE PS 117

'3 Dodeee 885;23 011222 ?Eg PEIQHLT N TO TH HALT ROUTINE
oot c H . ’

) i 9REMa M BRO8 £ 80l 2rdM

.3) D0S6e6 000101 101

(1) 00Sk?0 022701 125252 CMP 8125252, %1 .15 THE RESULT 126252”

(1) 0OSe7N 001403 BEQ .+10

(3) 005676 004767 D11206 JSR PC.SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sRI IS NOT EQUAL TO 125252

:3) DOS70e 8301 égg

(1) DOS704 021527 000204 (RS), 8204 IS STESTN = 3209’

(1) 005710 DOI403 BEQ .+10 ;1F_NOT tHEN GO TO ML ,
(g) 005712 004767 011172 JSR PC,SHLT :GEEN AN ERROR TO TH HALT ROUTIMNE
‘33 TEST IS IN unbnc SEQUENCE

(3) 00S716 000103 103

m 005720 (00S2.5 INC (RS)

D)

5950 liii!!ilil!lillll!lllllllillllllllillilllilll}llilililiiililiiiiliii
(1 : TEST: 205 125262 125252 SHIFTED BY 21. = 52500 000000 PS = 3
{1) l{llil!!l{liillillllll{llii!ll!iiillllllilil!iiill%liililii!Ociiiill
(1
(1) 005722 010701 TST205: SCOPEL
(1) 005724 012702 125252 MOV 812 '%3 ;ngg sg WITH 125555
(1) 006730 012703 126082 MOV 812 o'l L 11 WITH 1952€2
(1) 0057 003281 cLC
(1) 00573 073227 000025 LSHC 82l :SHIFT R2,R2'1 BY 21.

(21 DO5742 MFPS aopsﬁono :SAVE PS

(2) 0056742 106737 JWORD  106700'..C

(I) DOS746 122737 000003 000432 CMPE 83, 98PSWORD .15 THE PS 37 |
(1) 005754 0OI4C BEG .+10

(3) 006786 004767 011126 JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE

(3 :THE PS IS NOT EQUAL TO 3

(3, DOS76e 000104 104

(1) 005764 022702 052500 CHP 52500, %2 : 15 THE RESULT 525007 |
(1) 0OE770 OCI403 BEQ +10

(3) 005772 004767 011112 JSR PC SHLT -SEEN AN ERROR, GO TO TH -#LT ROUTINE

(3 ‘R2 IS NOT EouhL T0 52500

'3, 00S776 000105 105

(1, 0OE000 022703 000000 CMP $000000,%2'1  :IS THE RESULLT 000000?

(1) 00eSOM 001403 BEQ .+10

(3 006006 004767 011076 JSR PC,SHLT .CEEN AN ERROR, G0 TO TH HALT ROUTINE

‘3 :R311 15 NOT ES8UAL TO 000000

(3, 07e0:2 00006 106

(1, 20eCi4 021527 000208 CMP (RS, 8205 .15 $TESTN = $205°
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(1) 006020 301403 BEQ .+10 :1F NOT T”E go 10 "BT
ga) 006022 O00N767 011062 JSR PC,SHLT ?EE §no TH HALT ROUTINE
(N T1I1sIN unbnc. SEGUENCE
(3) 006526 000107 107
EB 006030 005215 TG (RS)
i)
§351
S952 006032 012702 177771 MOV 8-7,%2
€953 006036 012703 00Q4SH MOV 85],%3
€aCy (006042 012704 0004Se MOV 852”4
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5356 JRERERREREERRRRERERRRRR R R AL AR AR RAR RS RER AR R RRRERERRRBRRRRE R B R REEE %
(1) 1TEST: 206 125252 125252 SMIFTED BY S1 = 177526 52626 PS = 10
(1) : FEEERREEER B R RERRERA R AR AR ARE R R R R R R B R AR R R R ER R R REEREREBERERRREE RS
()
(1) 107 TST206: SCOPEL
(13 %&% &%& 125252 MOV 8125252, %0 -LORD RO WITH 125252
\i; oggosq Dle70l 125252 nog 8125252,40'1  ;LORD RO!I WITH 125252
\
1) 89&823 ngﬁsi 172356 S%Hc S1,%0 :SHIFT RO,RO'1 BY Sl
2) 006C66 MFPS  J#PSWORD :SAVE PS
.2) 006066 106737 .WORD  106700!..¢C
1) 008072 122737 000010 000432 CMPE  #10,38PSWORD ;IS THE PS 107
(1) 006100 001403 BEG +16
\31 006102 00N767 011002 JSR PC,SHLT ;§EEN AN ERROR, GO TO TH HALT ROUTINE
) :THE PS 15 NOT'EQUAL 10 1D
\3) 006106 000110 110
(1) 008110 022700 177525 CHP 8177525, %0 . 1S THE RESULT 177525?
(1) 006114 O00IN03 BEQ .+10
(3) 006116 004767 010766 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3! :RJ IS NOT EQUAL TO 177525
:3) 006122 DOOLLL 111
(1) 006124 022701 052525 CMP 852525, %0! | .15 THE RESULT 52€25”
(1) 006130 0OI403 BEQ .+10
(2) 006132 18:
3) 006132 004767 010752 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
%) :ROT1 IS NOT EQUAL TO 52525 OR INCCRRECT SESUENCE
(3) 006I3E DOOL1P 112
(1) 006140 021527 000206 CHP (RS), 8206 .15 THE $TESTN = 3206°
(1) D006l4d4 001372 BNE 18 :1F NOT tHEN 50 TO MLT RBOVE
é{? DO614e 005215 INC (RS)
(1)

£gg? : FPEREREEEREREEREREREEERERFEREEEREREER RS AR EERE R R R ER RS SRR FRA RS2
{1 : TEST: 207 125252 125252 SHIFTED BY 952 = 177525 52525 PS = 10
(1) ; E4EREBEEEREEER R R RERREREERERERREEEEREE AR R SRR ERBRRREFRAL2EERAEREE
(12
(i) 008IS0 010701 TST207: SCOPEL
(1) 006152 012700 125252 MOV 8125252, %0 jLORD RO WITH 125252
(1, 006156 012701 125252 MOV 8125252 %0!1  ;LORD ROVI WITH 125252
(1) 00elde 00Ged1 cLC
(1, 006i64 073077 172266 ASHC @S2, 40 :SHIFT RO,RO'] BY aS2
(2) 006170 MFPS  SsPSWORD :SAVE PS
(2) 006170 106737 JWORD  106700!..C
(I; 006174 122737 (00000 000432 (MPB  #10,98PSWORD ;IS THE PS 107
(1) 006202 001403 BEQ L +1
(3} 006204 004767 010700 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTIMNE
(3 :THE PS IS NOT EQUAL T0 10
(3, 006210 000113 113
(1, 00p2l2 022700 177525 CMP 2177525, %0 .15 THE RESULT 177525”
(1) 006216 001403 BEQ .+10
'3) 006220 004767 01066 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3, RO IS NOT EQUAL TO 177525
(3, 00224 000114 114
(1, G022k 022701 0SE52¢ CHP 252525, %0! | .15 THE RESULT 52525°
(1, 0Ceg32 O00I4C3 BEQ .+10
(2, NDE234 18:

_— m—— -
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(3) 006234 004767 010650 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE .

(3) ‘RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SZulUENCE

(3) 006240 000118 115

(1) 006242 021527 000207 CMP (RS), 8207 - IS TYF STESTN = 207"

(1) C06246 001372 BNE 13 -1F NOT YHEN GG TC HLT A3CVE

tig 006250 005215 INC (RS)

1)



103

BVhaB GRaCT il e IRt T on rgdad?  PRGE S3-32

DVKRBR

€358 X332 1222222222220 222222 2 22 a2 i ittt ellzatisllotlssd
‘1) :TEST:210 125252 126262 SHIFTED BY 38S1 = 177525 52%2S PS = 10
(1) llllllll!l!llll!llll!lllllllll!lllilll!ll!lllllilllllilll!illlllllll
(1
(1) 006252 010701 TST210: SCOPE!
(1) 006284 012700 125252 MOV 8125252, %0 :LOARD RO WITH 1252%2
;1) 006260 012701 125252 MOV 8125252.%0'1  ;LORD ROl] WITH 125252
(1) 006264 000241 c§c
(1) 0062k 073037 00O4SY ASHC  3851,%0 suxrr no RO'1 BY 385!
2) 00e2re MFPS  J8PSHORD :SAVE P
2) 006272 108737 JWORD  106700'..¢
.1} 008276 122737 000010 000432 CMPB 210 98PSHORD 1S THC PS 107
L1 008304 OCINO3 BEQ 18
‘3’ 006306 004767 010576 JSR PC,SHLT ;§SE~ AN §R§8§' TO TH HALT ROUTINE
3 : PS 18 NOT'EGLAL TO 10
.3) 006312 000116 116
(1) 006314 022700 177%2S CMP 8177525, 40 1S THE RESULT 1775257
1) 006320 DOI403 BEQ .+10
(3) 006322 004767 010562 TSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROLTINE
3] ;RO 1S 1T EQUAL TO 177525
:3) 006326 000117 117
(1) 006330 022701 052525 CMP 852525, %.0! | : 1S THE RESULT S2525?
(1) 006334 001403 BEQ .+10
‘2) 006236 18:
(3, 006336 004767 010546 JSR PC,SHLT ;agsu ERROR T0 TH HALT ROUT!
(3) ‘ROTL IS NOT Eauno_ T0 52525 OR INCORRECT SEQUENCE
(3) 006342 000120 12C
(1) 006348 021527 000210 CHP (RS), 8210 -1S THE $TESTN = 8210°
(1) 006350 001372 BNE 18 ;IF NOT YHEN GO TO HLT RBOVE
Eil 006352 00%215 INC (RS)
1)

c€agsg CEERRERERERRRRERRFRRE AR AR RERERREREERR SRR R R RS RIS ERTRPRRRRRLERERESR
(1. :TEST:211 126262 125262 SHIFTED BY (3) = 177525 52525 PS = 10
(1) !illilllilliiiilllliillllllllllllll*l*llllllliiill!i*iiiiiili&iiiiii
1.
(1) 00B3S4 010701 TST211: SCOPEL
(1) D062356 012700 125282 MOV 8125252, %0 jLORD RO WITH 125252
(1) 00k3be 012701 1252%2 MOV 125252 %0!1 :LOAC ROVI WITH 125282
(1) 006366 00024l cLC
‘1) 00e370 073013 ASHC (3), %0 +SHIFT RO,RO!1 BY ()
e, 006372 MFPS aopsuono :SAVE PS
(2. 006372 108737 .WORD  106700!.
.1, 00e376 122737 000010 000432 CMPB 10 acpsuonn IS THE PS 107
(1 DOOE404 JC140 BEQ +10
(3. 006406 004767 D10M78 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL TO 10
(3, 006412 000121 121
(1, 00eq14 022700 177525 CMP 3177525 %0 1S THE RESULY 1778257
‘1) 00e420 001403 BEQ +10
‘3. 00e422 004767 010482 ISR PC,SHLT EEEN nn cg TO TH HALT ROUTIME
(3. IS NO EouAL 0 177525
(3, 00e426 00Cl22 122
11, 008430 022701 052525 CHP 852525, 70! | :1S THE RESULT 52525”
i, 20E<34 001403 BEG . +10
‘2, 2J0E436 18:

—— o ———
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(3) 006436 004767 010446 ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

() 'RO'1 IS NOT EbunL TO 52525 OR INCORRECT SEQUEMNCE

Ef! 006:35 00?12; 000211 zgg (RS), 8211 THE STESTN = #2117

(1) 450 851332 an 157" . IF NOT tuén 25 ?o HLT §eové

(1) 306482 005215 INC (RS)

“ 4!

e
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e b e = == LD GG U = 0= (DL ) 0 0= LG = 0= PO s pe e e pa pus s b

FNEN NN NSNS~

e N N W M e N % T Nt N e e e’ e e el e e P N e S e o e e e e’ e e e e Ml Ml W v v el WS N e M S e e e’ e Sl e

P e T e T e N i T e T el T e T e X i T e N i S O e NN e S e 3

U s 0= GO GO G -2 = () 0] 0 #— U N b e s e B et s e

P N A
PO Y

006536

0CeS42
006544
006550
00655¢

006554
006556
006562
006566
006570
008572
006572
006576
00604
006606

0gesl2
oCbbl4
00eb20
00eb22

00Buweb
goee20
COBE 34
2063k

ASHC INSTRUCTION TESTS

010701
012700
012701
00024]
073043

106737
122737
001403
004767

000127
022700
001403
0047867

000130
02270}
0014C3

4-R

12525¢
125252

000010
010376

177525
010362

0525es

010346

0coz1e

125252
12525¢

000010
010276

177525
010282

052528

=7b__19:29 PRGE S3-34

00043¢

000432

s HRHERE R RN R AR R R R R R R AR
125252 125252 SHIFTED BY (3)+ = 177525 S2SeS PS = 10

I TEST: 212

sRRRRERREREFREREERERANEREREARRERRERARERRRARERARERERRRRERERRBRFRARERES

TST212: SCOPE!
MOV

18:

MOV
CLC
RSHC
MFPS
. WORD
cMPB
BEQ
JSR

124
cHP
BEQ
JSR

185
CMP
BEQ

JSR

126
CMP
BNE
INC

8125252, %0
8125252, %0!1

(3)+.%0
38PSWORD
106700 . .C
210, I8PSWORD
18

PC,SHLT

#17752S, %0
.+10
PC,SHLT

#525¢25,°:0! 1
.+10
PC,SHLT

(RS), 8212
13
(RS)

iLORD RO WITH 126252
;L0RD RO’ WITH 125252

;SHIFT RO,RO!'1 BY (3)+
:SAVE PS

;IS THE PS 107

:SEEN AN ERROR, €0 10 TH “ALT ROUTINE
:THE PS 1S NOT'EGUAL TO 10

; IS THE RESULT 177%25?

+SEEN AN ERROR, GO TO TH HALT ROLTINE
‘RO IS NOT EQUAL TO 177525

:1S THE RESULT 52525?
:SEEN AN ERROR, GO TO TH MALT ROUTI
'ROT1 IS NOT EQUAL TO 52525 OR INCO

1S THE STESTN = 82127
:1F NOT YHEN GO TO HLT ARBOVE

NE
RRECT SEQUENCE

R RRARETEF IR R R R R RERE R R AR RER
125252 125252 SHIFTED BY -(3) = 17752S S252S€ PS = 10

; TEST:213

JREREREREEXRELEREERERRERARRRERERERREEREEREREREERREREXRERFRERRREERE S

TSTel13: SCOPEL
MOV

18:

MOV
CLC
RSHC
MFPS
. WORD
CMPB
BEG
JSR

127
cMP
BEQ
JSR

130
cHP
BEG

$125252, 0
812525¢, %01

-(3),%0
28PSUORD
106700"..C
810, J8PSWORD
.+10

PC,SHLT

8177525, %0
.+10
PC,3HLT

#525¢5, 70! |
.+10

iLORD RO WITH 125252
;LORD RO!1 WITH 125252

; SHIFT RO,RO!1 BY -(3)
;SAVE PS

; IS THE PS 107

; SEEN AN ERROR, GO TO_TH HALT ROUTINE
; THE PS IS NOT EQUAL TO 10

;1S THE RESULT 177525?

:SEEN AN ERROR, GO TO TH HMALT ROUTIME
‘RO IS NOT EQUAL TO 177525

: IS THE RESULT 52525°?

SEQ 0036




OVKRBA MACY1l 27(732)
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DVKABA.

(3)
(3)

'd P N
opapaspapal,)
N S N s

SRC

006636

006E42
Q06E4Y
006650
00eeS2

004767

000131
021527
001372
00sels

24-AUG-7E

010246

000213

15:29 PAGE 53-35

PC.SHLT

(RS), 8213
18
(RS)

LO3

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;RG!L IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

1S THE STESTN = #213?
. 1F NOT YHEN GO TO HLT ABOVE

SEQ 0037
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o oY ; 12222322222 RSS2 22822222222
(1) P TEST: 214 126262 125262 SHIFTED BY 2(4) = 177262 126252 PS = il
( { ; s BRI T I I3 00 3 290 I 3303806 38 00390 96 9 36 30 38 36 00 38 30 38 90 3% 90 30 30 36 30 36 36 30 30 30 96 30 00 36 %t 94 2 X #
t
(1) 0066SY 010701 TST214: SCOPE!
(1) 006656 012700 125252 MOV 8125252, %0 -LOAD RO WITH 125252
(1) 0066be 012701 125252 MOV 21950827011 ;LORD RO!I WITH 125252
1) 006666 000241 CLC
(1) 006670 073064 000002 ASHC  2(¥),%0 :SHIFT RO,RO'1 BY 2(4)
(2) 006674 MFPS  S#PSWORD : SAVE PS
(2) 006674 106737 .WORD  106700!..¢
(1) 006700 122737 000011 000432 CMPB  #11, J#PSWORD ;1S THE PS 117
1) 006706 001403 BEQ .+10
(3) 006710 004767 010174 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 1l
(3) 006714 000132 132
(1) 006716 022700 177252 CHP 8177252, %0 :1S THE RESULT 1772527
(1) 006722 001403 BEQ .+10
(3) 006724 004767 D10160 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EQUAL TO 177252
(3) 006730 000133 133
(1) 006732 022701 125252 CMP $125252,%0'1 ;IS THE RESULT 125252”
(1) 006736 00IN03 BEQ .+10
(2) 006740 1S:
(3) 006740 004767 010144 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) tROTL IS NOT EQUAL TO 125252 OR INCORRECT SEGUENCE
(3) 006744 000134 134
(1) 006746 021527 000214 CMP (RS), 8214 -1S THE STESTN = #2147
(1) 006752 001372 BNE 18 :IF NOT YHEN GO TO HLT RBOVE
EH 006754 005215 INC (RS)
(1)

6963 : 336 3 333 3 3 3 3 9 3 3 3 33 3 3 3 3 33 9 3 3 3% 33 3 3% 33 3% 3% 3% I35 %% %X %K EEEEFEEEEEEEEEE %% EEE I
(1) s TEST:215 125252 125252 SHIFTED BY a(4) = 177525 52525 PS = 10
(1) ; 33635303 3 3 333 3 363 %33 9 3 333K %K KKK EEEREEEEEREEEEEEEEEEEEEEEEEEEEREEE |
(1)
(1) 00756 010701 TST215: SCOPEIL
(1) 006760 012700 125252 MOV #125252, %0 .L0OAD RO WITH 125252
(1) 00e764 012701 128252 MOV 8195252) %001  ;LORD RO!I WITH 125252 |
(1) 006770 000241 cLC
(1) 006772 073074 000000 ASHC  d¢4),%0 -SHIFT RO,RO!'L BY 3(4¥)
(2) 006776 MFPS  %PSWORD :SAVE PS
(2) 006776 106737 _WORD  106700!..C
(1) 007002 122737 000010 000432 CMF8  #10,asPSWORD ;IS THE PS 107
(1) 007010 00I403 BEJ .+10
(3) 007012 004767 010072 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 10
(3) 007016 000135 135
(1) 007020 022700 177525 CHP 177525, %0 . 1S THE RESULT 1775257 |
(1) 007024 001403 BEQ .+10
(3) 007026 004767 010056 JSR PC, SHLT :SEEN AN ERROR, GO TO TH MALT ROUTIME
(3) tRO IS NOT EQUAL TO 177525
(3) 007032 00C136 136
(1 007034 022701 052525 CMP 52525, %0! | .15 THE RESULT 52525°
(1) 007040 001403 BEG .+10
(2) 007042 13:
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(3) 007042 004767 010042 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3 'ROT1 IS NOT EQUAL TO 52525 OR INCORRECT SEGUENCE

(3) 00704 000137 13?7

(1) 007050 021527 000215 CHP (RG), 8215 -1S THE STESTN = 32157

(1) 007054 001372 BNE 18 ;IF NOT YHEN GO TO HLT RBOVE

?H 007056 005215 INC (RS)

(1)
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15:29 PRGE 53-38
STS

BO4

(R RN R RN R R AR RN RN AR AR HR AR RN AR RN AR 2SS

:TEST: 216
g T T T T P T e

TST2le: SCOF_.
MCV

18:

*35 ¢ B3z gB3E ¢

INC

125252 126252 SHIFTED BY J(4)+ = 177525 SeSeS PS = 10

8126252, %0 .LORD RO WITH 125262

812S252.%0'1  :L0RD ROVI WITH 125282

3(4)+ %0 -SHIFT RO,RO!'1 BY (4 +

38PSWHORD :SAVE PS

10670C!. .C

-1?°acpsuono .15 THE PS 107

PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTIMNE
:THE PS 1S NOT'EQUAL TO 10

aizgsas.zo .16 THE RESULT 177%26°

PC,SHLT -SEEN AN ERRCR, GO TO TH HALT RCUTIMNE
RO 1S NOT EGUAL TO 17782%

c%?gZS.ZO!l IS THE RESWLT S252%°

PC.SHLT :SEEN AN ERROR, GO TO TH H&LT ROUTI.E
:RGT1 IS NOT EQUAL TO 52625 OR INCORRECT SESJENCE
(RS, 8216 -15 THE $TESTN = 8216
%as +1F NOT YHEN GO TO HLT RROVE
)

53 s tald el il s st el sesddldeltssiasslesdtlatildssissdadolostialadsss

; TEST: 217
R ERRERRR SRR R R R RN R AR E R AR E R R AR AR F RN R R RRRR R AR RE AR R R D

TST217: SCOPE!
MOV

18:

1252C2 125262 SHIFTED BY &-(4) = 17782S 82528 PS = IC

8125252, %0 -LORD RO WITH 1252S2

8125252 :0'1  ;LORD ROVI WITH 125252

a-(4), %0 :SHIFT RO,RO'1 3y g-.+4.

32°SWORD :SAVE PS

106700 . .C

.igba-psuoao .15 THE PS 10?

PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 10

.izgsas,za +15 THE RESULT 1775257

PR ( :SEEN AN ERPOR TO TH HALT ROUTIMNE

GO
‘RO IS NOT EQUAL TO 177525

l§§825.Z0!1 ;IS THE RESULT 52525”
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CVKABR. SRC RSHC INSTRUCTION TESTS |

? 767 007EM R PC,SHLT  3EEN A ERROR, GO 19 TH bALT ROUT
007242 O047B7 DOTEN2 75 H BBy 1o NoT eauR 12 1528 Ta thideRect seavence

007246 000145 145
007 gxgy 000217 CMP (RS), 8217 né THE EST = 82177
§ 1372 18 < 1F NOT twEN sc T ABL

)

LR/

BNE
007256 00S21S INC (PS)
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lalalatal T N
it et e N’ ol att wl P

gggmmmm
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CVKRBA. SRC ML INSTRUCTION TESTS

( (ERERRFRRRRR AR RRRERRRRERDERERS

ré : MUL INSTRUCTION TESTS

T Ql!lIlill“lllllllliill!lllllli
60T
6075
gg:.é

o f
50?8 lllill!lil!llillllllilllllllllll!llllll{l!lll!lllllllllll!lllllllli’
(1) : TEST: 220 MUL 1#80=00 PS = Y4

{1 llll!lllliilllIlllllll!l!Illlilllllll!lll!fllll!lllilll!lf!!lllfllll
1)

(1) 0g7es0 Q10701 1ST220: SCOPE

1) 007c6e 012700 00000 MOV 81,70 :LOAD MULTIPLICAND WITH 1

1) 0CTess 070027 000000 MUL ) w ‘MULTIPLY | & 30

@) DO7ere MFPS  JsPSH :SAVE PS

2) 007272 106737 ) . HORD 106?00' .C

(1) 007276 122737 D0O00OOM J00432 CMPE 84, 9sPSWORD 1S PS =

(13} 007308 001403 BEQ .+10

(3) 007306 004767 007576 ISR PC,SH.T SEEN AN ERRCR, GO TO TH HALT ROUTINE
(3) :FS IS WRONG

:3) 007312 000146 146

:1) 007314 022700 000000 CHP 80, %0 1S HIGH ORDER = 0

(1) 007320 001493 8£0 +12

(3) 007322 004767 007Sk2 JSR PC,SHLT :GEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG

:3) 007326 00OIN? 147

(i) 007330 022731 0000CO cMP 80, %0'1 1S LOW ORCER = 0

(1) 007334 001403 BEG .+10

(2) 007336 18:

(3) 00733 00N767 007546 ISR PC,SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
(3) :L0W ORDER IS WRONG OR WRONG SEQUENCE
(3) 007342 00015 150

(1) 007344 02i527 000220 CHP (RS), 8220

(1) 09730 001372 BNE 18 -IF IN WRONG SEQUENCE GO TO THE MLT RBCVE
&3 007362 005215 INC (RS:

1)

+

o e — ———
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MUL INSTRUCTION

000001

000010
007502

\777277
007466

177777

007452

000221

b
TES

000432

15:29 PAGE S53-4l
1S

- - — o — —

EO4

; BRERBRER SRR EE R EHHHHEHHHHHHHHHHHHHH I 8 88
MUL -1 %8l z-] -] PS z 10

s TEST: 221

RESRRRRFRRFRERBRERARFRERRERRREEREREEEFEEETERREREE RS HHEHE IR A2 23

TSTeel: SCOPE
MOV

18:

MUL
MFPS

. WORD
cHPs

BEQ

PC,SHLT

s-1 %0'1
+10

PC.SHLT

(RS), 8221
13
(RS)

+LORD MULTIPLICAND KITH -1
;HULTI;%Y -] & 8]

:SAVE

+IS PS = 10

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

; IS HIGH ORDER = -]

;SEEN AN ERROR, G0 TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

;IS LOW ORDER = -1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEGUENCE

:IF IN WRONG SEQUENCE GO TO THE MLT RBCVE
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DVKABR. SRC

X
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007450
5e

iﬁ;:é%
007462

ok

00747M
007476

010701

800002

0000C0 000432
007406

00000C
0C7372

000004
0073S¢e

00022¢

ML NS TRUGTISN Tesiarel PRAGE S3-42

FO4

;HEERERERRERARER AR RAEHE R EEE HH AR AR HHHHHHHH 5 #3

: TEST: 222 MUL 2482204 PSs0
llllllillll!!lllii!l!llll!{l!Illlllllll’lllli!!l!l!lllll!lllllllll!’
TST222: SCOPE
MOV :s,y MULT PLxcnno NITH 2
MUL % MOLTIPLY
nrpgo ?cﬁguogo ;snvs PS
ggga o??gggéﬁbSD -ISPS =0
ISR PC,SHLT ;sgzn AN ERROR, GO TO TH HAL™ ROUTINE
5y :PS IS WRONG
CHP 80, %2 .15 HIGH ORDER = O
BEQ .+10
JSR PC,SHLT :SEEN AN ERROR, 30 TC TH HALT ROUTINE
e 'HIGH ORDER IS WRONG
CHP 84, %21 15 LOW NRDER =
s BEGQ .+10
| JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTIME
5 :LOW ORDER IS WRONG OR WRONG SEGUENCE
(O o (RS), 8222
?ng %55) :IF IN WRONG SEQUENCE GO TO “HE HLT ABCVE

SEG CCu
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DVKRBA. SRC MUL INSTRUCTION TESTS

5381 : FHARRREFREEFRRABRERAR R BRERARR AR RE R AR B AL BRE R RN RAR AR RRE RS
1) ' TEST: 223 MUL 1000 # 8200 = 1 0 PS = |

o1l (RERERRRER PR RERRRERREFRRERS SR BB R A RARRERERE AR RA AR BRE AR ERES
(1)

(1) 0075¥4 010701 TST223: SCOPE

‘1) ocrs;s gxo 01 MOV RE 36 : SA

.13 007850 012704 001000 mov 81000, ;LORD MULTIPLICAND WITH 1000

(1) 00TSSM G0r0N27 000200 MUL 8200, 74 ‘MULTIPLY 1000 # 8200

2 007880 MPS  JsPSLORD :SAVE

.2) 007Sel 106737 .WORD  1067CC'..C

(1) 007SEM 122737 000001 000432 CMPE 81, 98PSWORD ;15 PS = |

1) 037572 001403 BEQ .+10

.3) 007574 004767 007310 ISR PC,SHLT :SFEN AN ERROR, GO TO TH HALT ROUTINE
.3 :PS 1S WRONG

(3} 007600 DOCIS? 157

1) 0C? 02704 000001 CHP 8], 4 .15 MIGH ORDER = |

(1) 007606 001403 BEQ +19

(3) 007610 0QMTE? 007274 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :HIGH ORDER IS WRONG

(3, 007BI4 0O0i6D 160

(1) 0076le 022705 DOCOOO CHP 80, 74!, .15 LOW ORDER = 0

(1) 007622 OCIN03 BEQ .+1o

.2, 007624 18:

(3) 007624 004767 007260 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3} :LOW ORDER IS WRONG OR WRONG SEQUENCE
:3) 007630 0001 u#

(1) 007832 Q21127 000223 3 (R1), 8223 . CHECK THE TEST NUMBER

(1) 007636 001372 BNF 18 IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007640 0I010S MOV R1.RS :QESTORE RS

1) 0C7842 005215 INC (RS

(1.
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 DVKARBR MACY1L 2'.'(73?} 2u-AUG-7 18:29 PAGE 53-44 SE2 ICeE
DVKABRA . SAC MUL INSTRUCTION Teet

6082 (RRREREBERRRREER R AR ERREERPRF AR R R AR ERRERRRRRRBERERRERAR LR 224 S
(1) : TEST: 224 MUL 2 % 977777 = 0 177776 PS = |

(1) R 2222221222222 2222222222222 222222222 22222 22222 22222 1222222 22)
(1)

(1) 00764 010701 TST224: SCOPE

(1) 00TE4e 012700 000002 MOV 82, %0 ;LORD MULTIPLICAND WITH 2

1) 007652 070027 Q77777 MUL 877727, %0 MULTIPLY 2 & 877777

(2) 007656 _ MFPS  JEPSWORD :SAVE PS

2} 007E%6 106737 .WORD  106700!..C

1 Bereke 122737 0000CI 000432 CMPB 81, JsPSWORD ;IS PS = 1

1) 007670 (0G1403 BEQ .+10

.3) 007672 DO4767 007212 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
.33 :PS 1S WRONG

.3) 0C7676 000162 162

(1) 037700 022700 000000 CMP 20,0 ;1S HIGH ORDER = 0

1) 007704 001403 BEQ .+10

(3) 007706 DO4767 007176 ISR PC SHLT :SEEN AN ERROR, &0 TC TH HALT ROUTINE
(3) ‘HIGH ORDER IS'WRONG

(3) 007712 DO0163 163

(1) 007714 022701 177776 CHP 8177776,%0!1 ;1S LOW ORDER = 177778

(1) 007720 001403 BEG .+10

(2) 007722 18:

.3) 007722 004767 007162 ISR PC.SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
'3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
:3) 007726 D001EM 164

(1) 007730 Q21527 00C224 P (RS, , 8224

‘) Q977 01372 SNE 18 ;IF IN WRONG SEGUENCE GO TC THE HLT ABOVE
1) 00773% 0sels INC (RS)

\*

4
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DVKABR. SRC MUL INSTRUCTION TESTS
6083 CRERERRA R RREER AR AR AR ER AR AR RE AR AR RE RN AR AR RERANARERARRERERD
(1) Tzsraas MUL 7777 & 810 = 0 77770 PS =0
(1) I!!!!I!lllllllIllllll!lliHlIlllll!lllll!llllllllill!l!i'll{liilllll
(1)
(1) 007740 010701 TST225: SCOPE
(1) 007742 012702 007777 MOV 87777, %2 Lono MULTIPLICAND WITH 7777
(1) 0077946 070227 000010 MUL 810, 78 TIPLY * 810
.2 00775 PSS  J8PSWORD ;snvs PS
2, 007788 106737 _WORD  106700!..C
13 007756 122737 000000 000432 CMPB 80, 98PSWORD .15 PS = 0
k 007764 001403 BEQ .+10
.3) 007766 004767 007116 JSR PC,SHLT ggs?snﬁnezéon GO TO TH HALT ROUTINE
007772 00016S 165
Q07774 022702 000000 CHP 80,2 1S HIGH ORDER = 0
010000 001403 BEQ +10
013002 004767 007102 JSR PC,SHLT .SEEN AN ERROR, 30 TC TH HALT ROUTINE

;HIGH JROER IS WRONG

(el and anl ol o PUINT AN (a8 Ll o ONTON TN TS VR PN T PW TN TR S §Y 4 V1S Sy Sy oy ey

Vet Nt Ut W N Vet Y N N? e Nt et Vel et n? vl el ot d et ot -

.3) 010006 0001bb 166

(1) 010010 022703 077770 (M 877770,%2'1 ;IS LOW ORDER = 77770

(1) 0i0014 001403 s BEG  .+10

(3) 010016 004767 00708 ISR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

g . ;UK ORDER T8 LRONG OR LRONG SEQUENCE

(3) 010022 000167 167

1) 010024 021527 00022% ¢ (RS) , 8225

(1) 010030 001372 SN S ;IF IN WRONG SEQUENCE GC TO THE HL™ ABCVE
(1) 010032 005215 INN (RS

(
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DVKRBR. SRS MUL INSTRUCTION TESTS
08« 233382332122 22 2322232212 T 2 a2 22 22 222 )]s 2)
e TEST: 228 MUL 77777 % 877777 = 37777 | PS = |1
) ;!ll{liil{!«lllli!!lll!l!llli!llIlllill!lIliil!lll!lll!llllll!l!ll{ll’
(1)

(1) D100 010701 TST226: SCOPE
1) GI003 (010501 MGV RS. R : SAVE RS
(1) 010040 012704 077777 MOV 870777, 74 :LORD MULTIPLICAND WITH 77777
J1V DIO0MN  O70M27 077777 MUL 87777774 MULTIPLY 77777 » 877777
2 0:30 MEPS  JsPSWORD : SAVE
.23 0l 106737 .WORD  106700'..C
(1) DI00S8 122737 000001 000M32 CMPB 81,2 8PSWORD 1S PS = |
V1) 010062 001403 BEQ .+10
.3) 010064 004767 007020 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
. 3) :PS IS WRONG
(3) 010070 000170 170
1) 010072 022704 037777 CHP 837777, %4 : 1S HIGH ORDER = 37777
(1) 010076 001403 BEQ .+10
.3) 010100 0Q47e7? 007004 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) HIGH ORDER IS WRONG
3) 010104 000171 171
(1, 010106 022705 00000! CMP 8l 7411 .15 LOW ORDEP = |
(1) 010112 001403 BEG .+10
(2) 010114 is:
.3) 010114 OO47&” 006770 ISR PC,SHLT :GEEN AN ERROR, GO TC TH HALT ROUTINE
‘3] :LOW ORDER 1S5 WRONG OR WRONG SEQUENCE
.3) 010120 000172 172
(1) 010122 021127 000228 £MP (R1), 8226 .CHECK THE TEST NUMBER
(1) Qlolee 001372 BNE 18 :1F IN WRONG SEQUENCE GO TG THE HLT RBOVE
.1y 010130 015108 MOV R1.RS :RESTORE RS
1) 010132 00s2ls INC ‘RS
4

-—— e —
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OVKRBA. SRC MUL INSTRJSTION TES

608S ; FRERERFREEREREARERERARERERBRERRREREERREERSERRRRRERERAERERRREERERERE R
D TEST: 227 MUL -1 % 77777 = -1 100001 PS = 10
(1) s REREREEERRERERERERERRE RS A EEEE AR ERER AR EERE R R EFERER AR AR REREEEE
(1)
1) 818134 810?01 TST227: SCOPE
(1) 0108i3 012702 177777 MOV 8-1,%2 :LOAC ™ULTIPLICAND WITH -1
(1) Q10l42 Q70227 077777 MUL 877977, %2 ‘MULTIPLY -1 » 877777
) 81014& MFP 3P ugho : SAVE PS
2} 010I4 106737 JWCRD  106700'. ¢
(I) 0I01s2 122737 0000I0 000432 CMPB #10,38PSWORD ;IS PS = 10
(1) 010160 001403 BEQ .+10
(3) 010162 DO4767 006722 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS IS WRONG
(3) 010166 000173 173
(1) 8181?0 702 177777 CHP -1,%2 :1S HIGH ORDER = -1
‘1) 010174 1y BEu .+18
(3) 010176 0ON767 006706 JSR PC,SHLT -SEEN AN ERROR, GO TG TH HALT ROUTINE
(3) ‘HIGH ORDER IS’ WRONG
(3) 010202 00017 174
(1) 0102084 022703 100001 CMP #100001,%2'1 ;IS LMW ORDER = 100001
(1) 010210 001403 BEGQ .+10
(2) 010212 18:
(3) 010212 004767 006672 ISR PC,SHLT :S_EN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
:3) 010216 000L17S 175
1) 010220 021527 000227 CMP (RS), 8227
(1) 010224 001372 SNE 18 :IF IN WRONG SEGUENCE GO TO THE HLT ABOVE
(i; 010226 005215 INC (RS)
)
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DVKABRA. SRC MUL INSTRUCTION TESTS
6086 SRERERRERERRRRREERPRRERFRRBARRRRRRRRERRRERRRRRRRRRHRRR R R RRRRRR RN S
- - TEST:230 MUL -2 % W77777 z -1 2 PS = 11
H REREEREETIEIRERTER R E T REEEEEN R E TN E R TR R EEREEEEEEEEEEE LR
010230 010701 TST230: SCOPE
Ci0e32 012700 177776 MOV 8-2.%0 LOAD MULTIPLICAND WITH -2
010236 070027 077777 MUL 877277, %0 sMULTIPLY -2 ¥ 877777
010242 MFPS  J8PSWORD :SAVE PS
010242 106737 .MORD  106700!..C
010246 122737 000011 000432 CMPB  #11,38PSWORD  :IS PS = Il
010254 001403 BEQ 410
010256 004767 006626 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTIME
:PS IS WRONG
010262 000176 176
010264 022700 177777 CMP -1,%0 + 16 MIGH ORDER = -1
001403 BEG .+10

004767 006612 JSR PC,SHLT ;SEEN AN ERROR, GO TC TH HALT ROUTINE

‘HIGH ORDER IS'WRONG
010276 000177 177
010300 022701 000002 CMP 82,701 :1S LOW ORDER = 2
010304 001403 BEQ .+lo

010306 18:
0306 004767 0065786 JSR PC,SHLT ; SEEN AN ERROK, GO TO TH HALT ROUTINE

;LOW ORDER IS WRONG OR WRONG SEQUENCE
gl? 000200 c0d0

14 021527 000230 cMP (RS), 8230
0320 001372 SNE 13
0322 005215 INC (RS)

; IF IN WRONG SEQUENCE GO TO THE HLT RBOVE

AN TN TN NSTNS N ININSTNSTN PN IS PSS S s P s s e e e~ —
e 0 9 0 0 G () GO U 0= 8 ) G ) = b € ) L) €D == #— PO 4 0 b pe pe b
Nt Nt e ? Nt Nt Nt vt et ) Nt Nt Nl ntt et St e Ve ntl Nt Nt o nh ol Ul Nl gl NP Ne?

0o

o po

N

n
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DVKABA. SRC MUL INSTRUCTION TESTS

6087 JEERRRRERER nuuunuiuuuuunuuuunnunnurnnnnnn
(1) ' TEST: 231 MUL 126252 # 82 = -] 52524 PS = 11 |
(1) ***!*! 3369 36 3 36 36 3% 96 3¢ b 96 6 36 3 96 3 36 3 3 96 36 9 36 3 3 3 3 3 3 3 9% 3 3 3 9 3 % 3 38 3 2 3 3% % 3 % % 33 3% % % %% %% % %R
(1)
(1) 010324 010701 TST231: SCOPE
(1) 010326 012702 125252 MOV oxasasa %2 :LORD MULTIPLICAND WITH 125252
(1) 010332 070227 000002 MUL %2 'MULTIPLY 126252 * #2
(2) 010336 MFPS aa#suoao :SAVE PS
(e) 010336 106737 LWORD  106700!'..C
(1) 010342 122737 000011 000432 CMPB  a11, 8PSWORD .15 PS =
(1) Gl03s0 001403 BEQ +16
(3) 010352 0047E7 006532 JSK PC SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
3) 010356 000201 20!
(1) 010360 022702 177777 CMP 8-1 72 :1S5 HIGH ORDER = -]
(1) 010364 001403 BF .+10
(3) 010366 004767 006516 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) 'HIGH ORDER IS’ WRONG
(3) 010372 003202 202
(1) 010374 022703 052524 CMP 852524, %2 1 1S LOW ORDER = 52524
(1) 010400 001403 BEQ .+10
(2) 010402 18:
(3) 010402 004767 006502 JSR PC,SHLT :SEEN AN ERROR, GO TO TH WALT ROUTINE
(3) +LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010406 000203 203
(1) 010410 021527 000231 CMP (RS), 8231
(1) 010414 001372 SNE 1$ :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
5%3 010416 005215 INC (RS)
(1)
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DVKRBR. SRC MUL INSTRUCTION TESTS

6088 : BEREEHREEEETE R 33393 3 9 T 33333 3303696 3 363 38 3% 38 36 96 36 36 3 308 25 30 30 36 30 30 30 3 3 96 3% 36 3 3 3% 3% % 3 %
(1) - TEST:232 MUL 125252 & s40000 = 165252 100000 PS = 11
(1 ;l{llil!!lllli!i«liii!!li*l*i*!lI'li!iil*llilli«l!l!lllllll!ll!ill!il!il
(1)
(1) 010420 010701 TST232: SCOPE
(1) 010422 010501 MOV RS, RI :SAVE RS
(1) Q10424 012704 125252 MOV #125252, %4 s 0AD MULTIPLICAND WITH 125252
(1) 010430 CiCs¢2~ 040000 MUL £40000, %4 'MULTIPLY 125252 # #40000
2) 010434 MFPS  98PSWORD ' SAVE PS
(2) 010434 106737 JWCRD  106700'..C
(1) 010440 122737 00001l 000432 CMPB 11, d#PSWORD .15 PS = 11
(1) D104 00!IN03 BEQ .+10
(3) O0104Su 004767 006434 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
. 3) :PS IS WRONG
(3) 010454 000204 204
(1) 010456 022704 165252 CMP 8165252, 74 . 1S HIGH ORDER = 165252
(1) 010462 001403 BEQ .+10
(3) 010464 004767 008420 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WJRNNG
(3) 010470 000205 i ong
(1) 010472 N2270€ 1CCLLS CMP £100000, 74! 1 .15 LOW ORDER = 100000
‘1, 01047 £91403 BEN +10
(2) 010s00 18:
(3) 010500 004767 0DOB4O4 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOM ORDER IS WRONG OR WRONG SEQUENCE
(3) 010504 000206 206
(1) 010506 021127 000232 CMP (R1), 4232 .CHECK THE TEST NUMBER
(1) 010512 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010814 CI1010S MOV R1,RS RESTORE RS
(1) 010516 005215 INC (RS )

J

(1)
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cVRIBR  WACYIL 27.732) 24-RUG-! ’ESTg :29 PAGE S3-51

DVRABR. SRS MUl INSTRUCTION

6:89 : SRS A A2 RREE ARSI NERBERRNAARVEREFRE A2 20540 0002
1) :TEST: 233 ML 107070 # 810707C = 31222 26100 PS = |
D ;lll!!llllll $855535 0552040403000 00000000000 RN 0002230200000
1)

(1Y 910820 010701 TST233: SCOPE

1} 013822 0le: 1070 MCY 107070, %0 MULTIPLICAND WITH

1 010856 ? 1070 MUL 81070700 muLTIPLY 107C70 # 81070

2 0.3 MFPS  98PSWORD .savz PS

2y CiXX30 108737 JWORD  106700!..C

(1) 0:2536 122737 000001 DOO432 CMPB 8], J8PSHORD .15 PS =

i O1°6Ws 0014 BEQ .+10

.2y 01X+ 00M767 006336 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROLTINE
3 :PS IS WRONG

.30 010882 woggg 207

.1} 3088y g2g! 031222 P maaa %0 .15 HIGH ORDER = 31222

‘1) C10580 001403 an +:0

.3) 010Se2 OON767 006322 ISR PC.SMLT -CEEN AN ERROR, G0 TO Th HALT ROUTINE
3 ‘HIGH R IS WRONG

t3) Di0SeS 000210 210 )

(1) DIE?0 022701 026100 CHP 82610C. %0!1 : 1S LOW OROER = 26100

‘1) D0IDS74 001403 BEQ .+10

(2} 01%%7% 18:

(3) 010576 004767 006306 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
) :LOW ORDER IS {aonc. OR WRONG SEQUENCE
30 010602 000211 211

1) 010604 021527 000233 s (RS, 8233

(i) DIOBID 01372 SNE i :IF IN WRONG SEQUEMNCE GC TC "ME M. T RBCVE
.;5 0i1d612 0205215 ING RS,
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JVKRBA., SRC MUL INSTRUCTION TESTS

6090 ;RERR RN AR AR RN RR R R RARRE R ER AR RN R R RBR AR AR RA AR 240
) s TEST: 234 MUL -l 48] s-] -] PS = 10

(D (RERRERRARERERRERARRERRERERER AR R R RN AR R A HE B AR AR R A RS
1)

(1) gigely 010701 TST234: SCOPE

) 012616 012701 177777 MOV 8-1,%1 sLORD MULTIPLICAND WITH -1

;1) 010822 070127 00003! ML 81,71 sMULTIPLY -1 # 81

2 010626 MF J8PSHORD :SRVE PS

) 012626 106737 : 1067001, .C

Y 010632 122737 0000IL 000432 CMPB~ 810, 38PSWORD ;1S PS = 10

i) DI1064C 001403 BEQ .+10

3} 010642 004767 006242 173 PC,SHLT :SEEN Ry ERROR, GO TO TH HALT ROUTINE
.3) :PS 15 WRONG

.3) 01064 000212 212

(1) 010650 02270l 177777 CHP 8-1,%1 ;IS HIGH ORDER = -1

1) 010654 001403 BEQ .+10 )
(3) 010656 DON7E7 006226 ISR PC,SHLT ;SEEN AN ERROR, 30 TC TH HALT ROUTINE
(3 ‘HIGH ORDER IS WRONG

(3) 010662 0GO213 213

(1) Qi0ekd  Oee70L 177777 CMP 8-1,%11] ;1S LOW ORDER = -]

1) 010670 001403 BEQ .+10

(2) 010672 18:

.3) 010672 004767 0062!2 JSR PC,SHLT ;SEEN AN EPROR, GO TO TH HALT ROUTINE
(3 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010676 000214 214

(1) 010700 021527 0C0234 cM (RS}, 8234

(1) 0107 00i372 SN 18 :1F IN WRONG SFQUENCE GC TO THE WLT ABCVE
4} DIT706 D0S2LE INC (RS

1)




DOS

DVRRBA MACYILl 27(T32) 24-AUG-TH 15:29 PRGE 53-53 SEG 00SS
SVRRBR. SRC MUL INSTRUCTION TESTS

8091 : FHERERER AR P REREE RN RAEE RN E R AR RRBEERER RSN RRERIBRERARERARRARA2S
1) :TEST; 235 MUL -1 #80z200 PS = M4

n ;ltllI'Illl!llI!Il!Illll!ll"lllll!lll!llllllllllllllilllll!lllllIllli
(1)

(1) 010710 010701 TST235: SCOPE

(1) 013712 012703 177?77 MOV .-1,7%3 :LORD MULTIPLICAND WITH -1

1) 010716 070327 0G0000 MUL 80,73 ;runpgv -1 & 80

.2) 01C7ee MFPS  J#PSHORD :SAVE P

.2} 010722 106737 .WORD  106700!..C

(1) 010726 122737 0000CH 000432 CMPB 84, 98PSWORD 1S PS = 4

1) 01073 00103 BEQ .+10

v3) 010736 00M767 006146 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS 1S WRONG

.3) 010742 000215 215

(1) CI0744 022703 000000 CHP 80, 3 . 1S HIGH ORDER = O

1) 010750 001403 BEQ .+10

(3) 010752 0ON767 00B132 SSR PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
(3) HIGH ORDER IS WRONG

(3) 0107S6 000216 216

(1) 010760 022703 000000 CHP 82,73'1 .15 LOW ORDER = 0

(1) 010764 0OI403 BEG .+10

(2) 010766 18:

.3) 01076 008787 006116 JSR PC,SHLT «GEEN AN ERROR, GO TO TH HALT ROUTINE
&) :LOW ORDER 15 WRONG OR WRONG SEQUENCE
3} 010772 000217 217

1) 010774 021827 000235 Cmp (RS, 8235

(1) 011000 001372 SNE 18 :1F IN WRONG SEGUENCE GO TO THE HLT RBCVE
;;i 011002 20521§ ING (RS)

“d

(a)

A e b - ——— i ielae &
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MUL INSTRUCTION TESTS

Q77777
100000

000011
00e2sC

100000
006034

100000

006020

000236

15:29 PRGE S53-5M

—— - ——

EOS

(RN RS R R REER AR R AR AR EERERERERARERRRRARRARERREABEHRR AR EE RN S $ 5

1 TEST: 236

77777 # 8100000 = 100000 !

Fo =11

l!!i!ilﬂllllllillll‘lllllll!lll!lllllllll!lll!lllll’llillllll!l’lllliil

TST236: SCOPE
MCV

MOV
MUL
MFPS

. WORD
cHPB
BEQ
JSR
220
CHP
BtQ
JSR
gal
% 4
BEG
JSR
2ee
cHe
BNE
MOV
INC

00CH432

prru .
8100000, %5
38PSWORD
106700!..C
011 S8PSKORD
+10

PC,SHLT

8100000, <5
.+10
PC,SHLT
8100003, “S!!
.+10

PC,SHLT

: IS LOW ORDER =

SAVE RS
LOQO MULTIPLICAND WITH 77777
:MULTIPLY 77777 & 8100000
:SAVE PS

(IS PS =

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

; IS HIGH .QOER = 100000

;SEEN AN ERROR, GO TO TH MALT ROUTT £
:HIGH ORDER IS’ WRONG

100000

-SEEN AN ERROR, GO T0 TH HALT ROUTINE

:LOM ORDER 1S ﬁnonc OR WRONG SEQUENCE
- CHECK THE TEST NUMBER

:1F IN WRONG SEGUENCE GO T2 THE MLT ABOVE
. RESTORE RS
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OV nncvxx b 2 PAGE 53-55 SEG 00S7
B A INsTROCTISN Feste’

5093 X222 2212222222222 IR IR IS RIE ISR S S 2 S
1) :TEST: 237 MUL -1 » 877777 = 100201 100001 PS = 17
N (R ARRERERERER R R R SRR RERRARER AR RER DR R AR LRNASLES
(1)
1Y 01110 010701 TST237: SCOPE
1) 011106 012701 177777 MOV 8-1,%]1 Lono MULTIPL ICAND uxru -1
(1) Q0l1ile Q070127 Q77077 MUL 877977 %l TIPLY -1 & 877777
S RHE 1062 mhs ity SAve #5
W& N
1) 611155 13373; 000010 300432 s L] UB gobsugno .15 PS = 10
1) 011130 90ING3 BEQ ¢1b
:3) 011132 OOM787 0QS7S2 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HAL™ ROUTIME
.3 :PS IS WRONG
.3) 011136 000223 223 A
(1) 011140 0e22T01 100001 CMP $103C01,".! .15 HIGH GRDER = 100001
(1) Q11144 O0I4C3 BEQ .+10
(3) OlliN6 004767 005736 JSR PC,SHLT SEEN AN ERROR, &0 TC TH HALT ROUTINE
(3) ‘HIGH ORDER IS WRONG
(3) D11152 000224 224
(1) 011154 022701 100001 cHP $10C001,%1'1 ;IS LOW ORDER = 10000l
(1) 0l116G 0OI4C3 8EQ .+10
(2) 011162 18:

(3) 011162 004767 005722 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) :LOM ORDER IS anonc OR WRONG SEQUENCE

(3) 0I1166 000225 225

(1) 011170 021527 000237 CMP (RS), 8237

(1) DL1l7« 001372 SNE 18 :1F IN WRONG SEQUENCE G0 TO THE HLT ABOVE
Ei} 011176 0Gs215 INC (RS)

(1)

— > — et
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(R R RERRE R R R R R AR R R R R AR RS R AR AR FRERRERARARRR AR RDS

:TEST: 240 MUL 77777 % 877777 =1 1} PS = |
;!Iil!lill!ll{l!lllIllllll!!l!I!illili!ll!!!i!llllllll!llllllll!i!lli
TST2MO: OPEt
Q7?7777 .?.SV 877777,%3 :LORD MULTIPLICAND WITH 77777
Q77777 877777 %3 ;gam;gv 27777 & 877777
aw;uoko : SAVE
: 106700! . .¢
0000C! 000432 ggza ohgapsuono 1S PS = |
005656 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
> :PS IS WRONG
000001 geﬁg 'fi'ﬁa 1S MIGH ORDER = |
005642 JSR PC.SHLT -SEEN AN ERROR, GO TC TH HALT ROUTINE
227 ‘HIGH ORDER IS WRONG
000001 CMP 8],73'1 15 LOW ORDER = |
" BEG .+10
005626 ' JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
230 :LOW ORDEF IS WROMNG OR WRONG SEQUENCE
000240 CMP (RS ), 8240
% 13'5) :IF IN WRONG SEQUENCE GC TO THE HLT ABOVE
{




HOS

e e s SR

5{]95 ;llllillllil!!li{iliil!liiiiiiiillliiiiilI'l!!ifillllilill{‘fiiliiiifl
(1 s TEST: 24! MU 2+ 82 =4 U es - 0

(1) (RERRRRE R RN E AR AR ERRRNRNSRR AR R RRREBRAREREY SR IRRRRRNEISSRIILS00S
{1}

(1} 01127¢ 010701 TST241: SCOPE

(1) 011276 010501 MOV RS, R] :SAVE RS

(1) 011300 012705 700002 MOV 82. %5 :LORD MULTIPLICAND WITH 2

1) 011304 07057 00002 MUL 82, ”S -MULTIPLY 2 # 82

.2) 011310 - MFPS  Q8PSWORD : SAVE PS

.2) 011310 10673 .WORD  106700'..C

1) QlI314 12273 000000 000432 CMPE 80, 38PSWORD IS PS =0

1) 011322 001403 BEQ .+10

.3} 011324 004767 005560 JER PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
. 3) +PS 1S WRONG

:3) 011330 000231 23}

(1) 011332 022705 0C-00M CMP 84, 5 : 1S HIGH ORDER = 4

(1) 01133 001403 BEQ +10

(3) 011340 D00M767 005544 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :HIGH ORDER IS WRONG

(3) 011344 000232 232

(1, 011346 022705 0000Q4 CMP 84, 5!} 1S LOW ORDER = 4

(1) 01135 001403 BEQ +19

(g) Q011354 18: .

(3) 011364 DOM7&7 005530 TSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) D11360 000233 233

(i) 011382 021127 000241 CMP (R1), 8241 .CHECK THE TEST NUMBER

(1) 011366 001372 BNE 18 :IF IN WRONG SEGUENCE GO TC “HE =™ RBOVE
(1) 011379 010108 MOV Rl.RS :RESTORE RS

5%; 011372 0J5215 INC ‘RS

i




105

PVK MACYLL 277320 24-AUG-TB  15:29 PAGE 53-58 SE3 OGBS
RvRARY aCYll 2l 3 R T TestE ‘

6096 0!13794 012702 040000 MOV 40000, %2
el il QiS5 S30uEe v

-9 ' *

BYQB : PR RFEREERERERER IR R LR R R ER R RS RRR SRR AL EF R R RN AR R B RN EEIEH2 4

(1) L TEST: 242 MUL 125252 # S5 = 165252 100000 PS = |1

D : FHERR  RBARRAR AR R RARRRA SRR IR ERRERERRRERARE LRSS

;F stals 813700 TN RV T 25252, 40 LOAD MULTIPLICAND WITH 125252

013 v ' " : S

1 Bl 90 iR A e At b

2. 0 : Sk

2) Dll422 106737 _WORD  106700'..C

(1) Oll42e 122737 000011 03032 CMPE  #11,98PSWORD ;IS PS = 11

(1) 011434 0040 BEQ c+10

(% 011436 004767 0DOS446 JSR PC,SHLT fggs?sncﬂ g&on. GO TO TH <4ALT RILTINE

.3) OlIv42 000234 234 '

gH 8%4& ggz;zgg 165252 ggz cizfgasa.v.o :1S MIGH ORDER = 165262

\ & ‘ -

(3) 011452 00M767 005432 JSR PC,SHLT -SEEN AN ERROR, GO TO TH WALT ROUTINE

) ‘HIgH ORDER IS WRONG

(3) 011456 000235 235

ti) gﬂﬁ 85?385 100000 gm u?goou.mu .15 LOW ORDER = 100000

1 .t

@) 011466 '8

&) 811%& 004767 0OSH41 ISR PC.SHLT :SEEN AN EPROR, GO TO TH MALT ROUTINE

gg; 011472 0002 5 :LOW ORDER IS WRONG OR WRONG SEQUENCE

(1) 01147 021539 000242 ¢ (RS, 8242

(1, 01is00 00:372 BNE 18 :IF IN WRONG SEGUENCE GO TO THE HLT ABOVE
(1) 0I1802 OOSZiS INC (RS )
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' DVKABA MACY1l 27(732) 24-AUG-76 15:29 PAGE 53-59
DVKRBA. SRC MUL INSTRUCTION TESTS

5101 !iili**llfllllliIilllilil!lll!lillilll!llililiiliilllllllllli!lllill
(i) :TEST: 243 MUL 126252 # @56 = 165252 100000 PS = 11
(1) llii!!lllll!lli!lilllilill!illlilli!l!llli!l!iil'lllli!!l!lllll!iii!
(1
(1) 011504 010701 TST243: SCOPE
(1) 011506 012700 125252 MCV 8] %0 Long MULTIP! %?“0 ugm 125252
(1) 011512 0706077 1686750 MUL 356, % PMULTIPLY 12 ¢ 3%
LS) 8“2“’ nrpa JsP ugno : SAVE PS
o) 011816 106737 .WORD 106700
JI) 011822 122737 000011 DOO432 CMPB 3]l aapsuono .15 PS =
1) 011630 001403 BEQ 410
(3) 011532 DO4767 005352 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS IS WRONG
.3) 011536 000237 237
;1) ClI540 022700 1e5252 CMP 8165252, %0 1S HIGH ORDER = 165252
(1) 01548 001403 BEQ +10
«3) 011546 004767 005336 JSR Pc SHLT -SEEN AN ERROR, GO TC TH HALT ROUTINE
3 *HIGH ORDER IS’ WRONG
(3) 011552 000240 240
(1) 0115584 Q22701 100000 CMP 100000, %0! 1 - 1S LOW ORDER = 100000
Iéﬁ gﬁsao 001403 s BEQ .+10
.3 ougﬁ’é 004767 005322 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
.3 :LOW ORDER IS (anonc OR WRONG SEQUENCE
‘3, 011566 0OJ241 241
1) 8“570 0815;'7 000243 CMP (RS, 8243
(i) Q11874 081372 SNE 1§ :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

ii 011576 005215 INC (RS)
1

s .




' DVKRBR MACY1l 27(73§) 535 c-7§ +§:aq PAGE 53-60 SEG CCe2
DVKRBR. SRC MuL INSTRUCTION TES

5102 : SRERREEEREFERAREREERERRRREERREERERE LR RAREERRER RS RERERERRRREEEES 4%
(1) s TEST: 244 MUL 126252 * 38SS = 165252 100000 PS = 11
(1) H RERERERERERRAERERR AR R EEERERERRRR RS R AR R AR AR R LR R RERERERRRE RS &%
(1)
(1) 011600 010701 TST244: SCOPE
(1) 011602 012700 126252 MOV 8125252, /0 :LOAD MULTIPLICAND WITH 126252
.13 0lieDe 070037 00046Y MUL 3855, 20 ‘MULTIPLY 125262 # 28SS
2) D116l2 MFPS  J$PSHORD ' SAVE PS
2} 011612 106737 _WORD  106700'..C
(1) 011616 122737 000CL! 000432 CMP8  811,38PSWORD ;IS PS = Il
(1) 011624 001463 BEG 410
.3) 0lie2e 004767 00S2SE JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUT'NE
.3 :PS IS WRONG
.3) 011632 000242 242
1> 011634 022700 165252 CMP 8165252, %0 1S HIGH ORDER = 165262
(1) 01164C 001403 BEQ .+10
(3) 011642 004767 0OS242 JSR PC.SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
(3) HIGH ORDER IS’ WRONG
.3} 0lle4e 000243 243
(1) 011650 022701 100000 CMP £100000, %0!1 .15 LOW ORDER = 100000
(1) 011654 001403 BEQ .+10
(2) 011656 18:
3 011656 004767 005226 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOM ORDER IS WRONG OR WRONG SEQUENCE
(3 011662 000244 244
‘1) 011664 021527 000244 CMP (RS), 8244
(1) 0l1670 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
;;; Ci1672 00S21S INC (RS
.4
D)
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DVKRBR MARCY!Ll 27(732) 24-AUG-7?6 15:29 PRGE S3-6! SEG C0&3
DVKABR.SRC MUL INSTRUCTION TESTS

5103 CERERE R R R R R AR R RRR SRR ERRRRRR R AR R AR R R RR RS R RS R R RR AR R RN EBRRE R
(1) s TEST: 245 MUL 125252 * 2 = 165252 100000 S =11
(1) CHEERRERERERRAEREEFRRFERRRFEERRRRRERERI R ERERRRRERRRRRRERER RS RRSH 1S
(1)
(1) 011674 010701 TSTeNS: SCOPE
(1) 011676 012700 125252 MOV 8125252, %0 ;LORD MULTIPLICAND WITH 12525¢2
1) 011702 070002 MUL %2, %0 <MULTIPLY 125252 # %2
@) QL1704 MFP a:#;ugno ' SAVE PS
() Q11704 106737 LWORD 106700!..C
10 011710 122737 00001! 000432 CMPB 811, 38PSWORD IS PS =11
1) 011716 001403 BEQ .+10
t3) 011720 004767 (00S1ed JSR PC,SHLT +SEEN AN ERROR, GO TO TH HAL™ ROUTIME
. 3) :PS IS WRONG
«3) 011724 000245 24s
(1) 011726 022700 165252 CMP 8165252, %0 : IS HIGH ORDER = 185252
(1) 011732 001403 BEQ .+10
(3) 011734 004767 00S1S0 JSR PC,SHLT ;SEEN AN ERROR, GO TC TH HALT ROUTINE
{(3) <HIGH ORDER IS KRONG
{(3) 011740 000246 246
(1) 011742 022731 100000 CHP #100000, %0!1 IS LOW ORDER = 100000
{1y 011746 001403 BEQ .+10
(2) 011750 18:
(3) 011750 004767 00S134 JSR PC,SHLT sSEEN AN EPROR, GO TO TH HALT ROUTINE
‘3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
{3) 011754 000247 247
(1) 011756 021527 000245 cMp (RS), 8245
(i) 011762 001372 SNE 19 :IF IN WRONG SEQUENCE GC TO THE HLT ARBOVE
(i) 011764 008215 INC (RS)
1)
(1)
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EQCYll 27(732)

010701
012700
070023

106737
182737
001403
004767

000250
022700
001403
004767

000251
022701
001403

004767

000252
021527
001372
00s215

d4-AUG-76_ 15:29 PAGE S3-t2
MUL INSTRUCTION TESTS

125252

000011

005072

165252
00S0S6

100000

005042

000246

00043¢

MOS

JRRNRERNRRENEIIRRE RN NI I3 T 02003000 003030 0 00 30 3 0 00 36 30 3 30 S0 30 0 0 34

; TEST: 246

MUL 125252 # (3)+ = 165252 100000

PS = 11

sREREERREERRERFRRRERRRERERRREEFHREERRRRRRRRRRRFRREERRHRRRRRRRRRRRERARE

TSTe4e: SCOPE
MOV

MUL
MFPS
. WORD
CMPB
BEQ
JSR

2s0
cHP
BEG
JSR

2Sl
CMP
BEQ

JSR

252
CMP
SNE
INC

18:

8125252, %0
(3)+,70
S8PSHORD
106700!. .C
:11oaopsuono

.41
PC,SHLT

8165252, %0
.+10
PC,SHLT

#100000,%0!1
.+10
PC,SHLT

(RS), 8246
19
(RS)

;LORD MULTIPLICAND WITH 125252
:MULTIPLY 125252 % (3)+

*SAVE PS

IS PS = 11

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

; IS HIGH ORDER = 165252

;SEEN AN ERROR, GO TC TH HALT ROUTINE
;HIGH ORDER IS WRONG

;1S LOW ORDER = 100000

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TO THE HLT RBOVE

SEQ 0O&4
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DVKABA MACYI1 27(732) 24-AUG-76 15:29 PRGE 53-63 SEQ GOBS
DVKRBR. SRC MUL INSTRUCTION TESTS

610S H ERBRBEETEIEE TN TS 33533536303 38 33 30 33696 3634 36 98 36 363 36 35 3 303 36 3 3 30 3 0% B 3 33 3% 3% 3% % % B
(1) L TEST: 247 MUL 125252 # -(3) = 165252 100000 PS = 11 :
(1) H SREEEERERIIEIEE T T T332 3 3 3 36 36 36 36 00 96 30 30 3 96 3% 3 343 6 3 3 3 B 2 2 O3 % B
(1
(1) 012060 010701 TST247: SCOPE
(1) 012082 012700 125252 MOV 8125252, %0 :LOAD MULTIPLICAND WITH 126262
(1) 012066 070043 MUL -(3),70 'MULTIPLY 125252 # -(3)
(2) 012070 MFPS  S8PSWORD : GAVE PS
(2} 012070 106737 _WORD  106700!..C
‘1) 012074 122737 000O1: 000432 CMPB  #11,Q%PSWORD ;IS PS = 11
(1) 012102 001403 BEQ .+10
(3) 012104 004767 00S0CO ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
'3) :PS IS WRONG
(3) 012110 000253 253
(1) 012112 022700 165252 CMP 8165252, %0 + 1S HIGH ORDER = '152%2
(1) 012116 001403 BEQ 410
(3) 012120 004767 O0NY7E4 15 FC, SHLT sStEN AN ERROR, GO TO TH HMALT ROUTINE
(3 'HTGH ORDER IS'WRONG
(3) Dl2124 000254 254
(1) 012126 022701 100000 oo $100000,%0'1 ;IS LOW ORDER = 100000
(1) 012132 001403 BEQ .+10
(2) D0l2iNM 18:
(3) 012134 004767 004750 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :[OW ORDER IS WRONG OR WRONG SEQUENCE
(3) 012140 000255 255
(1) 012142 021527 009247 CMP (RS), 8247
(1) 012146 001372 SNE 15 . IF IN WRONG SEGUENCE GO TO THE HLT ABOVE
E}; 012150 005215 INC (RS)
(1
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DVKABA MACYI1 27(732) 24-AUG-Tb

15:29 PAGE 53-64
DVRABR. SRC MU INSTRUCTION 'S

£S

R LIIIXTIITZIZ 2222222 SIS RSS2 2222222222 ¢22 22 Y28 )

s
n

1) : TEST: 250 UL 126252 # 2(4) = 165252 100000 o5 = 1}
(1 (REBRRARERRRNE N BAR RN AR ENRA AR RN R RAAR AR AR R AR ERDRRA 400
{})

() giese oL T57250: SSOPE

(1) 0181 12700 125282 M/ 8128252,%0 ;LORD MULTIPLICAND WITH 125262

1) 01218 ¥ 0002032 ML 2(4),%0 MULTIPLY 125252 # 2(4)

&) Dlgied MPS  J8PSWORD ;SAVE PS

&) Glalgd 1087 WORD  106700!..¢

D) BI21°0 122737 000011 000432 CMPE 811, 38PSa0RD ;IS PS = 11

-3) Clele Q01403 BEe  .+10 _ .

.3) 012200 OO47E7 204704 JSR  PC,SMLT :SEEN AN ERROR, GD TO TH WAL™ ROLTIME
3 :PS IS WAONG

.3) 012204 00025k 256

.17 Cl22% 022700 .b6S252 CM  8165252,%0 ;15 HIGH ORDER = 165252

1) £i3212 BOINC3 83 .+i0

.3) 0i22l1 00467 00470 JSR PC.SMLT :SEEN AN EPROR, GO TC TH MELT ROUTINE
:3) IHIGH ORDEP IS WRONG

(3) J12220 257

‘1) 0i2322 022701 120000 (% $102000,%0'1 ;IS LOW ORDER = 100000

1) 012226 OCi¥C5 BEQ  .+10

.2) 012230 1S:

(3) 012230 004767  DOMESH JSR  PC,SHLT ;SEEN AN ERROR, 30 TO TH HALT RUTINE
3 :LOW ORDER IS WRONG OR MRONG SEQUENCE
.3, 01223 Q00260 269

1 C123% 021527 00C2SC CHP (PS1, 8250

(i Dlzad2 0Ci372 BN IS :IF IN WRING SEQUENCE GO "0 THE HLT RBCVE
i1 T.22%4 Q08218 INC (RS)
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DVKABA MARCYI1 27(732) 24-AUG-TH 15:29 PAGE 53-£5 SEQ 0067
DVRRBA. SRC MUL INSTRUCTION TESTS
6lu’ (HER RN RN RN RN RN SRR AR RN R RSN ERER RN PR A ISR RAASRR AR 4R 2B ES
(1 STEST: 251 MUL 125262 # (M) = 165252 100300 PS = |1
( 1 ) Il!lllll!ll!llllllli!lllililillllllll!!ll!lll!ll!!!!lll!lllillillll!
(1)
(1) 813 01070 TST2S1: S7OPE
1) 012 012 126252 MOV 8126252, %0 ;LORD MULTIPLICAND WITH 125262
(1) 012264 070074 0GO00C MUL 34, %0 IMULTIPLY 126252 # @(4)
&) 0igesg MFPS  §8PSHORD :SAVE PS
12) Cizoel 106737 _WORD  106700!..C
‘D) Qle2es g2 000011 000432 CMPB  #11.98PSWORD ;IS PS =
1 Qlee72 0CING3 BEQ +10
.3} 012374 004767 004610 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS IS WRONG
.3 012300 000261 261
1) 012302 022700 165262 CrP 8165252, %0 15 MIGH ORDER = 165262
1) 012306 001403 BEJ .+10
) 012310 004767 0O4S74 JSR PC.SHLT :SEEN AN ERROR, G0 TC TH HALT ROUTINE
:3) ‘HIGH ORDER IS WRONG
(3) 012314 000262 262
(1) 012316 022701 100000 CHP £100000,%0'1 ;1S LOW ORDER = 100000
1 fe o . D
(3) 012324 0OM767 004562 ISR PC.SHLT -GEEN AN ERROR, GO TO TH HALT ROUTINE
'3) -LOW ORDER IS fnonc. OR WRONG SEQUENCE
(3} 012330 000263 263
(1) [12332 01527 000251 (P (RS), 8251
1) 01233 001372 SNE 18 :1F IN WRONG SEQUENCE GO TG THE HLT RBOVE
.1, 013340 098215 INC (RS

— —— —
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DVKRBA. SRC TﬁutT ION ss S

5108 l!i!Qlllll!lIll!!!illllilllll!llllllllll!lllilill!llil!lli’!ili’!{!l
(1) s TEST: 252 MUL 126252 # 9(4)+ = 165252 100000 PS = 1]
(1 lillllllll!llll'lll!l!lllléQlll!llllilllilllll!!lllliilli!llllil!'ll
(1)

(1) 01232 010701 157252: SCOPE

(1) 0123w4 012700 126252 MGV 2125252, %0 :LORD MULTIPLICAND WITH 126262

‘1) 01930 0700 TSR TCTEN nu.nngv 126252 % 3(4)+

2) 012352 -Psubn'g

2} 012352 106737 .WORD  106700!.

(21 012356 652533 000011 000432 CHP8 8ll wsuono 15 PS =

1) 018368 OCI BEQ .+10

.3} 012366 004767 00O4S!6 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
) :PS IS WRONG

J3) p1o372 00C2eM 264

1) 013374 022700 165252 CHe nssasa ) -1S HIGH ORDER = 185252

1) 012400 001403 BEQ +10

(3) GlaN02 00M76/ 0DOMSC2 JSR PC,SHLT SEEN AN ERROR, &0 TC TH HALT ROUTINE
(3) 'HIGH ORUER IS WRONG

(3} 012406 000265 265

(1) 0I241C 022701 100000 CHP sl ,%0'l ;IS LOW ORDER = 100000

(1) Ol2414 00403 8EQ .41

(2) 012416 18:

(3) 0l2416 DON?E? DO446E ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT RCUTINE
(3) :LOW ORDER IS inonc OR JRONG SEQUENCE
(3 0la422 00026k 266

1) 0l24a4 021827 000252 M (RS), 8252

(1) 012430 001372 SNE 18 :IF IN WRONG SEQUENCE GC TO THE MLT ABCVE
513 012432 00E21S ING (RS)

1)
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~ DVKRBR. SRC MUL INSTRUCTION TESTS

6109 (RERERREEE R RN R RN RR R RN AR R RS R AR RN AR RREERRRIRIRRIRRERE S S22 008
(1) :TEST: 263 MUL 126252 # 2-(4) = 165252 100000 PS = 1}
{ 1 ) ' SRR R R E R RN R RE R AR R R AR AR AR R4 R R0 22052230000000
(1)

(1) 012434 010701 TST263: SCOPE

(1) 0lNy3 012700 126252 MOV 8126252, %0 ;LORD MULTIPLICAND WITH 125252

(1) 0l24842 070054 MUL a-(4) .70 ‘MULTIPLY 125252 # @-(4)

2) Q124w MPS  JsPSKORD :SAVE PS

(@) OloNdd 106737 . WORD 1057203..c

(1) 0129450 122737 0000I! 000432 CMPB 811, 98PSHORD ;IS PS = I

(1) 012456 00I4G3 BEQ +18

3) 012460 004767 0OwM2Y4 JSR PC,SHLT .GEEN AN ERROR. GO TO TH HAL™ RCL™INE
3 :PS 1S WRONG

30 Dl246% 000267 267

(1) Clo4eb 002700 165252 CwP 8165252, %0 15 HIGH ORDER = 165262

‘13 Oles7e 001403 BEQ +10

(3) Dl12474 004767 DOMMIO ISR PC,SHLT :SEEN AN ERROR, 30 TC TH HAL™ ROUTINE
.3 ‘HIGH ORDER 15 WRONG

(3) 012500 000270 270

(1) 012602 022701 100000 CMP $100000,%0'1  :Is LOW ORDER = 100000

4 g oo . 2

.3) 012510 004767 DO4374 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
.3 :L0W ORDER IS WRONG OR WRONG SEIUEMNCE
3} 0i2Si+ 000271 21

.1} Cl26le 021527 00O02S3 p (RS, , 8253

(i) 0i2622 00:3%2 ONE 1§ :IF IN WRONG SEJUENCE GC TG “HE WL™ ABCVE
1) 012524 308218 INC (RS

By
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MRCYIL 27(732) 24-RUG-T6_ 15:29 PAGE 53-68 SEe CC7C
.SRC DIV INSTRUCTION TESTS

(RN ER AR RSN R RN RRARARRY

: DIV INSTRUCTION TESTS
RREEERRRNRERANERRRNRRRARI RIS

RERERER FREREREERREEREERESEREARERRRRARRERERRRRRFRERRERRERIIRARRIRRES

: TEST: 254 DIV 04~/ 82 =2 REM = 0 PS = 0
;Ilillilis‘i{lill!li!ll!llﬁflliiilll.!li!illllll!illlii!illiilllfli!l

g}esas 0%?786 TSTEsh: 38?" H R WITH O

0 7 / 0, %

012533 12701 002004 MOV 84, % '8+1 ngg 3u ogpgs WItH 4

012540 071027 000G DIV 82 %0 :DIVIDE BY 82

012544 MPS  JsPSWORD -SAVE PS

012544 106737 .WORD  106700'..C

012650 122737 000020 000432 CMPB 80, 38PSWORD IS PS =0

012556 001403 BEQ +10 )

012660 004767 004324 TSR PC, SHL :SEEN AN ERROR, GO TO TH HALT RSL"I
:PS IS WRONG

012564 000272 272

012566 022700 000002 cMP 82,70 - 1S QUOTIENT = 2

012572 00I4C3 8EQ .+10

012574 004767 004310 JSR PC.SHLT :SEEN AN ERROR, GO 7O TH HALT ROLTIMNE
:QUOTIENT IS WRONG

012600 000273 273

o Q22701 00000s CMP 80, %0+1 .15 REMAINDER = 0

012606 0J1493 BEQ .+10

012610 OON767 00OM274 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROLTINE
- MRONG REMAINGER

Cl26l4 000274 274

012616 021527 000254 CMP (RS) 8254

012622 001403 BEQ +10’ :IF IN unonc QUENCE &0 7T HLT

012628 DON7E7 004280 JSR PC.SHLT :SEEN AN ERROR, 20 *0 TH HﬂLT oLTINE
<TEST IS IN unbnc SEJUENCE

C1263C 00027% 27%

ni263e J0Sz1E INC RS
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VKRG Y11 27(732) 24-AUG-T :29 PRGE 53-69 SEG 0C7.
Bvk sg@c §vainsrﬁ'?:c% ?zs*&

5 121 : FRHERE SRR R R R R R SRR R R RGN R AR RN RRR SRR RABRERERIRRRERS
(1) :TEST: 258 DIv -1 9. 7/ 83 = -3 REM = 0 PS = |3
(1) : SRR RERARRRRERARSVIRERAR SRR RRRERERENERERRERBRA23230200002000
v 1)

(1) 01263 010701 TST255: SCOPE

1) 1963 Q1278 177777 MOV 8-1,%2 :LOAD HIGH ORDER WITH -1

(1) Ql2ede 012703 1777%7 MOV $-9. v2+] :LORD LOW ORDER WITH -9.

1) 01264 071227 000003 DIV 83, 72 :DIVIDE BY 83

5 E‘SEES nrpgo 38PSWORD :SAVE PS

\1; 1 108737 . WO 106700!. .¢C

(1) 012656 122737 000010 000432 CMPEB  #10,38PSWORD  :IS PS = 10

1) 012664 0CI1403 BEQ +10

.3) 012666 004767 004216 JSR oC, SHLT CCEN AN ERROR, GO TO TH HAL™ ROUTINE
(3 :PS IS WRONG

g; 012672 000278 276

(1) 012674 022702 17777% CMP =3, %2 .15 QUOTIENT = -3

(1) 012700 001403 8EQ +10

(3) 012702 0ON787 DOM4202 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROLTINE
(3) QUCTIENT IS WRING

E:fi 012706 000277 277

(1) 012710 022703 DOCOOC CMP 80, 72+! .15 REMAINDER = 0

(1, 012714 001403 BEQ .+10

(3) 012716 DON767 004166 ISR PC,SHLT -SEEN AN ERROR, GO ~0 TH HALT ROUTINE
(33  WRONG REMAINOER

(3) 012722 000300 300

‘1) 012724 021827 0002SS CHP (RS, 8255

(1) 012730 001403 BEQ 410 ;IF IN WRONG SEJUENCE GO TO THE L7
(3, 012732 004767 DO4iS2 JSR PC,SHLT !SEEN AN ERRCR. GC TC TH HALT ROUTINE
(2 tTEST IS IN JRUNG SEQUENCE

.3, D0i273% 0003%: 30:

.++ Gid?40 00Se:S INC RT
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SVRABN MACTIL & T S:-w:.—. '3:29 PRGE 53-7 SEL 207
SVKRBA. SRS )¢ ns* cTion Yest

6122 (AR REREAR BN R HREHRERRRS S HHR R RSB HED SR HRHRDRR S D EEDERD NN B R4S
(1 1 TEST: 256 DIV 09. /78224 REM = | PS = 0

L1 }l!l.’l!lllilili!lliIli!ililifillilllillllii!lll!li%ﬂm'll“llio
(1)

‘1) gla7v2 010701 15T256: SCOPE

(1) Clo7ws 010s0l MCY RS, Rl .snvs

13 012~we 012708 000000 MOV 80, 7y 0RD HIGM ORDER WITH O

i) 012752 012705 002011 MOV .9 /m otou ORDER WITH 9.

1) 0ieTSe J7INe7 000002 DIV oxvx BY 82

2) 0:27°6e 3 acbsuono :SAVE PS

‘f% 01272 106737 JWORD  108700'..C

1) 012766 122737 0CQOOC 000M32 CMPE 80, & 8PSWORD :1S PS = 0

1) 012774 001403 BEQ +10

' £id77b O0ONTE? 204106 TSR pc.snu .SEEN AN ERROR, GO TO TH WAL™ ROLTINE
3 :PS IS WRONG

gii 013002 000302 302

(1) 013008 022704 00000 CHP R .15 SUCTIENT =

1) 013010 001403 BEQ L+l0

.3} 013012 004787 004072 JSR PC.SHLY -GEEN AN ERROR. GC TO TH MALT ROLTINE
(3) :QUOTIENT IS uﬁom

.3) 013016 000303 303

N

.13 013020 022705 D0CO0: cMp LTS :1S REMAINDER = |

(1> C13Ced 0OCI403 BEQ +10

"3) 013026 004767 004056 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HAL™ ROUTINE
3, :WRONG REMWINOER

.2) 013032 DOO30N 304

(30 0130§ 010i0S MOV R!.RS :RESTORE RS

(i; 81% %527 000256 cHP zp%;.azsa IF IN MRONG TR

L d)J z .

3 0130w owg; CONONC ?ES PC.EHLT :SEEN AN Ennozz %"? v m.v'iot_ INE
3. :TEST IS IN WRONG SEQLENCE

3, 013050 000305 305

‘1. 013082 0ps2i§ INC 'RS)
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SN N e e e e’ b e B S el et N

00 O0O0O00
Pths  Pea s pme P
W) W
P abe s b b pe
LF KBl

CVkRBi . SRC
6123
\1]
{1
(l)
(i QI
(1) 0Ol
1) Ol
.+0 Oi
e 0!
g 0!
\11
2
v 013
.3 013
.3,
3
o)
(1) 13114
)
13)
3
3
{
)
K|
3
3
1
l
3
3
3
3

e~

R2a NnRRRY

Ll

gl3tle

00C432

TS7257: SCOPE
MoV

106

biv EngrhucTTon Teste:<? PAGE 5371

llli!lﬂlll!i!!ll’l'“l!I!l“lillilllilllll!!!!ll!!l!!ll’!!ifllif!.ifi

: TEST: 267 Dlv -1 -9. ., 82 =4 REF = PS = iC
I!!!lllllllll!!lilll!!!lilll!llllIlllllillilllll!iil!ii!:lilll#iiifl

e-1,%0 :LOAD MIGH ORDER WITH -I
v 8-9. %0+l b OW ORDER WITH -9.

olv % Dé BY 82
MF PS aa#suono
.WORD  106700!.
EEEB .1?cacpsuono 15 PS = 10

+
TSR PC.SHL” :SEEN AN ERROR, GO TO TH HALT ROUTIMNE

:PS IS WRONG
306
CoP 8-4 70 .15 QUOTIENT = -
BEQ »1*
ISR C.SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
:ZUCTIENT IS uﬂonc

307
gsa +1 %04 . 1S REMAINOER = -
JSR  PC.SHLT .SEEN AN ERROR. GO TO Th mALT ROLTINE
110 :WRONG REMAINOER
C™P (RS, 8257
8EQ .+10 :1F IN WRONG seousncs co 70 THE H.™
ISR PC,SHLT :GEEN AN ERROR T0 T HALT ROLT!
Ll :TEST IS IN anbnc SEQUENCE
INC (FS,

Ste 0C73

. —— - ——— o —— i ——
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CVkRBR MACYI1 27(732) 24-AUG-76 15:29 PAGE 53-72
DVKRBA. SRC DIV INSTRUCTION TESTS

;R R R R AR R R AR R HE AR R 1 R S R R R R 4R 2 0 2 4

"y

(1) : TEST: 260 DIV 02/8-3=x0 REM = 2 PS = 4

( { ; : SRERRBERREFE AR AR AR AR A FE AR RRASHERREA AR RRARERE2EE02225009
(

(1) 013162 010701 TST260: S7OPE

S % B e

4 %o+ :

e g1317"‘ G%ligg qugg Olv I-Q “e ;bﬁ& BY -

@ 013200 MFPS  JsPSWORD :SAVE PS

lii 013200 106737 LWORD  106700'..C

L

(1) 013204 122737 0000OM 000432 CMPEB 4, I8PSWORD 1S PS = 4

1) 013212 0CI403 BEQ .+1C

.3) 013214 004767 003670 JSR PC.SHLT .SEEN AN ERROR, GO TO TH HALT RGUTINE
(3 :PS IS WRONG

(.14; 013220 000312 312

(1) 0l3222 Q2702 000000 CMP 80, %2 .15 QUOTIENT = O

(1) 013226 001403 BEQ +l0

(3) 013230 004767 DO36SY ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WAONG

tii; 013234 000313 313

(1) 01323 0227C3 000002 c 82,7241 - 1S5 REMAINDER = 2

‘1) 013242 001403 BEQ . +10

(3) C13244 004767 003640 JSR PC.SH.T :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WAONG REMAINDER

3) 013250 000314 3

(1) 013252 021527 000260 CHP (RS, , 8260

(1) 013256 001403 BEQ +10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3, 013260 767 003624 JSR PC,SHLT "SEEN AN ERROR, GO T0 TH HALT ROUTINE
(3) :TEST IS IN JRONG SEQUENCE

3) 0i32e4 0O03IC 3.5

1, 0132ee 00Se:s INC RS,

‘J

o~
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DVKRBA. SRC CIV INSTRUCTION TESTS

6185 {ili!!i!l!lllllllllllll{l!lllllillllilﬂlliill!i’i!’llli!l!ilillil!ll!
e +TEST: 261 DIV -1 -2/ 83=0 REM = -2 PS = Y4
(1) lill!i!llilll!lil!lllllllllllll!lllll!lllllllllil!lllllilllllllill!!
(1)
(1) 013270 010701 TST261: SCOPE
(1) 013272 0610501 MOV RS, Rl :GAVE RS
1) 013374 012704 177777 MOV s Lono HIGH ORDER WITH -1
‘1§ ciaaoo géfzgg 658553 805 052954+1 LogYongcn WITH -2
l c ] A |
.é) 81 10 n}Ps J8PSWORD %vﬁ
‘f3 013310 106737 106700 ..C
(1) 013314 122737 000OOM 000432 CMPE 84, S8PSWORD .15 PS =
‘1) (13322 001403 BEG +10
(gi 013324 00477 0G3560 ISR PC,SHLT 3 EN AN Bnnon GO TO TH HALT ROUTINE
L
E%g 013330 000316 316
(1) 013332 022704 000000 CMP 80, 74 1S QUOTIENT = O
(1) 013336 001403 BEG .+10
(3) 013390 004767 003544 JSR PC,SHLT SEEN AN £9ROR, GC TO TH HALT ROLTINE
(3) QUOTIENT IS uéomc
>§§ 013344 000317 317
(1) 01334 022705 17777¢ CMP 8-2, 7441 .15 REMAINDER = -2
(1) 013352 001403 BEQ .+10
(3) 013354 004767 003530 JSR PC, SHLT :SEEN AN ERROR, GO TO TH 4ALT ROLTINME
(3) : WRONG REFRINDER
!3) 013360 000320 320
(1) 013362 01010S MOV R1,RS RESTORE RS
(1) 013364 021527 00026l CMP (RQ) 8261
(1) 013370 001403 BEQ +10’ :1F IN WRONG SEQUENCE GO TC THE HLT
(3) 013372 004767 003512 JSR PC,SHLT :GEEN AN ERROR, GO T0 TH HALT RCLTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 013376 000321 321
Eii 013400 005215 INC (RS)




DVKARBA MACYLl 27(732) 24-RUG-76 15:29 PAGE S3-74 Sty 0078
DVKRBR. SRC DIV INSTRUCTION TESTS

6led : FEERBEREEEEERERRRERRRERRERERERERE R AR R REE RN R R R R R ER SRR R ERREREREREEES
(I s TEST: 262 DIV -1 =178l = -] REM = O PS = 10
(1) ' EFRRRFRERERERERER SRR LR ERERLA R R R RREERREEREEERE R LR ERRREEEAERRERESRE S
(1)
(1) 013402 010701 1ST262: SCOPE
(1) CI3404 012700 177777 MOV s-1,%0 :LORD HIGH ORDER WITH -1
(1) 013NI0 012701 177777 MOV 8-1,7%041 :L0AD LOW ORDER WITH -1
(1) 013414 071027 00000! DIV 81.%0 :DIVIDE BY 81
12> 013429 nrpa 33PSWORD :SAVE PS
‘T) 013430 106737 .WORD  108700'..C
1) 013424 122737 000010 DOO432 CMPB  $10,J8PSWORD ;IS PS = 10
Iy 013432 001402 BEQ +10
.3 013434 004767 003450 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3, i :PS IS WRONG
;gg 013440 000322 322
1) o13wd2 peeroo 177777 CMP 8-1,%0 . 1S QUOTIENT = -]
(1) 013446 001403 BEQ .+10
(3) 013450 004767 0O343M JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :QUOTIENT IS WRONG
Ef% 013454 000323 323
(1) 013456 0227C1 000000 ¢ 80, %0+1 : 1S REMAINDER = 0
(1) 013462 001403 BEQ .+10
(3) 013464 004767 0OC3420 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) : URONG REMAINDER
(3) 013470 000324 324
(1) 013472 021527 000262 CMP (RS), 4262
(1) 013476 001403 BEQ .+10 :IF IN WRONG SEGUENCE GO TO THE HLT
(3, 013500 004767 003404 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) : TEST IS IN WJRONG SEQUENCE
(3) 013504 000325 325
;%3 013506 005215 INC (RS)
I J
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DVKABR MACYIl 27(732) 24-AUG-T& 15:29 PRGE 53-75 SEQ 0077
DVKABR . SRC DIV INSTRUCTION TESTS

8127 ; 303 539 36 3 3 36 9 3 9 9 36 3 6 36 36 0 3 90 3696 36 JH-00 T 3 96 30 3030 36 30 9% 36 309030 3% 36 96 90 30 30 3 0 98 3636 30 36 0% 6 3% 2% 3 98 38 3 3 3 4 % 3 o
(1 TEST: 263 DIV 00/8l=0 REM = O PS = Y4
(1) H ERERARRERRERREEERERERREERRELRRERRREREREREEEREREEEEREEEEEEEEEEEEEEEEER
(1)
(1) 013510 01070i TST263: SCOPE
(1) 013512 012700 000000 MOV 80, %0 :LOARD HIGH ORDER WITH O
(1) 013516 012701 000000 MOV 80 %0+1 :LOAD LOW ORDER WITH O
1) 013522 071027 000001 DIV 81 %0 :DIVIDE BY 81
(2) 013526 MFPS  Q28PSJORD :SAVE PS
(fi 013526 106737 .WORD  106700'..C
{
(1) 013532 122737 0000OOM 000432 CMPB 84, 38PSWORD 1S PS = Y4
(1) 013540 001403 BEG +1G
.3) 013542 004767 003342 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
E?% 01354 000326 326
(1) 013550 022700 000000 CMP 80, %0 : 1S QUOTIENT = (
(1) 013554 001403 BEQ +10
(3) 01355¢ 004767 003326 JSR PC,SHL” :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WARONG
ffg 013562 000327 327
(1) 013564 022701 000O0OC CMP 80, 70+1 :1S REMRINDER = 0
(1) 013570 00I403 BEQ .+o
(3) 013572 004767 003312 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WRONG REMAI:DER
(3) 013576 000330 330
(1) 013600 021527 000263 CMP (RS), 8263
(1) Q'3R04 001403 BEQ .+10 . IF IN WRONG SEQUENCE GO TO THE HLT
(3) O0l3bue 004767 003276 ISR PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(3) 013612 00033! 33!
ﬁi% 013614 005215 INC (RS)
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OVKABR MACYI! 27(732) 24-AUG-T6 15:29 PAGE 53-76 SEQ 0078 |
DVKkRBR. SRC DIV INSTRUCTION TESTS
6128 H RUERRT RRHT TR T3 3533 3 3 3 3 33 3 3 % 3 9% 9 3 3% 363 3 36 96 3 3 35 3 9% 3 3 3 3 3 3% 3 & ¥
(1) : TEST: 264 DIV -1 125252 7 82 = 152525 REM = 0 PS = 10
(1 H BESEEEEEREREEEREWRERESEEEH 0550 E %% %R 53T R X % R %05 EEEE
(1)
(1) 013616 010701 TST264: SCOPE
(1) 013620 012702 177777 MOV $-1,%2 :LOAD HIGH ORDER WITH -1
(1) 013624 012703 125252 MOV 8128252, %241  ;LOAD LOW ORDER WITH 125252
(1) 013630 071227 000002 DIV 82 %0 :DIVIDE BY #2
20 013534 MFPS  8PSWORD :SAVE PS
1§§ 013634 106737 .WCRD  106700!..C
L
(1) 013640 122737 000010 000432 CMPB  #10,3%PSWORD ;IS PS = 10
1) 013646 001403 BEQ .+10
.3) 03650 004767 003234 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 _ :PS IS WRONG
\;13; 0136S% J00C3se 33¢
(1) 013656 022702 152525 CMP #152525, %2 . 1S QUOTIENT = 152525
(1) 013662 001403 BEQ .+10
(3) 013664 004767 003220 JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :QUOTIENT IS WRONG
ff% 013670 000333 333
(1) 013672 022703 000000 CMP 80, 72+1 . 1S REMAIDER = O
(1) 013676 001403 BEQ .+10 _
(3) 013700 004767 003204 TSR PC,SHLT ;SEEN AN FRROR, GO TO TH HALT ROUTINE
(3) ' RONG Ri: AINDER
(3) 013704 00033 334
(1) 013706 021527 000264 CHP (RS), $264
(1) 013712 001403 BEQ .+10 :IF IN WRONG SEGUENCE GO TO THE HLT
(3) 013714 004767 003170 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RCUTINE
(3) :TEST IS IN JRONG SEQUENCE
(3) 012720 000335 335
Eii 013722 005215 INC (RS)



DVRABS MACYILl eP(732) 2MN-AUG-TB IS:
DVKRBR. SRC DIV INSTRUCTION TESTS
6129

{1)

{1

?%1 133;: 10791

L

li? 8% ¢ 8{8281 {

i BER RIS 1772

1 Ci3T8C Q7ieeT 17777

2 DI3Tw

2) G134 106737

1) 013750 122737 0000DC 000432
13 913786 001403

3) C1376C OONTE™ 2C3le~

f} 013764 000336

f} oim 022704 Cu0O0L

g) 81 %nﬁ 00311C

(3) 014000 000337

(1) DI4C02 022705 (000000

(1) 014006 001403

535 014010 0OM767 003074

(3} 014014 000340

(1) 014016 D0iC10S

(1 014020 J21527 000265

(1) Di%024 OOl

53) 014026 0ON767 0030S6

(3 014032 DOOMI

‘1 OI4ZM Dos21s

BO7

— v — —

RN R RRRR RN R R AR R R R R RS SRR R RN A R R R R AR HHHE IR R RE D RS

-] -1l/78-]12]

REM = 0 PS =0

(REERERRER AR RARARERERARA AR IR R AR H SR HE A R HHHHHHHH S5 848

29 PAGE §3-77
- TEST: 265 DIv
TST265: SCOPE

MOV RS, R
MOV o-1, 74
MOV 8-]1,74+]
Dlv 8-1. %N
MFPS  J8PSWORD
.MORD  106700'..C
CMPB 80, 88PSWORC
BEQ .+130
ISR PC.SHLT
33
Cup 8! %Y
BEQ .+
JSR PC,SHLT
337
0y o 80, “4e]
BEG .+10
JSR PC,SHLY
M40
MOV 1,RS
CMP (RS 8265
860 .+10
JSR PC,SHLT
k)|
INC (RS,

:SAVE RS
129 o

;bIVI BY 8-}
:SAVE PS
I3 PS =0

:ggi?sﬂsnszSOR. GO 7O TH HALT ROUTINE
;IS QLOTIENT = |

:gES¢IQ:TE?§oﬁﬁogg TO TH HALT ROUTINE
;1S REMAINDER = O

:SEEN AN ERROR, 50 TO TH MALT ROUTINE
: WRCNG REMRINDER

:RESTORE RS
:IF_IN WRONG SEQUENCE GO 1O THE MLT

:SEEN AN ERROR, GO TO TH HALT RCUTINE
:TEST 15 IN WRONG SEGQUENCE

— e e e e e —— o v st -



 DVKABA MACYIL 27(732) 24-AUG-TH 15:29 PAGE 53-78
DVKRBR. SRC DIV INSTRUCTION TESTS

Blw : PSR R R R R AR RN RE RN R R RN RN R AR RRRATNRRAFLTRBARNER2S
(1) :TEST: 266 03 25253 | / 8125252 = 100000 OEM = | PS = 10
(1 : AR ERRERR R RN AR AR N RN AR R AR RN TR AN BRSNS 0
(l)

(1) 01803 010701 757266: SCOPE

(1) 014040 012700 025253 MOV 825253, %0 :LORD HIGH ORDER WITH 25253

(1) Ql40w4 212701 0COCC) MOV o1, 70¢+] :LORD LOW ORDER WITH 1

(1) 014050 O07I027 125252 DIV 8.25252, %0 :DIVIDE BY sl2sase

2) B1«+254 MFPS  98PSKORD :SA

f] J14054 106737 JWORD  106700!..C

(1) QI4060 122737 000010 000432 CMPB  810,38PSWORD ;IS PS = 10

.4) 014066 001403 BEQ 410 =

.3) 014070 0O0N767 003CIY JSR PC,SHLT EN AN ERROR, GO TO TH HALT ROUTINE
%) ) .#S 15 WRONG

;3 014074  DOO3YZ LT

(1) D0I4076 022700 100C70 CHP $10000C, “0 .15 QUOTIENT = 100000

(1) 0I4102 001463 BEQ .+10

:3) 0i¢1f 004767 003000 JSR PC.SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
'3) :2UOTIENT IS WRONG

::B 014110 000343 343

\

(1) 0i4ll2 Q22701 0DO00C! CHP 8., %041 - 1S REMAINOER = |

(1) 014116 OCING3 BEQ .+10

13) 0I4120 004767 002764 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT SOUTINE
(3 : WRONG REMAINDER

.3) CId4I2 000344 Ko )

(1) 0l4lde 021827 000266 CHP (RS), 8266

(1) 04132 001803 BEQ .+.0 :IF IN WRONG SEQUENCE GO TO THE MLT
(3, DI4134 0084767 002750 JSR PC.SHLT :SEEN AN ERROR, 50 TC TH HALT ROUTINE
'3 :TEST 1S IN JRONG SEQUENCE

3. DI4I40 D0O3NS MG

1. Ci4is2 DoS2is IN (RS,




' CVWABR MACYIl 27(732) 24-AUG-Tb 15:29 PAGE 53-79 SEQ 0081
~ DVKRBR. SRC DIV INSTRUCTION TESTS
5131 lllllllilllllil!llll!!!lllilillllllllilll‘lllilllllll!lilllilllll!lll
(1) :TEST: 267 (' 7777 77777 7 87TV = 77777 REM = 77778 PS = 0
(M JRERRRRREPRRR . S+ RRRRRERAREEARRNERERRRERRARRERRARERIRTRAERAFI 2R BER R RS
(1
(1) Ol41¥4 010701 TST287: SCOPE
(1) 01414 012702 037777 MOV 837777, %2 Lono nmn ORDER W TH rm
(1) 014182 012703 Q77777 MOV 877777, %041 b oeg;ﬂs,u
(1) Ql4i8e 071227 077777 DIV 877777 %0 xv BY
(2) QIN162 WPS AP
aiz 0ivibe 106737 .WORD  106700'..C
{1) 0l41bb 122737 000000 000432 CMPB 80, 38PSWORD -ISPS =0
1) 0I4174 OCING3 BEQ +1C
.5) OlIN4176 00M767 002706 JSR PC, sm :SEEN AN ERROR, GO TO TH MALT ROUTINE
‘3) :PS IS WRONG
m 014262 000346 346
1) DlN2OM Q22702 07777 CHP 877777 . %2 :1S QUOTIENT = 77777
(1Y 014210 001403 BEQ .+10
() 0I4212 0OON7?67 002672 JSR PC.SHLT :SEEN AN ERROR TO TH HALT ROUTINE
&) :QUOTIENT IS ukouc
x:B 014216 000347 N7
L
1) Q18220 0e2703 07777t CHP 877776, %2+ ) 1S REMAINDER = 77776
‘1) Ol4224 D0O0INGI BEQ .+10
(3) Oly22e D0OON767 DO2656 JSR PC.SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) : WRONG REMAINOER
(3) 014232 000350 350
(1) 014234 021527 000267 CHP (RS, 8267
(1) 0l14240 001463 BES +10° :IF IN WRONG SEQUENCE GO TO THE MLT
(3) Ol42d2 004767 002642 JSR PC,SHLT :SEEN AN ERIOR, GO TO Tr HALT ROU INE
(3) :TEST IS IN .abnc SEQUENCE
(3) Ql4246 DOO3S! 35!
:%; 014250 D0SciS INC ‘RS,
1)

— o — -—— —— —— —— . —— T ——r — - —— . —— - o ——— vy i - ———— —— B .———1
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CVRABA MRCYIL 271T32) 24-RUG-TH 15:29 PAGE 53-80 SEG 0082
CVRABA. SRC oxv INSTRUCTION TESTS

6132 !llll!!llll!lllll!lilllll!!!l"illllIl!ll!l!l!lllll!lllllll!llllllll
(1) :TEST: 270 DIV 0 100000 / 82 = 40000 REM = 0 PS = 0
({ ; Illillll!l!ll}lllllllllllliIllll!l'lll‘lllllllllll’llllll#ll{lliiilil!
L

(1) Q14282 81%1 TST270: SCOPE

(1) 014254 010s01 MOV RS,R1 :GAVE RS

(1) 014265 012704 0DO0CO0 MOV 80 74 :LORD HIGH ORDER WITH 0

1) 014262 012705 100000 MOV 2100000, 74+1 .Loao LOW ORDER WITH 100000

(1) 0l42e” 071427 000002 DIV 8274 :DIV me BY 82

:2) QlN2: MPS  38PSWORD ;SAVE P

L?} 0142/ 106737 JWORD  106700'..C

|

.1} Dl427% 122737 0000OC 000432 IMPE 80, s8PSWORD .15 PS = 0

(1) 014304 001403 BEQ L4112

:g) 014306 0ONTB? 002576 ISR oC, SHLT : égzrj AN Smoa. GO TC TH HALT ROUTINE
3 : 1S WRONG

;gg 014312 0003S2 352

(1) DIM3IN 022704 0N0000 CHP 840000, 4 . 1S QUOTIENT = 40000

(o) Dl4320 0014 BEQ +10

:3) 014322 004767 002562 ISP PC,SHL™ :SEEN AN ERROR, GO TO TH HALT ROUTINT
(3 ‘QUCTIENT IS WRONG

.3) 014326 000352 353

1)

(1) 014330 022725 0000CC o 80, 74+ :15 REMAINDER = 0

(10 C14339  DOIN03 BEQ +10

"3) 01433 004767 002546 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
3 ONG REM-INDER

.3) Gl43N2 0003SH 354

(i) 014344 010105 MOV R}].PE :RESTORE RS

(1, Q14346 021527 000272 cHP ‘&), 870

(1) 0l43s2 0C1%03 BEQ .+10 :IF IN WRONG ssuncs GO TO THE WLT
(3) 014354 0OM767 00253C JSR PC,SHLT :SEEN AN ERROR = WOLT RCUTINE
(3, :TEST 1S IN mbuc seousnce

(3) 014360 0003SS 355

ﬁi. Ciu3s2 005315 INC (RS)

1

-— ———m —— - -
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N~
~ T N S el e B et Wl hf W’ s md e’ Vof B e e vt N f e e ed v L of vl et e e o o®

014364
014386

gIu3%E
Clw=de
014402

014406
1441y
014416

014422

e (732)

S4-AUG-76

DIV INSTRUCTION TESTS

010701
012700

oo
106737

122737
001403
04787

0003SE

022700
001403
004767

0003S7

ge27Cl
0C1403
004767

000360
021527
001403
004767

00036!
a0se.ts

177777
177776

002ues

040000
0C2452

177777

002436

200271
00c4e2

0Cou432

15:29 PRGE 53-81

; FREE RS R R R R R A IS A HH I R R R H AR E R R R R RS R R SRR A R R R R R R 2 84

s TEST: 271
CERERERANRRARERERRIEERARE ISR O R E AR R ER R RS RIBRRE R RS

TST271:

SCOPE
MoV

CMPB
BEG
JSR
356
e
BEG
JSR

357

Dlv

:;7777;777 icoxgx
0177775

1t ¢

80, J8PSWORD

+1C
Df‘ JEHLT

090800 s
PC.SHLT

8177777,%0+1
.+10
PC,SHLT

’RS . 8271
PC SHLT

zps’

\77777 77777 / 8177776 = 40000

;LORD HIGH ORDER WITH 177777

b?ﬂ?DtOH R HITH 77777

;15 PS = 0
:SEEN AN ERROR, GO TC Th HALT ROUTINE

: IS QUOTIENT = 80700

. SEEN AN ERRL?, 30 TC "M HALT ROLTINE
:QUOTIENT IS ..RONG

1777277
T0 TH HALT RCLTI

: IS REMAINDER =

:SEEN AN ERROR, GO
: WAONG REMAINOER

JIF 1
+SEEN mN
; TES”

N .nonc ssousncs GO TO THE m.T
RR2R TG TH HALT ROLSINE
IS .mbnc. SEQJENCE

REM = 177777

PS

- -

SEG 0083 !

g




- DVKRBR MRCYI! 27(732) 24-RUG-76_ 15:29 PAGE 53-82
DVKABR. SRC DIV INSTRUCTION TESTS

513"0 (B RS RERARR AR R RSN AR AR R BRI AR 0022
(D :TEST: 272 D1V 0 52526 / #52S26 = | REM = O PS z 0
(3) (RERRRRRERERFER R RARFR RSN AR RRARBRRRRRAR R AR AR R R R AR H AR R RRR BB
(1)

(1) 814«72 812;35 TST272: SCOPE

(1) 01w 01 000000 MOV 80, %2 :LORD HIGM ORDER WITH O

(1) 014500 012793 052525 MOV 452525, %2+] ;LORD LOW ORDER WITH 52525

(1) QI4S0N 0712z 052525 %v 852525’ %2 ;gmossav 852625

(2) 014810 PS  J8PSWORD :

‘fi 0i14510 106737 .WORD  !06700'..C

l

(13 DINSIN 122737 000000 000432 CMPB 80, 38PSWORD 1S PS =0

1) 014822 1403 BEQ +1C

.3) Ql4524 DON767 002380 ISR PC.SHL™ :SEEN AN ERROR, GO TO TH HALT ROUTINE
() :PS IS WRONG

E'?; 014530 000362 32

(1) 014632 022702 009001 CmP . .15 QUOTIENT = |

(1) 01453 001403 BEQ +40

(3) DINS40 O0N767 002344 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
.3 TQUOTIENT 1S WRONG

E?? 014544 000363 363

(1) DINS% (022703 00000C cMP 8C, %2+] : 1S REMAINOER = 0

(1) GI+€52 00iv03 3E3 _+10

.3) DI4884 Q04767 002330 ISR PC.SHLT :SEEN AN ERROR, GO TO Th HALT ROUTINE
(3} : WRONG REMAINDER

.3) 014560 DOO036M 364

(1) D148e2 021527 000272 CP (RS, 8272

1) D14Spe 001403 BEG . +10 :IF IN WRONG SEQUENCE GO TO THE MLT
{3, 0I4E70 QOM767 0023:4 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :TEST IS IN JRONG SEQUENCE

3, 0i48TH 000365 35

. Cil4E7e 30535 INC RS
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SR T NINTANT T Sy oy (N T TN TIRY ST SR o 1] 4 VIS SPY SO S S PSSy e

OO0 O0O0O00O000
P 0 e Pt Pt Pt Pt Pt Puet P Pma
£0

F&F
QT

—~ e e

o000 O
e urgi
FFF &
£8 F

L T et W A Wl W o Il Y R e N d

i

HO?7

3; SB RUG-7 's 29 PRGE 53-83 SEs SC8S
NSTRUCTION TESTS
: R AR AR R RN ARE R R RN RS R R AR R RS EE R R R RN IR R R RS RRRS R R AR R R E244 4
: TEST: 273 DIV 0 77777 7/ 80 = DUMMY REM = DUMMY PS = 3
: Y Yy Y XYY I I YT Y Y YR YRR RYYYRYERYRRIYTITYITIZ RS RIS RRTSIII IR SR LT
TST273: SCOPE
MOV RS,R1 :SAVE RS )
0C0000 MOV 80 %4 :LORD MIGH onaﬁn WITH
077777 MOV 879777, 7441 :LORD LOW ORCER wWITH 79777
000000 DIV 80, /N4 :DIVIDE BY 80
MF PS ao#suonn SAVE PS
.WORD  [06700!.
000014 000432 BIC -14.aopsu0Ro
000003 0Co43E EEPB 83, 38PSWORC .15 PS = 3
. ¢ &
002242 I L .SEEN AN ERFOR, GO TO TH HALT ROLTINE
:PS 1S WRONG
366
MOV R1,RS -RESTORE RS
00027 CHP é..ca*a
BEJ :1F IN WRONG SEGUENCE GO TO THE WL”
002224 JSR PC TSHLT :SEEN AN ERROR, GO T0 TH MALT nou INE
207 :TES™ IS IN unbnc SEQUENCE
INé ‘RS,




107

S she 1 Ep s RUCTION Festd' S PSS

Sl% Qll!lll!llillilﬁllillli«ll!’llillll!llllllilil!lllilliQ!!ii!i!ll’!’!!
;i) s TEST: 279 DIV 77777 177777 / 82 = DUMMY REM = DUMMY

1) llll!li!!lilllllllll!!lllliil'll!l!!lli!lil!Il{l!l!!liiiil{!{l!llilll
(1)

(1) 014670 010701 TST274: SCOPE

(1) 014672 812*00 Q77777 MOV 877777, %0 :LOAD MIGH ORDER W]TH 77777

) 0lwe?e 018701 177777 MOV 8177777 7041  ;LORD LOW ORDER WITW 177777

(1) 014202 071027 0000G2 DIV 82,70 ;vaxossav 82

2 014706 MFPS  38PSWORD :SAVE

2) DIN7DE 106737 LWORD  106700'..C

{“ 014712 082737 000014 000432 BIC 814, 38PSHORD

{

1) 0IN720 122737 000002 000432 CMPB 82, 38PSWORD .15 PS = 2

1) 014726 001403 BEQ +10

(3) 014730 0204767 002154 TSR PC.SHLT -SEEN AN ERROR, GO TC TH HALT ROUTINE
(3) :PS IS WRO'G

g?g 014734 000370 370

L

(1) 014736 021527 000274 CMP \RS), 8274

(1) 014742 001403 BEQ .+10 1F IN unonc szouencs T0 THE WLT
(3) 0I147%4  00N767 002140 JSR PC,SHLT :SEEN AN ERROR T0 TH HRLT ROUTINE
(3) . {TEST 19 TN WADNC_SEGLENCE

o) 014753 ~] 371

.4 014752 OCS2is ING RS,
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MACY1l 27(732)
DIV INSTRUCTION TESTS

SRC

Qlu?sH
0184760
014784

314770

012702
012703
012704

24-AUG-76

000002
000474
000476

L

163466

000000
002062

gesese
002346

0Coo0!
002032

000275
002016

000432

15:29 PAGE 53-8S

MOV
MOV
MOV

—— . e—— —

JO7

82, %2
858 %3
8510, 74

Tl 22T e el et st el t2lalalliltstatdaltilollssasssadssts)

: TEST: 275
(R R R ER AR AR AR AR R AR R R RN R R RN R R R AR RN AR R RS AR AR RERDEIRBRRRRALAES

TST27S:

ScePE
Hov
Dlv
MF PS
. WORD

DIv

| {0

cgésgs , 70+
s9. %0
38PSWORD

106700!..C
80, 48PSKORD

.+10
PC.SHLY

825252, %0
.+1C
PC.SHLTY

8] “0¢!
.+10
PC,SHLT

(RS}, 827S
.+10
PC,SHLT

(RS

0 SeSeS s S9 = 2825¢ REM = | PS = C

L H]GH R WITH
:ngg Léu 08325 WITH S252¢€
:DIVIDE BY S9

:SAVE PS

sISPS =0

EQEE?SQER8§EOR. GO TO TH HALT ROUTIM

1S QUOTIENT = 25262
<SEEN AN ERROR, GO TO TH HALT ROUTINE
*QUOTIENT IS WRONG

- 1S REMAINOER = |

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMARINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
!SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE

SEG OCe7
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CVKRBR. SR DIV INSTRUCTION TESTS
51‘42 (RRERERRER AR RRERRRERERRRR RN SRR RS RERERRER AR RS EE AR AR EE AN
0l :TEST: 276 OIv 0 52625 / 3510 = 26252 REM =z | PS = O
D) R IIIZZIIITITIITIZIZZIZILIZLZZZSLIZILIIISLILILISZ 2RSS 2223222 2 2ddde,
(1)
(1) 015076 010701 TST276: SCOPE
1) C15:100 012700 000000 MGV 80, %0 :LOAD HIGH ORDER WITH (
;13 015104 012701 052525 MOV 852525, %0+ 1 ;6oao OW ORDER WITH 52525
civ 018!i0 071077 183362 DIV 3S10, %0 :DIVIDE BY &S10
2> CIS1IY MFPS  J8PSWORD :SAVE PS
‘fi 018114 106737 JWORD  136700'..C
\
1) 015120 122737 000000 000432 CMPEB 80, 38PSWORD 1S PS = 0
1) 158126 001403 BEG . +1C
.3) 015130 004767 001754 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
.3) X :PS 1S WRONG
Ef§ 015134 000376 376
(1) 813133 709 025252 CMP 825252, %0 .15 QUOTIENT = 25252
13 Bi81y 140 BEQ . +10
.3) 015144 004767 OCI1740 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
'3 : GUCTIENT IS WRONG
ffﬁ 015150 000377 377
{
(1) 015152 Q022701 DO0OO! CMP 81 %0+1 :1S REMAINDER = |
1) 018156 001403 BEQ .+10
\3) 015160 004767 001724 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WRONG REMAINDER
.3) DI5164 000400 400
(1) 0li5166 021527 n00276 CMP .RS), 8276
(1) 015172 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
.3, 0I5174 004767 001710 TSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :TEST IS IN WRONG SEQUENCE
.3, 015200 0CO40! 41
(1, 0iS202 00s2iS INC (RS
[

— — — ——
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1
1
1
1
1
2!
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1
3
3
3
3
1
1
1
3
.3
'3
1
!
(1
3
3
(3
(]
(1
3
(3
3
(1

P e Nl N Y T T

— et o b be P
i
& oe 2

un
mn

015256

015260
015264
015266

Ql527¢e
015274
015300
015302

015306
g18310

24-AUG-76

DIV INSTRUCTION TESTS

010701
012700
012701
071037

106737

122737
001403
004767

000402

022700
001403
004767

000403

022701
001403
ao47&7

00040
021527
001403
004787

000435
00sels

000000
052525
000474

000000
00l&46

025252
0Cib3e

000001

0Clelb

000277
001602

00043¢

15:29 PRGE 53-87

JRREERERRRER AR A AR RERRRRRERERERERRRCRRERERRRERBRERSRERER R DR ER RS

TEST 277

1S7277: SCOPE
MOV
MOV
DIV
MFPS
.WORD

CMPB
BEQ
J5R
40¢
CMP
BEQ
JSR
403
)
BEG
JSR

404

DIV 0 52625 / 9859 = 25252 REM = | PS =
!!*l**!iiiliilliil!ill!!l*!i!!!!ill{iiilllililllillllllllllll!llllll
20, %0 :LOAD HIGH ORDER WITH 0
#52525  70+1 ‘LOAD LOW ORCER WITH 52525
2853, 70 DIVIDE BY 2859
aopsaono 'SAVE P
106700" .
oglaspsuono IS PS = 0
PC,SHLT .SEEN AN ERROR. GO TO TH H&_T ROUTINE
:PS IS WRONG
sgﬁgsa,zo . 1S GUOTIENT = 25252
PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUSTIEN"T IS uhonc
'1130+1 :1S REMAINDER = 1
PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:IRONG REMAINDER
(RG), 8277

cHP
BEQ
JSR

405
INC

.+10 +IF IN WRONG SEQUENCE GO TO THE HLT
PC,SHLT :SEEN AN ERROR, GO 1O TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

0

SE¢ 0089

t




MO?7

OVKABR MACY1l 27(732) 24-AUG-76 15:29 PAGE 53-88 SEQ 0090
DVKABA. SRC DIV INSTRUCTION TESTS

6144 HNH*Ii!llil!l'll*lil!llilil!!ll!l!ilINIIlillll*lllllllﬂl!ﬂlllll!lil
(1) : TEST: 300 DIV 0 52625 / %2 = 26252 REM = | PS = 0
(1) lillil FERREERRREEERRERREERERERE SRR R RREREE R REREERERERRAEEREEEEE S S
(1)
(1) 015312 01070} TST300: SCOPE
(1) 0615314 012700 0000QO MOV 0. %0 :LORD HIGH ORDER WITH O
(1} 015320 012791 0852525 MOV as5sas %041 :LORD LOW ORDER WITH 52525
1) 015324 G71082 DIV DIVIDE BY %2
.2} 0158326 MFPS acbsuono :GAVE P
lfi 015326 106737 .WORD  106700!..C
L
(1) 015332 122737 0CO000 000432 CMPS 0, J#PSWORD 1S PS = 0
1) 01834C 001403 BEG +10
.3) 016342 004767 001542 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS 1S WRONG
if} 015346 000406 406
(1) 015350 022700 025252 CMP 825252, %0 .15 QUOTIENT = 25252
(1) 015354 001403 BEQ .+10
(3) 015356 004767 001526 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:3) :QUOTIENT IS WRONG
E:B 015362 0OQM2? 407
(1) 015364 022701 0OOCO! CMP 81.70+1 : 1S REMAINDER =
(1) 015370 001403 BEQ +10
:3) 015372 004767 001512 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) : WRONG REMAINDER
(3) 015376 0OO410 410
;1) 015400 021527 000300 CMP (RS), #300
(1) 015404 001403 BEGQ +10° :IF IN WRONG SEQUENCE GO TO THE WLT
(3) 015406 004767 001476 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
3) 015412 00041l 411
Eii 015414 005215 INC (RS}
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DIV INSTRUCTION TESTS

DVKABA
6145

e N’ Ve’ el N’ Nt e’ e’ Wl Nl N Nt Nt W e’ N N Nt Nl Nt Nt Ut Nkl Nkt VNt el vt Nl N il . gl il

P N adl e W e e B e e R e Wil e W N R R e R al W e W ol R Y Yl R e N Y o Y e N e
e e 000 G LD b= = L) o) (o) == b b= Ca) Cad Cad b b b L) o) S be b e U L) bt e s e pe ps e

.SRC

015436
015444
015446

015452

015454
G15460
015462

015466

015470
C15474

015476

015502
015504
015810
015812

015516
015:.3

010701
012700
012701
071023

106737

122737
001403
004767

000412

022700
001403
004767

000413

0227C1
001403
004767

000414
021527
001403
0C4767

000415
005215

24-AUG-76

000000
052525

000000
001436

025252
001422

000001

001406

000301
001372

000432

15:29 PAGE 53-89

NO?7

§ B3I I R I I I R R R R R AR R R R R R R %
DIV 0 52525 s (3)+ = 25252 REM = | PS =0

; TEST:30!

SRERHEREREEIRENRIE TSN NI R RN ENRRRRRRRRRER R R R AR RRERERR SRR

TST301:

SCOPE
MOV

JSR

415
INC

80, %0
852525, %0+ 1
(+. 70
J#PSUORD
106700!..C

#0, J#PSWORD

+10
PC,SHLT

#25252, %0
.+10
PC,SHLT

81 70+1
.+10
PC,SHLT

(RS), 430!
.+10
PC,SHLT

(RS)

-LORD HIGH ORDER WITH O
-LORD LOW ORDER WITH 52525
:DIVIDE BY (3)+

SAVE PS

IS PS = O

.SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS 1S WRONG

+ IS QUOTIENT = 25252

-SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

: 1S REMAINDER = 1

:GEEN AN ERROR, GO TO TH HALT ROUTINE
: IRONG REMAINDER

:IF IN WRONG SEGUENCE GO TO THE HLT
!SEEN AN ERRUR, GO TO TH HALT ROUTINE
:TEST IS IN JRONG SEQUENCE

SEG 009!
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:29 PAGE 53-9%0
UCTION §ESé

DVKRBR . SRC CIV INST

blup (RS RN RN SRR RN SRR RN RRRNNERRILSRRR220000300 8
Sy s TEST: 302 DIV 0 52525 / -(3) = 26282 REM = | PS = 0
1) R X221 2RI TR A IRt 2222 2222222222222 222 )
(1)

(1) 015522 (01070l TST302: SCOPE

1) 018824 (12700 002000 MGV LORD MICH ORDER WITH O

(1) 015530 Q12701 0Se52S Rov 8552 ucel .Lono LOW ORDER WITH 52525

1) DIS83 0F10M3 Civ -13), 40 ; xvxossav -(3)

&' £i853% MFPS  JPSWORD :SA

.2 CIE836 106737 .WORD  106700!..C

.13 015542 122737 000000 000432 “MP8 80, 38PSHORD ;IS PS =0

.+ CI15550 0O214C3 _ BEQ . +1C

.3' 018582 004767 001322 JSR PCSHLT :SEEN AN ERROR, GO TO TH MALT ROUTIME
3 :PS IS WRONG

-3) CIS556 00016 416

{1) DISSe0 022700 025252 cP 825252, %0 ;1S QUOTIENT = 25252

1) 01585eM 001403 BEQ .+10

.3} 018566 OCY767 0C1316 JSR  EC,SALT sz N AN ERROR, 30 TO TH MALT ROUTINE
.3) TIENT IS WRONG

31 018572 000ML7 417

1) DISS574 022701 0000C! ) 8l %041 : 1S REMAINDER =

(1) QISECO OCI493 BEQ +19

(3. 015602 OQ47867 001302 ICR PC, S sssn AN ERROR, GO TO TH MALT ROUTINE
'3 HRONG REMAINOER

.3) 015606 000420 420

.+) DISEI0 02! 000302 ¢! (RS), 8302

(1) Q18614 001463 BEQ .+10’ :1F_IN WRONG SEQUENCE GC TO THE WL”
.3, 015616 004767 DC1266 I5R PC,SHLT ;EEN AN ERROR, GO T TH MAL™ ROLTINE
(3 EST IS IN mbnc SEQUENCE

.3, 0isk22 0ODM2! 421

(1. CiBead 0oe2:5 IN ‘RS,

©
2‘
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' DVRRBA MACYLL 27(732) 24-AUG-TH 15:29 PRGE S3-91
~ DVKRBA. SRC DIV INSTRUCTION TESTS

Elﬂ? : SRS RS R4S R R AR AL AR A AR A DR ERAR R RSS20 2200
(1) s TEST: 303 DIV 0 52628 7 2'4) = 26262 REM 2 | PS =
(1) : AR RER G REEER AN RATRRR IR AR ARRRAAR 22N R 222002004
(1)

(1) 015626 010701 TST303: SCOPE

(1} 015630 012700 000090 MOV 80, %0 :LOAD HIGH ORDER uph 0

(1) 015634 012701 062525 MOV 852525, %0+1 ‘b?“f OW ORDER WITH 52525

(1) 018640 071064 000002 DIV 2(%), %0 :DIvVIDE BY 2(4)

(2} 0iSew MFPS  JSPSWORD ;SAVE PS

kgg 0iSkwd 106737 WORD  106700'..C

{

(1) DISBSO 122737 000000 000432 CMPB 80, 38PSWORD 1S PS = 0

(1) 015656 001403 BEQ +1C

.3) 015660 00M767 001224 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :PS 15 WRONG

Efg 015664 000422 422

(1) 015666 022700 025252 cMe 825252, %0 - 15 QUOTIENT = 25252

(1) Q15672 0G4 BEQ .+10

(3) 0I86T4 004767 0Cl210 JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
£3) :GQUOTIENT IS WRONG

(33 015700 000423 423

L

(1) 81 2735 000001 CMP 8] 70+1 .15 REMAINOER = |

1> 015706 I4 BEQ 410

(3) 015710 0ON767 001.74 ISR PC,SHLT -GEEN AN ERROR. GO TG TH HALT ROUTINE
(3) :WRONG REMAINDER

.3) CIS7I4 DOO42M Yo4

(1) 01571 021537 0DOC303 CHP (RS), 8303

1) Q1722 D01403 BEY .+10 -IF IN WRONG SEQUENCE GO TO THE WLT
(3, 015724 004767 001160 ISR PL,SHLT "SEEN AN ERROR, GO TC TH MALT ROLTINE
%) :TEST IS IN JRONG SEQUENCE

.3} 0iS730 00425 425

‘1, C15732 00S2!s INC (RS

W
(4]

&

—r—
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- DVRRBR  MRCYIL 27°(732) 24-RUG-T6 %2:29 PAGE 53-92

DVKRBR. SRC DIV INSTRUCTION ES
61‘48 ' SEEERNERRA RN AR RA AR AR AN AR AR RTINS
(1) :“EST: 304 DIV 0 62526 / 3(4) z 26252 REM = | PS = 0
(1) : SRERRERE R R R R AR F RN RN R AR N R AR AR R R R R R R R AR R DR RE R RLS
(1)
(1 Szgrg gmm T5T304: SCOPE
(1) 0187 12700 500000 MOV 80,70 :LORD HIGH ORDER WITH O
1) 0ISTM2 012701 (082525 n?v 852625, %0+ 1 bo«g N ORDER WITH 52625
Q) 0137wk G71074 009000 oiv ), 7D :DIVIDE BY (W)
;2' 0i8rs2 MFPS  J8PSLORD :SAVE PS
‘f3 015752 106737 JWORD 106700'..C
(1) 018756 122737 000COC  DOO432 CMPE 80, J8PSHORD 15 PS = 0
1) 015764 001403 BEQ .+1C
.3) CI15766 004767 001116 JSR COSHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
3 :PS 1S WRONG
\.;4; 015772 00042 426
L
(1) 015779 022700 025252 CHP 825252, %0 . 1S QUOTIENT = 26262
(1> 018000 O5I% BEQ 413
.3} 01s002 004767 0C1102 JSR PC.SHLT -SEEN AN ERROR, GO TO TH MALT ROUTINE
%) *GUCTIENT 1S WRONG
L
(1) 016010 022701 000001 o 8], %0+] : 1S REMAINOER = |
(1) 0lel14 0CI403 BEQ .+
(3) 01e0le 00N7B7 OC1066 JSR PC.SHLT :GEEN AN ERROR. GO TO TH mALT ROUTINE
' 3) : KRONG REMA INOER
(' 016022 00ON3O 430
(o) 016024 021527 00C30M CHP (RS, 8304 _
(1) 016030 0014 BEQ ,+10 1F IN moncogzunce ?0 TQ THE WL T
(3, 016032 0OC47T6? 001052 JSR PC.SHLT :CEEN AN ERROR, GO TO TH HALT ROUTINE
(3; :TEST IS IN JRONG SEQUENCE
.30 016036 00ON3! 43
.1, CIBQ4D 002:S ING (RS,




OVKABA MRCYI1 27°(732) 24-AUG-7b  15:29 PAGE 53-93 Sty CC9€C
~ DVRABA. SRC DIV INSTRUCTION TESTS

51049 !!!llllllllll!lllilll!l!l"i!!illllll"“ﬂmmmill )
(1) :TEST: 305 DIV 0 52626 / 3(4)+ = 26262 REM = | PS 20 |
(1) CRRRERRRERRERERRRRRER R AR R R A RR AR AR R HEA R RS H MRS EER R R 4 4 29
(1)

(1) 016082 10"01 TST30S: SCOPE

(1) 0160 000000 MCV 80, 70 :LOAD HMIGH ORDER WITH O

1) glesn 81353-4 052525 oV #5525, %0+ 1 B?“f OM ORDER WITH 52525

1) 016054 Dlv d(4)+ %0 BY d(4)+

2} 01605 MFPS  S8PSWIRD

‘f% C:6066 106737 JWORD  106700'..C

(1) 21e062 122737 000000 000432 CHPg 80, 38PSWORD IS PS =0

1) 016079 001803 BEQ +iC

.3) 016072 0O47F7 001012 JSR FCLEHLT :SEEN AN ERROR, GO TO Th HALT ROUTINE

k! :PS 15 WRONG

\,?3 716076 000432 432

l

(1) 016100 022700 026262 CP oasase v : IS QUOTIENT = 28282

(1) 016108 001403 BEQ +:0

(3) 016106 004767 00.78 JSR PC.SHL” -SEEN AN ERROR, GO TO TH HALT ROUTINE

&) : 3UCTIENT 1S WAONG

(?; 016112 0OOM33 433 ,
(1, Ql6l]14 022701 000001 CMP 81 %0+l : IS REMAINDER = | !
12 3'eld BeTams BEa .13 |
.3) 016122 008767 000768 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

<g§ 61 - : KRONG REMANOER

1) gxsx %1:53‘? 000305 P (RS, , 8305

1) 016134 001433 BEQ .+10 .;r IN ogeo%n% ;fo 10 *

(3, 01613 004767 020074 2SR PC,SHLT .?E N AN E

) ¥EST 15 N .nbuc. SEQUE

3. Jibl42 DOOMNIS 425

L. CiE.4= D0SZzE INC 'Rg
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OVKARBA. SRC DIV INSTRUCTION TESTS

5150 9lll!llllllllllll!“lllllﬂmll!lll"lllll“ll“llll!lllllillliil
(1) : TEST: 306 DIV 0 52525 / 3-(4) = 26262 REM = | PS = 0
{ i ; illlll!l!l!illllIlilllll!Hllllllllil“llli!lllll'l{lll!l'lllilﬂlllilil
(

(1) 01614 010701 157306: SCOPE

(1) 0161SC Cl12700 900000 MCV 80, %0 :L.OARD HIGH CRDER WITH O

1) 016154 012701 082525 MOV 858526, %041 toa? O OROER WITH 5525

1) 016160 OFI1O0SH DIv 3-(%) %0 BY a-(4)

2! 01blee MFPS  asPSKORD

kig 01616 106737 .WORD  106700'..C

(1) Clelbb 122737 000000 D00M3Z CMPB 30, J8PSWORD 1S PS = 0

(I D1e17N 001403 BEQ +.C

.3 Cl6l7e DON767 007708 ISR PC.SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS IS WRONG

>f§ 016202 000436 436

\

(1) 0l1620M 022700 025252 CHP 825252, %C .15 QUOTIENT = 26252

(1) 016l 001403 SEG *13

3} Ole2l2 0ON7e? 000672 3R PL.SHLT :SEEN AN ERPOR, 30 TO TH HALT ROLTINE
%) AUOTIENT IS WRONG

ﬁ?% 016216 000M37 437

(1) 016220 Q22701 000001 owP 8], %0¢] . 1S REMAINDER =

fé: 016224 %‘1‘9 SE9 .+13

(3) 016226 767 000656 TSR T mu -SEEN AN ERF R, GO TO TH HALT ROUTINE
‘3 : WRONG REMAINDER

:3) 016232 00040 440

(1) 01p23™ 021527 000308 CWP (RS, , 8306

(1) 0le240 001403 _ BEQ 410 :1F IN WRONG SEQUENCE GO TO THE ML”
(3, 0lp242 00N767 000&4E JSR PC.SHLT :SEEN AN ERROR, GO T0 TH HALT nau INE
(2] 7657 T8 IN RUNC.SEOUENCE

3 Dib246  DO04N! 4,

(1. Cle3s0 Oggz:t INC (RS,

—— e e
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MRCV'1 27(732)
INTERUPT RSORT TEST

010277

022626
021527
001403
004787

COO44M
00cels

24-AUG-T6

QOCl00 !32

162
000id0 162

00036C
000454

000020
000434

162024

000307
CO0%14

00042l

110
:

15:29 PAGE 53-95

GO8

(ERRR SRR SRR RERRAR R RN RERERERARR B AR R RR R SRR BRERERRE SRR RS A0S
TEST THAT EIS ABORTS PROPERLY WHEN INTERUPTED

s TEST: 307

R R R R R AR R R AR R R ARG RA R R RAARRRARR RN AR RAERARERESRIRE

OCO434
162164

18l

RTRSH:
RSHA:

RTR307:

162124 1S:

oN
4S:

000002 EeS§:

00c0a2

gs:

=HSH:

7ST307: BITB
BNE

MOV
MOV

"PPs
WORD

MOV
CLR
MOVB
MOVEB
BIS
RSH
BR
CLRJ
cHP
BEQ
MOV
1ST8
BPL
MOV
MOV
RTI
cHP
BEG
JSR

Y2
BIT
BEGQ
JSR
43
1C

¢
BNE

MoV
CLR
cHP
{MP
BEG
JSR

44y
INC

840, JESENVM

ERSH+2

38TTYOUT R2
sRTR307, [R2)+

:g:o.(né)
106407 . .C
830,d8TEMP]
RY

815, 3$7PB

8100, 3sTPS
8l RS

815 98TP8B
3$TPS

28
815,387PB
2130, 38 TPS

Ry, 8!
6%
PCSHLT

8360,2/SP)
-1
PC.SHLY

0,.2(SP;
TEWP]

— )
el

2 aTTYouT
R2)

SP)+. (SP,+
RS, 8307
.+10
PC,SHLT

R
(
(
(

(RS)

; IF_TYPE QUTS HAS BEEN SUPPRESSED
; THEN SKIP TMIS TEST

;SET INTERUPT VECTOR TC RTR307
;AND THE INTERUPT PSW RS 340

:PREPARE TC EAECUTE TRIS SUB TEST 30 TIMES

:0UT PUT R “CR”

:ENRBLE TTY INTERUPT

(PLACE A 1 IN RY

;SHIFT R4 FOR 16 TIMES

;STAY IN THE LOOP UNTIL INTERUPTED
{CLERR TTY INTERUPT

;1S THE RETURN ADDRESS = ASHA

:IF SO THEN GO TO 4§

:OTHERWISE OUT PUT A “CR™

:LOOP HERE UNTIL DONE COMES ON

;OUT FUT _ANOTHER “CR”
:ENRBLE TTr INTERUPT

;CHECK R4 TO CONTRIN PROPER DARR

. SEEN AN ERROR, GO TO TH HALT ROUTINE
‘R4 WAS CHANGED DURING THE EXECUTION OF

: THE INSTRUCTION
;CHECK THE PSW BEFORE INTERUPT

:SEEN AN ERROR, GO TO TH #RLT ROLTIME
:PSK IS WRONG

:C.ERR THE T-BIT IF IT IS SET

;JF THE SUB TEST HAS BEEN EXECUTED 3C TI™ES
;THEN GO TO THE END OF THE TEST

;RESTORE TTY INTERUPT VECTOR

;RESTORE "HE STRCK POINTER
;CHECK THE TEST NUMBER

T ER R e

SE¢ 0097




DVKABR MACYLI1 27(732)
INTERCPT ABORT TEST

JVKRBR. SRC
6156
n
2!
(1)
(1) 016
(1) Q16
1) D16
1) 016
1) 016
2) 016
.2} 0lb
(1) 016
1) 016
1) 016
1) 0l
1) Ole
(1) 0l
(1) 01
(1) 01
(1) 01
1)y 0l
(1) 01
(1) 0l
(1) 01
1 0l
(1) 01
(1) 0!
(1) 01
(1) 01
(1) 01
(3 0l
(3}
(3)
(1)
(1)
il
t3) 01
(3)
(2 0!
(1 0l
(1) 0!
(31 G}
(3)
3. 0l
(1, 016
(1) 018
(3, 0lb
(3)
(3) 016
(1, Qle
1) 0.8
1. Qle
(1.
1
Sy
(i,

AN

—¢ 0000 OO0

S4e

&

)]

K

A

£ B B TEashREs
=28
SBY

SR

8

NNNN NN
KRB ok

>—
84

8 nnw

NNNE
W
ﬂ

Jeddd

EE”éggﬁ“gébh_hpp
R

3
3

24-RUG-76

000360
000172

000020
000434

16142

000421

000434

161724
16172C

161672

161656
161652

000002

00c002

15:29 PRGE 53-9%

HO8

CRRRERRERRRRRRREERRRRRRRRRPERRR R RRR R RRRES R RPRRRSRA SRR SRR RS04
TEST THAT EIS ABNRTS PROPERLY WHEN INTERUPTED

+TEST: 310

R RN R R R R R R AR AR R RN R AR RN R R RN AR R SRR AR RERERRRERRASRRNIES

TS71310:

RTMUL :
RTR310:

18:
es:

4s:

6S:

8S:

108:

128:

BITB
BNE

MOV
MOV
MOV
MTPS
- WORD
MOV
MOV
MOV
MOV
MOVB
MOVB
MUL
BR
CLRB
cHP
BEG
MOV
1578
BPL
MOV
MOV
RTI

840, JESENVM

EmUL +2

SsTTYOUT, RS
sRTA310, lR2)+

8340, (R2)
8l)

106400..C
830, J8TEMP!

877777 R4
8-]1 RO

21002C1.51
815, 878

8130 S$TPS

RH&RQ
pTAuL
IS TPS

SRTMUL, (SF)

4$
815, 4J$TPB
3§ TPS

28
L M
8100.387PS

RY, 877777
6$
PC,SHLT

RC, 8-1
13

PC,SHLT
R1,$.0000!
10$
PC,SHLT
$360,2(SP)
12§
PC,SHLT

$20,2(SP)
?;TEHPI

Re,e8TTYOUT
(RQ)

. IF_TYPE QUTS HAS BEEN SUPPRESSED
' THEN SKIP THIS TEST

;SET INTERUPT VECTOR TC RTA2IO
;AND THE INTERUPT PSW RS 340

:PREPARE TO EXECUTE THIS SUB TEST 2C TIMES
:PLACE THE MULTIPLIER IN R¥

(ANT THE MULTIPLICAND IN RO

(AND THE LOWER PART OF “HE RESULT IN Rl
:0UT PUT R "CR™

<ENRBLE TTY INTERUPT

:MULTIPLY RQ BY RM

+STAY IN THE LOOP UNTIL INTERUPTED
:CLERR TTY INTERUPT

;1S THE RETURN RDDRESS = RTMUL

:IF SO THEN GO TO 4§

;OTHERWISE OUT PUT A “CR™ _

:LOOP HERE UNTIL DONE COMES ON

;OUT PUT ANOTHER “CR®
{ENRBLE TTY INTERUPT

;CHECK R4 TO CONTRIN PROPER CATA

-SEEN AN ERROR, GO TO TH HALT ROUTINE
:RY WAS CHANGED DURING THE EXECUTION OF

- THE INSTRUCTION
ICHECK RO TO CONTAIN PROPER DATA

:SEEN AN ERROR, GO TO T4 MALT ROUTIMNE
RO CONTRINS WARONG VALUE

;CHECK R1 FOR THE PROPER DARTA

:SEEN AN ERROR, GO TO TH HALT ROUTINE
RI CONTRINS WRONG VALJE

:CHECK THE PSW BEFORE INTERUPT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PSW IS WRONG

;CLERR THE T-BIT IF IT IS SEY

;IF_THE SUB TEST HAS BEEN EXECUTED 30 TIMES
; THEN GO TO THE END OF THE TEST

:RESTORE TTY INTERUPT VECTOR

Sty SC98




108

DVKRBA& MACYIl 27(732) 24-AUG-"E 15:29 PAGE 53-97 G5
OVKABR.SRC  INTERUPT RBORT TES™ ke o0

(1) 016742 022626 EMUL: CMP (SP)+ (SP)+ :RESTORE THE STARCK POINTER

?13 §igm ﬁé&ﬁi 000310 §gg (5%).5310 :CHECK THE TEST NUMBER

\5) 16 767 000132 SR bc.em +GEEN AN ERROR, GO TO TH HALT ROUTINE

&) :TEST IS IN WRONG SEQUENCE

(3) 015;% 00045 | 45|

1) 0.6 005215 INC .RS)



JO8

' DVKABR MACYIl 27(732) 24-RUG-76 15:29 PAGE 53-98 SEQ 0100
DVKABA . SRC INTERUPT RBORT TEST
6158 ' RERRRR B RS TR RRRERER R R R PR R LR R R R4 BN RS E 2R 0053222200945 504
1)
gi; .SBTTL EMND OF PRSS RMTINE
{
(1) ;*$Ncnsngnr THE PASS NUMBER (SPASS)
(1) :#1YPE “END PR3S™
D :#]F THERES R MONITOR GO TO IT
B3 '#]F THERE ISN’T JUMP TO BEGIN
(1) :iiENBT 18 oeaéngo TO MAVE A BELL INDICATE THE “ENC OF PASS™ _OCATION
k%; : 1 §ENDMG CAN HANGED 10 7.
L
1) 016762 SEOP:
1) 016762 010701 5o
1) 0le7ed 005267 161416 INC $PFSS . s INCREMENT THE PRSS NUMBER
(1) 016770 042767 100000 161410 BIC 8100000,8PASS  ::DON'T ALLOW R NEG. N_MBER
(1) 016776 005327 DEC (PC)+ ::L00P?
(1) 017060 0000GC! SEOPCT: .WORD |
(1) 017002 003015 BGT $DOAGN £ YES
(1) 017004 012737 MOV (PC)+,3(PC)+  ::RESTORE COUNTER
".) 017006 0£0GOOD SENDCT: .WORD i
1) 817 1 20 ;eopcv
(1) 01701 0004 017042 YPE |, SENDMG .. TYPE “END PRSS™
gig 017016 $CETH2:
‘1) 017016 013700 000042 MOV iaqa RO . :GET MONITOR RDDRESS
(1) 017022 0014.5 BEQ DORGN : 'BRANCH IF NG MONITOR
(1) 017024 000005 RESET ! ICLEAR THE WORLD
1) 017026 004710 SENDAC: JSR PC. (RO) ::G0 TO MONITOR
(1) 017030 000240 NOP : 1 SAVE ROOM
(1) 017032 000240 NOP : :FOR
(1, 017034 000240 NOP PIACTLI
(1) 017036 $DOAGN:
(1) 017036 000137 000600 P J8BEGIN . s RETURN
(1) 017082 00S015 047105 020104 SENDMG: .ARSCII (15y¢12>/END PASS/
(1) 017050 040520 051523
(1) 017064 377 377 000 SENULL: .BYTE -1,-1,0 . :NULL CHARACTER STRING
siéé 017060 "EVEN
BIEY 017006 000004 ENDCT: M4
s
gl;ﬂ H REAEERRFERREERA SRR PR R R REERERAREERRERREE R RS R RS E RS2 R AR
171
Ef;g .SBTTL POWER FAIL ROUTINE
E179 017060 012737 017070 000324 SPWRON: MOV sSPURUP , 3824
si;s 017066 000000 HALT
2179 017070 012706 000600 SPWRUP: MOV 8BEGIN, SP :RESTORE THE SP
6178 017074 012737 017060 000024 MOV sSPURDN, 3824
€179 0:7102 000004 000Si6 TYPE POWER :GO AND TYPE “POWER™
6180 017106 000753 BR $D0AGN




OVkRBA MARCYLL 27(7

DVKRBR. SRC

§

oo oo ooooorooo o

g{ggb-‘b-o-—t Cha bt h o pe pe Pt Ps P P e
o0 YRR O LEDBIR

6210

RERRRER

oo
noru
— P
O

NN L WU

R
n
C

HAL

17637
632737

Pt bt P e
88

[
~Noe

R20ERR
%

o

P—y

ﬂ
HEENE
2RNE

8._
o

030207

4-QUG-76
ROUTINE

000000
020000
000<10
00000e

0Co002

002004
000038

000060
000130

lel232

00000¢
000S12
161213
161152
000400

000422

0000Ce

00C402
0004ce

161307

0004SC

48

BS:

BS:

108:

1€:29 PAGE 53-99

KO8

PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR

MOV
BIT

BNE
TYPE
MOV
MOVB
MOV
SuB
MOVB
CLR
CLC

J(SP), J8SFATAL
2820000, 38SSWREG

(Y 1

SCRLF
ﬁO -1SP)
#c, STPCNTY

QPJ RO

RO
86 JETYPCNT

-(&F)

RO

(SP)

860, (SP)
PC ¢ TPCHR
’SPJ

JRSMSGTY

J#SSWREG
108

82, (SP)
PC

;PLACE THE ERROR NUMBER AT LOCATION SFATAL
‘HAS THE OPERATOR ASKED TG SUPRESS ERROR TYPE OUTS

gO ?NDDTYPE P CR, LF, FOLLOKED BY 3 SPACES

;ALLOW TYPE OUTS OF PC AND ERROR NUMBER
:BRING THE RETURN PC IN RC

;ALLOW TYPE OUT OF & CIGITS

;BRING THE C BIT FROM RO IN (SP.
:PREPARE TG TYPE IT OU”
tAND GO TO OUT PUT A CHARACTER

;HAS ALL THE SIX CHARKCTERS BEEN TYPED ?
: IF NOT THEN REPERT FROH 4§

RESTQEE ?TRCK POI

; PREP 0 ouT PUT HE ERROR NUMBER

: GO QNO TYPE 3 SPRCES

é P? ERROR NUMBER HRS NOT BEEN
EPORTED HEN REPEAT FROM 2§

:RESTORE RO

:1F WE ARE NOT UNDER APT. THEN GO TO

;88
ngqDHERgISE INFORM APT. ABOUT SEEING THE ERRCR

:1S 1T REQUIRED TO HALT ON ERROR °
IF NOT THEN GO TO 10§

;RDJUST THE RETURN RDORESS
:ANC RETURN

SEQ 0i0!




LO8

DVKRBA MACY1l 27(732) 24-RLG-76 15:29 PARGE S3-100 StEqQ 0:02
DVKRBA.SR” RSCIZ TYPE OUT ROUTINE

6234

6235 2 TYPE OUT ROUTINE

6226 [ memmemmemeceeaes

6237 3

6238 i ® _

ggag ;: THIS ROUTINE IS USED TO TYPE RSCIZ MESSAGES

6241 ’

g242 017274 010046 $TYPE: MOV RC, -(SP) :SAVE RO

6243 017276 017600 0000C2 MOV JEfSP),RO ;:GET THE ADDRESS OF THE ASSCIZ STRING

bedd 017302 112046 cs: MOVB (RO}+,-(SP) :PUSH THE CHARACTER TO BE TYPEL ONTO STACK

€4S 017304 O0CI00S BNE 49 :BRANCH IF IT IS NOT THE TERMINARTOR

€s4s 017306 005726 TST (SP)+

6247 0173:0 012600 MOV (SP)+ RO :OTHERWISE RESTORE THE STARCK AND RO

6248 017312 062716 000002 3%: ADD sa,\sbj +ADJUST THE RETURN PC

gggg 017316 000002 RTI :AND RETURN

6251 017320 004767 000004 4§: JSR PC,STPCHR :G0 7O TYPE R CHARARCTER

6252 017324 005726 187 (S¢)+ :RESTORE THE STACK POINTER

ggga 017326 000765 BR cS :AND RETURN TC 2%

6255 017330 132737 000040 0C0O042l STPCHR: BITB 840, J8SENVM :HAS THE CONSOLE OUTPLTS BEEN SUPPRESSED?

6256 (017336 001006 §N§ 49 ;%F ?0 THEN RETURN FROM THE SUBROUTINE VIR 48

8257 01734C 105777 161142 2s: STB a$TPS + IS THE PRINTER AVRILARE_E”?

£258 017344 100375 2PL cs ; IF NOT THEN LOOP HERE

E2S9 (017346 116677 000002 161130 MOVEB séSPJ,QST°8 :0UT PUT THE CHARACTER

£25C 017354 000207 4§: RTS
ectl 00CCa! .END




OVkRBA MARCYLll 27(732)

OVKRBA. SRC

R
RBASE

p o)
s

017060
0u000Q
000000
000000
000000

= 000000

016460
Q16742

24-AUG-76

15:29 PAGE SY

CROSS REFERENCE TRBLE -- USER SYMBOLS

blbls

4990
4990
4990
4390
4990
4990
4990
4990
4930
4990
4950
4990
4990
4990
4390
4390
4990
4990
4990
4990
4990
4990
4990
4990
4930
4990
4990
4990
4990
4990
4990
4990
4990
4990
4990
4990
4330
4990
4990
4990
4390
4890
6154
4930
4390
4990
4990
4930
4990
5348
4995y
SS90
49708
b154s
tlCes

6166

5352
4396
6534
5343

£355
£353*
S705S%
o4y

6158
SYll#
C734#%
€945

6177
5415
5743
5346

MO8

CH47 %
§777%
g94?7

S4S1
5785
5948

482
S820#
5949

5486
S8e8

SS17%

5521

GSS3#

SEQ 0103

5558




CVKRBA MRCYLl 27(732) 24-RUG-76
CROSS REFERENCE TABLE -- USER SYMBOLS

OVKRBR. SRC

ENODCT (017006
ENT176 00S030

M = BBRIES

n
nn
00
00
[en ] an)
Wwo
ol *
—C)

NEGRT 002022
PC =%000007

POWER 000516

PSWORD 000432
REGOL  OO3444
REGE3  0C36M6
REGS 001346
RE G4 001506
REGHS 004044
RESS 001652

RESTRT 000222
RITSH 004252
RTASH  DIb326
RTA307 01£340
RTIA310 01572
RTMUL 016566
RO =%000000

bl64s
38314
6738
C741s
£94Ss
5363
6088
6105
61288
B145s
49728
43738
53608
60858
610cH
b125Ss
l4es
5427

49748
CoSo*
S659#%
688+
£939*
S960*
6085%
6102%
6125%
bl4cox
b229*
8027
495748
g587

57?9{
G957%
60Bo*
6095#*
bl2ox
6135#
57138
S426

G461

15:29 PAGE S4-1

59378
gb?bc
4108
06798
G74Ss
C46%
SSb4s
6089
6106s
6129
bi4bs
S679s
G343
G961 s
o086#
6103
blebs
61438
8462

SY10%
CoSE#
CHESH
§733%
Co43*
C3E 1+
B6036#
b'03%
blcb#*
bl43%
62S1#
6179

4998

S679+%
774

GQS8*
60B3%
6100%
ble3#
bl3b*
g843

4298
C4b4e
5757
499y
CC34s
§799s
CS71s

5797

S345S#
6158+

4148
56808
C7768
S947s
965
6090#
6107%
61308
Bi47s
SES0s
CI44s
53628
E0a78
61048
61278
bl44s
6497
CY 4+
6S70%
S670%
G737#
Sq4y4a
5362#
b0B7*
b104#*
blo7#
ol44#
b2b0#

SHOY#
Se80*
SB13*
6959x
b0B4*
6101#
ble4s
YCIE

5841

4468
Ce8le
G780s
S48
6078
60918
6108#
bi3ls
b148%
6818
G345y
S3E3n
60884
610Ss
61288
6145
8632

C4o8#
5589#
S673%
C741%»
C945#
S963%
b0BB*
b10S#
bl2B#
61l4SH

c408

CER1#x
5817

5960%
6JES*
bl02*
b125#
blYcs

SBH44

c365*
B6199%

S366*
b200*

NO8

S4Ble
56838
57878
5950
6080
6093
blc0%
BIl33n
61508
S683%
53478
59658
6090
61078
6130%
1478
&0S
SHS0O*
Se07*
S680#*
G776#%
Q47 %
BS*
60S0*
6107%
b130%
bl47%

o444
5683%
Q44 &
Q6o
6087*
6104%
ble7¥
YCLT:

C3k7*
b6204*

S485s
SE844#
G819s
5956
b0B1s
60948%
blcls
bil34s
6154s
56844
S48
60784
b0Sis
6108#
61314
61488
S609s
SYe3*
S619*
S6B1*
§780%
S948%
6078%
6091 #
610f%
bl3i*
6148

S475%
S684#*

945

363%
6088%*
B10SH
blcB*
E145»

S363#
6203#

SS168
6854
58238
S957%
60828
60958
ble2s
6135
61568
56858
S949s
60794
60928
6109
61328
61498

S48l *
Sb2 3%
SeB82#
S784%
Sq49*
6079
6C9*
6109*
6132
614G

o479

685+
C946#+
C64+
6089#
6106»
B129%
Bl4Ex

5398#
B2llx

55208
Se864
S8274
59584
60834
61008
bl23s
b136s

Se868
59508
60808
60938
61208
61338
61508

C48S#
5627 %
SE83%
S787%
S9S0*
6080#*
6093*
£120#*
6133*
61S0*

ES10%
CE86#
c947%
5965+#
609C*
6107%

oo
’——
LW
~O
L

CS76#
b2lb*

S55¢
56874
58308
59594
60844
6101s
bla4s
blyls

S687%
5956
60818
60948
blols
6134
61548

C498+#
SE34+
S684#
S819%
S9SE#
6081 %
6094+
bl2ls
B134*
BiSY+#

5514
Co87%
c948%
6078
6091 *
6108*
6131#
£148%

5577
6220#

§721#%
beYe

55898
57338
SF43s
S961
6086#
61038
blcbs
61438

59588
60838
6£100s
61238
61368

SG20#
CH46%
S686#
6B827#%
5958#*
6083*
6100#*
ble3ds
6136+
6158#

5550

S727%
S9S0*
6080+#
6093+
b120*
bl33x
651S0*

S806#*
YL XE

SEQ C10M

5807
6294
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CVERER MACYIL 277320 24-RUG-TH  15:29 PAGE Ctu-2 SEG CI10S
OVRRBR. SRC CROSS REFERENCE TRBLE -- USER SYMBOLS
[ Va I |
Rl 25000001 §39%+* 5398 Cu34s SS53¢e  GEG? §572¢ 5S4 S59% S8C0s Sges 8831 C4Es SMEe
6381¢ 6J84e HJBBe H03C¢ HCICH+ bl22¢ bl2Se BI29+  Bl32¢  Bl13Se  BlSee
Rg ‘2888883 C433% G434 4p3% 5748 5792 S7b4e  BISH®  BlSEH
R = S4b8e S99 SO4e .
R4 =".20000 6503 650 6540+ §75C# §7%3¢ 76M 797% S807% SBdls  SE4d >850# [S4e 156+
" =000 233 333" G Guib 2030 oo 0o39s Ssqy  core ooeg  gocos  Gsee  goag
- [+
657 Ség%' 5% 5597# 599 3233 bl3 2688 2639 3533 gggg %] -7
5653 5660 Se6b §§71 5679¢ S630+# egle gsegf S683%  SpS4s  SHBSH 864 2&270
Se88 ST 570 rel 7428 S§7v43 7464 74 §783 5788 7584 739 7%
5830 6831% 5832+ 3933 5839 S8S] £857 S861 S66S €873 s8eC 58S £eq;
5399 5309 591 9:5 59¢c2 5329 £937 SH3#  S944s  S94Ss SO46#  S5347s  SMGs
SMGs  53C0# 5956 S9S7# 5368 63CSe  S96C# S%ls  E362¢  S3#  SWNE  S9€Se SC7HS
6079% B0B0* HCBl®  6082%  6083%  b084s  H0BSe H(0Sk# £087#% H0BBs 608°% 6090+ BLS.e
6092¢ 6093 HOMe  BLISe  £100#  6i0l%  6122¢ Bl23*  bICH4#  BI0S*  HID6# 1G7+ Bl Es
6109 H120¢ blcls Hleoe 123  glovs  Bl2S+  bBlobr  Bl27¢  BI2S: Bl 6i3C+ Bl3.e
£132¢ 6133% Hl134%  613S*  6136*  Bl41#  H.42¢ Bl43r  BluMa  BIMSE  Bl4ER  Bl47s  BluSe
. 6i49% 6]50# HlS4# 6H1Shbe
ScO0Pt = 010701 49768 6378 807 6080 6081 6082 6C83 6084 608S 6086 60€8 6289
6091 6092 6093 60 60SS 6130 6:01 6102 6123 Bl 6105 61286
6107 6108 65109 6120 12l Blee £l123 blev 612S bleh 6127 6128 5.29
£130 613! 6132 6133 6l34 6135 6136 61I4] blye blu4g bl 6145 6146
6147 6148 149 6180 6158
SCOPEl= 210701 49778  S392 E41S SYbY c489 54399 5S4 5561 6671 5596 679 5630 S68!
5683 S6E+ 685 S686 Se87 gsee 75?7 799 ?943 Q44 sg:g gp
gaz 5348 534 §950 5356 57 358 59 %0 %! %2 5 536+
SCOoPE3= 010703 49788 5429 5454 G534 6713
=Y 45758 53SS#  SgTS 53] 61S4# HJSb+ H177¢ B£193 6.97¢# 5199 620cs 52TS+  B2CTE+
608 ES%%! 62.c¢  B2lE b2le 6220 62cB#  B242%  BeM3 B244E  B29b 62%7 Bz-5¢
STRRT 200700 £3328 5608 S6l1e
Sx29 = 0C1000 49798
S«10 = 0029200 4900
Skil = 004200 49218
SWiz = 010000 48828
SO 8.8 80V SOl.s
Sl 00C<454 edi2s 5013 677 seel 6383 5956 goss
€12 300476 E0cis 6139 bl4e
Sii 000S0C 5022
Sé 300456 €0138 S&78 5680 8954 5957
€2 000463 SC14s
gy 0.8180, V>, SCiSs
s 0004 C0les 58017 6097 6100 6102
St 000466 S017s 6098 5101
V4 000470 SClgs
S8 nOO472 €019
3 D047 S020s 502! 8533 g§H§ 2138
EMPl 000N3% 459398 6000 69+ 9 4 465 5500 §53S 8573 C609¢ SEIS# SE30* SHITH
S65Se¢ SebBs S706¢  S71S 5758 €801 §84S# 58S3% S867% S37S+ 58524 5887 5833+
ety 23g Bl BAg
TE"P2 300438 19 370¢ S400 Syl 3433 5436 SySB8s  SuEB SN71 6¥q3+ 5503

SS3%6 cc28s 5839 5842 SSeS# 5576 579 Se02¢ Sel0* Sblb® Sk22% SB26+  Sk3le
22324 gb;gf éggg’ SeSes  Scbe® 5707 8716 5759 5802 S846%  S83+x S30le 59)2¢
.ai. .,a L = *

—— — ——— ———— — —
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DVAABR MACYIL 27iT32) 24-AUG-TH_ 15:29 PAGE 54-3 SE3 0176

OVKABR. SR CRISS REFERENCE TRBLE -- USER SYMBOLS

TE3 000440 5003 5004  5371# Y2us  Swy 459s Y ygus 5] 4 s
o F RS B OB I IS I oL B omom
6743¢ 573 86 5803  3a3se $ 9 »  3068s » 5335,
29c2e 2ot Zaige 2933

TEPY  0OC442 J05s 500k B37o¢ 54CB G444 5479 S514 5550 5587  Spl@e  SpI3e  GE4Se  ShSle
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6148 6149 bl
.REPT 4624 4362
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0
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ERRORS DETECTED: O
DEFARULT GLOBALS GENERATED:

G-76 15:29 PAGE S6-3
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RON-TIME: 41 S4 & SECONDS
RUN-TIME RATIO: 330/102=3.2
CORE USED: 31K (bl PAGES)
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CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS

6147

5583
5344
gapN
6031
612
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